

FORM NO. MGT-7

[Pursuant to sub-Section(1) of section 92 of the Companies Act, 2013 and sub-rule (1) of rule 11of the Companies (Management and Administration) Rules, 2014]



सत्यमेव जयते

Annual Return

Form language English Hindi

Refer the instruction kit for filing the form.

I. REGISTRATION AND OTHER DETAILS

(i) * Corporate Identification Number (CIN) of the company

L15200TG1988PLC009111

Pre-fill

Global Location Number (GLN) of the company

* Permanent Account Number (PAN) of the company

(ii) (a) Name of the company

LOTUS CHOCOLATE COMPANY

(b) Registered office address

8-2-596, 1st FL, 1B, SUMEDHA ESTATES, AVENUE-4
IVRCL TOWERS,, STREET NO.1, RD.10, BANJ.HILLS
HYDERABAD
Andhra Pradesh
500034

(c) *e-mail ID of the company

info@lotuschocolate.com

(d) *Telephone number with STD code

04023352608

(e) Website

(iii) Date of Incorporation

03/10/1988

(iv)	Type of the Company	Category of the Company	Sub-category of the Company
	Public Company	Company limited by shares	Indian Non-Government company

(v) Whether company is having share capital

Yes No

(vi) *Whether shares listed on recognized Stock Exchange(s)

Yes No

(a) Details of stock exchanges where shares are listed

S. No.	Stock Exchange Name	Code
	BOMBAY STOCK EXCHANGE	33

(b) CIN of the Registrar and Transfer Agent

L67120TG1989PLC010188

Pre-fill

Name of the Registrar and Transfer Agent

CIL SECURITIES LIMITED

Registered office address of the Registrar and Transfer Agents

214, RAGHAVA RATNA TOWERSCHIRAG ALI LANE
ABIDS

(vii) *Financial year From date 01/04/2019 (DD/MM/YYYY) To date 31/03/2020 (DD/MM/YYYY)

(viii) *Whether Annual general meeting (AGM) held Yes No

(a) if yes, date of AGM 30/11/2020

(b) Due date of AGM 31/12/2020

(c) Whether any extension for AGM granted Yes No

(d) If yes, provide the Service Request Number (SRN) of the application form filed for extension Z99999999

Pre-fill

(e) Extended due date of AGM after grant of extension 31/12/2020

II. PRINCIPAL BUSINESS ACTIVITIES OF THE COMPANY

*Number of business activities 1

S.No	Main Activity group code	Description of Main Activity group	Business Activity Code	Description of Business Activity	% of turnover of the company
1	C	Manufacturing	C1	Food, beverages and tobacco products	100

III. PARTICULARS OF HOLDING, SUBSIDIARY AND ASSOCIATE COMPANIES (INCLUDING JOINT VENTURES)

*No. of Companies for which information is to be given 0

Pre-fill All

S.No	Name of the company	CIN / FCRN	Holding/ Subsidiary/Associate/ Joint Venture	% of shares held
------	---------------------	------------	--	------------------

1				
---	--	--	--	--

IV. SHARE CAPITAL, DEBENTURES AND OTHER SECURITIES OF THE COMPANY

(i) *SHARE CAPITAL

(a) Equity share capital

Particulars	Authorised capital	Issued capital	Subscribed capital	Paid up capital
Total number of equity shares	22,000,000	12,841,049	12,841,049	12,841,049
Total amount of equity shares (in Rupees)	220,000,000	128,410,490	128,410,490	128,410,490

Number of classes

1

Class of Shares	Authorised capital	Issued capital	Subscribed capital	Paid up capital
Equity Shares				
Number of equity shares	22,000,000	12,841,049	12,841,049	12,841,049
Nominal value per share (in rupees)	10	10	10	10
Total amount of equity shares (in rupees)	220,000,000	128,410,490	128,410,490	128,410,490

(b) Preference share capital

Particulars	Authorised capital	Issued capital	Subscribed capital	Paid-up capital
Total number of preference shares	8,000,000	7,396,600	7,396,600	7,396,600
Total amount of preference shares (in rupees)	80,000,000	73,966,000	73,966,000	73,966,000

Number of classes

1

Class of shares	Authorised capital	Issued capital	Subscribed capital	Paid up capital
Preference Shares				
Number of preference shares	8,000,000	7,396,600	7,396,600	7,396,600
Nominal value per share (in rupees)	10	10	10	10
Total amount of preference shares (in rupees)	80,000,000	73,966,000	73,966,000	73,966,000

(c) Unclassified share capital

Particulars	Authorised Capital
Total amount of unclassified shares	0

(d) Break-up of paid-up share capital

Class of shares	Number of shares	Total nominal amount	Total Paid-up amount	Total premium

Equity shares				
At the beginning of the year	12,841,049	128,410,490	128,410,490	
Increase during the year	0	0	0	0
i. Public Issues	0	0	0	0
ii. Rights issue	0	0	0	0
iii. Bonus issue	0	0	0	0
iv. Private Placement/ Preferential allotment	0	0	0	0
v. ESOPs	0	0	0	0
vi. Sweat equity shares allotted	0	0	0	0
vii. Conversion of Preference share	0	0	0	0
viii. Conversion of Debentures	0	0	0	0
ix. GDRs/ADRs	0	0	0	0
x. Others, specify				
Decrease during the year	0	0	0	0
i. Buy-back of shares	0	0	0	0
ii. Shares forfeited	0	0	0	0
iii. Reduction of share capital	0	0	0	0
iv. Others, specify				
At the end of the year	12,841,049	128,410,490	128,410,490	
Preference shares				
At the beginning of the year	7,396,600	73,966,000	73,966,000	
Increase during the year	0	0	0	0
i. Issues of shares	0	0	0	0
ii. Re-issue of forfeited shares	0	0	0	0
iii. Others, specify				

Decrease during the year	0	0	0	0
i. Redemption of shares	0	0	0	0
ii. Shares forfeited	0	0	0	0
iii. Reduction of share capital	0	0	0	0
iv. Others, specify	0	0	0	
	0			
At the end of the year	7,396,600	73,966,000	73,966,000	

(ii) Details of stock split/consolidation during the year (for each class of shares)

0

Class of shares		(i)	(ii)	(iii)
Before split / Consolidation	Number of shares			
	Face value per share			
After split / Consolidation	Number of shares			
	Face value per share			

(iii) Details of shares/Debentures Transfers since closure date of last financial year (or in the case of the first return at any time since the incorporation of the company) *

Nil

[Details being provided in a CD/Digital Media]

Yes No Not Applicable

Separate sheet attached for details of transfers

Yes No

Note: In case list of transfer exceeds 10, option for submission as a separate sheet attachment or submission in a CD/Digital Media may be shown.

Date of the previous annual general meeting		<input type="text"/>	
Date of registration of transfer (Date Month Year)		<input type="text"/>	
Type of transfer	<input type="text"/>	1 - Equity, 2- Preference Shares,3 - Debentures, 4 - Stock	
Number of Shares/ Debentures/ Units Transferred	<input type="text"/>	Amount per Share/ Debenture/Unit (in Rs.)	<input type="text"/>
Ledger Folio of Transferor	<input type="text"/>		

Transferor's Name	<input type="text"/>	<input type="text"/>	<input type="text"/>
	Surname	middle name	first name

Ledger Folio of Transferee	<input type="text"/>
----------------------------	----------------------

Transferee's Name	<input type="text"/>	<input type="text"/>	<input type="text"/>
	Surname	middle name	first name

Date of registration of transfer (Date Month Year)	<input type="text"/>
--	----------------------

Type of transfer	<input type="text"/>	1 - Equity, 2- Preference Shares,3 - Debentures, 4 - Stock
------------------	----------------------	--

Number of Shares/ Debentures/ Units Transferred	<input type="text"/>	Amount per Share/ Debenture/Unit (in Rs.)	<input type="text"/>
--	----------------------	--	----------------------

Ledger Folio of Transferor	<input type="text"/>
----------------------------	----------------------

Transferor's Name	<input type="text"/>	<input type="text"/>	<input type="text"/>
	Surname	middle name	first name

Ledger Folio of Transferee	<input type="text"/>
----------------------------	----------------------

Transferee's Name	<input type="text"/>	<input type="text"/>	<input type="text"/>
	Surname	middle name	first name

(iv) *Indebtedness including debentures (Outstanding as at the end of financial year)

Particulars	Number of units	Nominal value per unit	Total value
Non-convertible debentures	0	0	0
Partly convertible debentures	0	0	0
Fully convertible debentures	0	0	0
Secured Loans (including interest outstanding/accrued but not due for payment) excluding deposits			13,069,522
Unsecured Loans (including interest outstanding/accrued but not due for payment) excluding deposits			129,900,000
Deposit			0
Total			142,969,522

Details of debentures

Class of debentures	Outstanding as at the beginning of the year	Increase during the year	Decrease during the year	Outstanding as at the end of the year
Non-convertible debentures	0	0	0	0
Partly convertible debentures	0	0	0	0
Fully convertible debentures	0	0	0	0

(v) Securities (other than shares and debentures)

0

Type of Securities	Number of Securities	Nominal Value of each Unit	Total Nominal Value	Paid up Value of each Unit	Total Paid up Value
Total					

V. *Turnover and net worth of the company (as defined in the Companies Act, 2013)**(i) Turnover**

698,880,365

(ii) Net worth of the Company

336,103

VI. (a) *SHARE HOLDING PATTERN - Promoters

S. No.	Category	Equity	Preference
--------	----------	--------	------------

		Number of shares	Percentage	Number of shares	Percentage
1.	Individual/Hindu Undivided Family				
	(i) Indian	9,253,020	72.06	7,396,600	100
	(ii) Non-resident Indian (NRI)	0	0	0	0
	(iii) Foreign national (other than NRI)	0	0	0	0
2.	Government				
	(i) Central Government	0	0	0	0
	(ii) State Government	0	0	0	0
	(iii) Government companies	0	0	0	0
3.	Insurance companies	0	0	0	0
4.	Banks	0	0	0	0
5.	Financial institutions	0	0	0	0
6.	Foreign institutional investors	0	0	0	0
7.	Mutual funds	0	0	0	0
8.	Venture capital	0	0	0	0
9.	Body corporate (not mentioned above)	0	0	0	0
10.	Others	0	0	0	0
	Total	9,253,020	72.06	7,396,600	100

Total number of shareholders (promoters)

8

(b) *SHARE HOLDING PATTERN - Public/Other than promoters

S. No.	Category	Equity		Preference	
		Number of shares	Percentage	Number of shares	Percentage
1.	Individual/Hindu Undivided Family				
	(i) Indian	3,399,389	26.47	0	0
	(ii) Non-resident Indian (NRI)	25,463	0.2	0	0
	(iii) Foreign national (other than NRI)	1,500	0.01	0	0

2.	Government				
	(i) Central Government	0	0	0	0
	(ii) State Government	700	0.01	0	0
	(iii) Government companies	0	0	0	0
3.	Insurance companies	0	0	0	0
4.	Banks	1,200	0.01	0	0
5.	Financial institutions	0	0	0	0
6.	Foreign institutional investors	0	0	0	0
7.	Mutual funds	0	0	0	0
8.	Venture capital	0	0	0	0
9.	Body corporate (not mentioned above)	143,098	1.11	0	0
10.	Others Clearing Members & Directo	16,679	0.13	0	0
	Total	3,588,029	27.94	0	0

Total number of shareholders (other than promoters)

10,072

Total number of shareholders (Promoters+Public/
Other than promoters)

10,080

**VII. *NUMBER OF PROMOTERS, MEMBERS, DEBENTURE HOLDERS
(Details, Promoters, Members (other than promoters), Debenture holders)**

Details	At the beginning of the year	At the end of the year
Promoters	8	8
Members (other than promoters)	10,157	10,080
Debenture holders	0	0

VIII. DETAILS OF DIRECTORS AND KEY MANAGERIAL PERSONNEL

(A) *Composition of Board of Directors

Category	Number of directors at the beginning of the year		Number of directors at the end of the year		Percentage of shares held by directors as at the end of year	
	Executive	Non-executive	Executive	Non-executive	Executive	Non-executive

A. Promoter	0	3	0	3	0	59.55
B. Non-Promoter	2	3	2	3	0.01	1.04
(i) Non-Independent	2	0	2	0	0.01	0
(ii) Independent	0	3	0	3	0	1.04
C. Nominee Directors representing	0	0	0	0	0	0
(i) Banks & FIs	0	0	0	0	0	0
(ii) Investing institutions	0	0	0	0	0	0
(iii) Government	0	0	0	0	0	0
(iv) Small share holders	0	0	0	0	0	0
(v) Others	0	0	0	0	0	0
Total	2	6	2	6	0.01	60.59

Number of Directors and Key managerial personnel (who is not director) as on the financial year end date 10

(B) (i) *Details of directors and Key managerial personnel as on the closure of financial year

Name	DIN/PAN	Designation	Number of equity share(s) held	Date of cessation (after closure of financial year, if any)
ANANTH PAI PERAJE	00048339	Director	3,659,272	
PRAKASH PAI PERAJE	00202327	Director	3,659,272	
RAM SUBRAMANYA G	02395478	Whole-time director	500	
JHABAKH ASHWINI PA	02395485	Director	327,139	
VENKATAPATHI RAJU	02435073	Director	120,000	
BHARATHAN RAJAGO	02464132	Director	0	
DILIP MANGESH KALE	02545803	Whole-time director	0	
ADMALA SURYA PRAK	07567290	Director	14,346	
SUBODHAKANTA SAH	██████████	Company Secretary	0	
VIVEKANAND NARAYAN	██████████	CFO	0	

(ii) Particulars of change in director(s) and Key managerial personnel during the year

2

Name	DIN/PAN	Designation at the beginning / during the financial year	Date of appointment/ change in designation/ cessation	Nature of change (Appointment/ Change in designation/ Cessation)
SHIVANI SARADA		Company Secretar	10/08/2019	Cessation
SUBODHAKANTA SAH		Company Secretar	14/10/2019	Appointment

IX. MEETINGS OF MEMBERS/CLASS OF MEMBERS/BOARD/COMMITTEES OF THE BOARD OF DIRECTORS

A. MEMBERS/CLASS /REQUISITIONED/NCLT/COURT CONVENED MEETINGS

Number of meetings held

1

Type of meeting	Date of meeting	Total Number of Members entitled to attend meeting	Attendance	
			Number of members attended	% of total shareholding
Annual General Meeting	30/09/2019	10,046	53	70.53

B. BOARD MEETINGS

Number of meetings held

5

S. No.	Date of meeting	Total Number of directors associated as on the date of meeting	Attendance	
			Number of directors attended	% of attendance
1	01/04/2019	8	8	100
2	29/05/2019	8	8	100
3	14/08/2019	8	8	100
4	14/11/2019	8	8	100
5	12/02/2020	8	8	100

C. COMMITTEE MEETINGS

Number of meetings held

12

S. No.	Type of meeting	Date of meeting	Total Number of Members as on the date of the meeting	Attendance	
				Number of members attended	% of attendance
1	Audit Committee	01/04/2019	4	4	100
2	Audit Committee	29/05/2019	4	4	100
3	Audit Committee	14/08/2019	4	4	100

S. No.	Type of meeting	Date of meeting	Total Number of Members as on the date of the meeting	Attendance	
				Number of members attended	% of attendance
4	Audit Committee	14/11/2019	4	4	100
5	Audit Committee	12/02/2020	4	4	100
6	Nomination an	21/09/2019	4	4	100
7	Nomination an	14/11/2019	4	4	100
8	Stakeholders F	10/05/2019	4	4	100
9	Stakeholders F	10/06/2019	4	4	100
10	Stakeholders F	31/07/2019	4	4	100

D. *ATTENDANCE OF DIRECTORS

S. No.	Name of the director	Board Meetings			Committee Meetings			Whether attended AGM held on
		Number of Meetings which director was entitled to attend	Number of Meetings attended	% of attendance	Number of Meetings which director was entitled to attend	Number of Meetings attended	% of attendance	30/11/2020
								(Y/N/NA)
1	ANANTH PAI	5	5	100	12	12	100	Yes
2	PRAKASH PA	5	5	100	7	7	100	Yes
3	RAM SUBRAM	5	5	100	5	5	100	Yes
4	JHABAKH AS	5	5	100	0	0	0	Yes
5	VENKATAPA	5	5	100	12	12	100	Yes
6	BHARATHAN	5	5	100	7	7	100	Yes
7	DILIP MANGE	5	5	100	0	0	0	No
8	ADMALA SUF	5	5	100	5	5	100	Yes

X. *REMUNERATION OF DIRECTORS AND KEY MANAGERIAL PERSONNEL

Nil

Number of Managing Director, Whole-time Directors and/or Manager whose remuneration details to be entered

2

S. No.	Name	Designation	Gross Salary	Commission	Stock Option/ Sweat equity	Others	Total Amount
1	SUBRAMANYA RA	WHOLETEIME D	745,800	0	0	0	745,800
2	DILIP MANGESH K	WHOLETEIME D	450,000	0	0	0	450,000
	Total		1,195,800	0	0	0	1,195,800

Number of CEO, CFO and Company secretary whose remuneration details to be entered

3

S. No.	Name	Designation	Gross Salary	Commission	Stock Option/ Sweat equity	Others	Total Amount
1	Shivani Sarda	Company Secre	154,674	0	0	0	154,674
2	Subodhakanta Saha	Company Secre	315,502	0	0	0	315,502
3	Vivekanand Naraya	Chief Financial O	420,000	0	0	0	420,000
	Total		890,176	0	0	0	890,176

Number of other directors whose remuneration details to be entered

0

S. No.	Name	Designation	Gross Salary	Commission	Stock Option/ Sweat equity	Others	Total Amount
1							0
	Total						

XI. MATTERS RELATED TO CERTIFICATION OF COMPLIANCES AND DISCLOSURES

A. Whether the company has made compliances and disclosures in respect of applicable provisions of the Companies Act, 2013 during the year Yes No

B. If No, give reasons/observations

XII. PENALTY AND PUNISHMENT - DETAILS THEREOF

(A) DETAILS OF PENALTIES / PUNISHMENT IMPOSED ON COMPANY/DIRECTORS /OFFICERS Nil

Name of the company/ directors/ officers	Name of the court/ concerned Authority	Date of Order	Name of the Act and section under which penalised / punished	Details of penalty/ punishment	Details of appeal (if any) including present status

(B) DETAILS OF COMPOUNDING OF OFFENCES Nil

Name of the company/ directors/ officers	Name of the court/ concerned Authority	Date of Order	Name of the Act and section under which offence committed	Particulars of offence	Amount of compounding (in Rupees)

XIII. Whether complete list of shareholders, debenture holders has been enclosed as an attachment

Yes No

XIV. COMPLIANCE OF SUB-SECTION (2) OF SECTION 92, IN CASE OF LISTED COMPANIES

In case of a listed company or a company having paid up share capital of Ten Crore rupees or more or turnover of Fifty Crore rupees or more, details of company secretary in whole time practice certifying the annual return in Form MGT-8.

Name

RAKHI AGARWAL

Whether associate or fellow

Associate Fellow

Certificate of practice number

6270

I/We certify that:

- (a) The return states the facts, as they stood on the date of the closure of the financial year aforesaid correctly and adequately.
 (b) Unless otherwise expressly stated to the contrary elsewhere in this Return, the Company has complied with all the provisions of the Act during the financial year.

Declaration

I am Authorised by the Board of Directors of the company vide resolution no. ... dated

(DD/MM/YYYY) to sign this form and declare that all the requirements of the Companies Act, 2013 and the rules made thereunder in respect of the subject matter of this form and matters incidental thereto have been complied with. I further declare that:

1. Whatever is stated in this form and in the attachments thereto is true, correct and complete and no information material to the subject matter of this form has been suppressed or concealed and is as per the original records maintained by the company
2. All the required attachments have been completely and legibly attached to this form.

Note: Attention is also drawn to the provisions of Section 447, section 448 and 449 of the Companies Act, 2013 which provide for punishment for fraud, punishment for false statement and punishment for false evidence respectively.

To be digitally signed by

Director

Gimpath Digitally signed by
Subramania Ram
DN: cn=Subramania Ram, o=, ou=, email=, c=IN

DIN of the director

02395478

To be digitally signed by

Digitally signed by
RAKHI AGARWAL
DN: cn=RAKHI AGARWAL, o=, ou=, email=, c=IN

Company Secretary

Company secretary in practice

Membership number

Certificate of practice number

Attachments

1. List of share holders, debenture holders
2. Approval letter for extension of AGM;
3. Copy of MGT-8;
4. Optional Attachment(s), if any

List of attachments

-
-
-
-

EXT OF AGM NOTIFICATION .pdf
Form MGT-8.pdf
LCC- List of Preference Shareholders- 20
RTA_TLIST.pdf
List of shareholders as on 31-03-2020.pdf
Addendum to Form- Point No IX.pdf

This eForm has been taken on file maintained by the Registrar of Companies through electronic mode and on the basis of statement of correctness given by the company



GOVERNMENT OF INDIA
MINISTRY OF CORPORATE AFFAIRS
OFFICE OF THE REGISTRAR OF COMPANIES,
FOR THE STATE OF TELANGANA, HYDERABAD
2ND FLOOR, CORPORATE BHAWAN, THATTIANNARAM, G.S.I.POST, BANDLAGUDA,
NAGOLE, HYDERABAD-500 068
040-29803827, 040-29804327, 040-29805427, 040-29803727

ROCH/STA/2020-2021/

Date: 08-09-2020

IN THE MATTER OF EXTENSION OF TIME FOR HOLDING OF ANNUAL
GENERAL MEETING (AGM) UNDER SECTION 96(1) OF THE COMPANIES ACT,
2013 FOR THE FINANCIAL YEAR ENDED ON 31.03.2020

ORDER

1. Whereas sub-section (1) of section 96 of the Companies Act, 2013 (the Act) provides inter alia that every company, other than a One Person Company, shall in each year hold in addition to any other meetings, a general meeting as its annual general meeting (AGM) and shall specify the meeting as such in the notices calling and not more than fifteen months shall elapse between the date of one AGM of a company and that of the next; and
2. Whereas the first proviso to sub-section (1) of section 96 of the Act provides that in case of the first AGM, it shall be held within a period of nine months from the date of closing of the first financial year of the company and in any other case, within a period of six months from the date of closing of the financial year; and
3. Whereas the third proviso to Section 96(1) of the Act provides that the Registrar may, for any special reason, extend the time within which any annual general meeting other than the first annual general meeting, shall be held by a period not exceeding three months; and
4. Whereas, various representations have been received from the companies, Industry bodies and Professional Institutes pointing out that several companies are finding it difficult to hold their AGM for the financial year ended on 31.03.2020 due to the difficulties faced in view of the Covid-19 Pandemic:

Contd...2

::2::

5. Whereas, the representations have been considered and the undersigned is of the considered opinion that due to such unprecedented special reasons, the time within which the AGM for the financial year ended on 31.03.2020 is required to be held as per provisions of sub-section (1) of Section 96 ought to be extended in terms of the third proviso to section 96(1) of the Act:

6. Now, therefore, in terms of power vested with the undersigned under the third proviso to sub-section (1) of section 96 of the Act, I hereby extend the time to hold the AGM, other than the first AGM for the financial year ended on 31.03.2020 for companies within the jurisdiction of this office, which are unable to hold their AGM for such period within the due date of holding the AGM by a period of three months from the due date by which the AGM ought to have been held in accordance with the provisions of sub-section (1) to section 96 of the Act, without requiring the companies to file applications for seeking such extension by filing the prescribed Form No. GNL-1.

Explanation: It is hereby clarified that the extension granted under this Order shall also cover the:-

- i. pending applications filed in Form No. GNL-1 for the extension of AGM for the financial year ended on 31.03.2020, which are yet to be approved;
- ii. applications filed in Form No. GNL-1 for the extension of AGM for the financial year ended on 31.03.2020, which were rejected,

where the approval for extension of AGM up to 3 months from the due date of the AGM shall be deemed to have been granted by the undersigned without any further action on the part of the company.



**JOSEKUTTY V.E.
REGISTRAR OF COMPANIES FOR THE STATE OF TELANGANA,
HYDERABAD**

Place: Hyderabad

Date: 08.09.2020

Copy for information and wide publicity to:-

- 1) The Institute of Chartered Accountants of India, Hyderabad Chapter, Hyderabad.
- 2) The Institute of Company Secretaries of India, Hyderabad Chapter, Hyderabad.
- 3) The Institute of Cost Accountants of India, Hyderabad Chapter, Hyderabad.
- 4) Federation Telangana Chambers of Commerce & Industries, Hyderabad.
- 5) Notice Board
- 6) Press Information Bureau (PIB), Hyderabad.



RAKHI AGARWAL
Company Secretary in Practice

6-3-660, Flat 520, Block 4,
Amrit Apartments, Kapadia Lane,
Somajiguda, Hyderabad- 500082
Email: rakhiagarwal79@yahoo.com
Cell: +91 9246530679

FORM NO. MGT-8

*[Pursuant to section 92(2) of the Companies Act, 2013 and rule 11(2) of
Companies (Management and Administration) Rules, 2014]*

CERTIFICATE BY A COMPANY SECRETARY IN PRACTICE

I have examined the registers, records and books and papers of **M/s. Lotus Chocolate Company Limited** (the Company) as required to be maintained under the Companies Act, 2013 (the Act) and the rules made thereunder for the financial year ended on 31st March, 2020. In my opinion and to the best of my information and according to the examinations carried out by me and explanations furnished to me by the company, its officers and agents, I certify that:

- A. the Annual Return states the facts as at the close of the aforesaid financial year correctly and adequately.
- B. during the aforesaid financial year the Company has complied with provisions of the Act & Rules made there under in respect of;
1. its status under the Act;
 2. maintenance of registers/records & making entries therein within the time prescribed there for;
 3. filing of forms and returns as stated in the annual return, with the Registrar of Companies, Regional Director, Central Government, the Tribunal, Court or other authorities within/beyond the prescribed time;
 4. Calling/ convening/ holding meetings of Board of Directors or its committees, if any, and the meetings of the members of the company on due dates as stated in the annual return in respect of which meetings, proper notices were given and the proceedings including the circular resolutions and resolutions passed by postal ballot, if any, have been properly recorded in the Minute Book/registers maintained for the purpose and the same have been signed;
 5. closure of Register of Members / Security holders, as the case may be;
 6. advances/loans to its directors and/or persons or firms or companies referred in section 185 of the Act;
 7. contracts/arrangements with related parties as specified in section 188 of the Act;

ADDENDUM TO POINT NUMBER- IX (C) OF THIS FORM:-

C. COMMITTEE MEETINGS

Number of meetings held:-

12*

S.No	Type of meeting	Date of Meeting	Total Number of Members as on the date of the meeting	Attendance	
				Number of members attended	% of attendance
11	Stakeholders Relationship Committee	11.11.2019	4	4	100
12		10.12.2019	4	4	100

** Serial no. of Committee Meeting From 1 to 10 is mentioned in Form.*



WALL SECURITIES LIMITED
214, RAGHAVA RATNA TOWERS, CHHTRAG ALI LINE, ABIDS, HYDRABAD, 500 002, IN; L67120 F671989 PL4 010188
**For No. : Phone No. : 91-40-23203155/6901111/6901112; Fax No. :
 Email: info@wallsec.com | T: 01-800-111-1111 | Http://www.wallsec.com**

List of Shareholders as on: 31-03-2020

List of Shareholders (Promoters) of ALL 4 Segments As On 31-03-2020 From NSDL, CDSL, PHYSICAL

Company Registration No: 762202/2018

Sl. No.	Name	Shareholding	Share Type	ISIN	Face Value	Quantity	Market Value
47 (1000000000)	KRISHNA KRISHNA P	1000000000	Equity	IN000001001	1000000000	1000000000	1000000000
48 (10000000000000)	SHIVANI PRADIP	10000000000000	Equity	IN000001001	10000000000000	10000000000000	10000000000000
49 (10000000000000)	R. P. LAKSHMINARAYANAN	10000000000000	Equity	IN000001001	10000000000000	10000000000000	10000000000000
50 (10000000000000)	NIRMALA RAJESHBHAI KAM	10000000000000	Equity	IN000001001	10000000000000	10000000000000	10000000000000
51 (10000000000000)	D. S. SHANKAR SRI SHETI	10000000000000	Equity	IN000001001	10000000000000	10000000000000	10000000000000
52 (10000000000000)	VIJAYA ANAND	10000000000000	Equity	IN000001001	10000000000000	10000000000000	10000000000000
53 (10000000000000)	VIJAYA ANAND	10000000000000	Equity	IN000001001	10000000000000	10000000000000	10000000000000
54 (10000000000000)	MAHENDRA KISHAN DAS	10000000000000	Equity	IN000001001	10000000000000	10000000000000	10000000000000
55 (10000000000000)	SHRI KISHAN S. SRI	10000000000000	Equity	IN000001001	10000000000000	10000000000000	10000000000000
56 (10000000000000)	MADHAV K. S. SRI	10000000000000	Equity	IN000001001	10000000000000	10000000000000	10000000000000
57 (10000000000000)	MAHESH K. S. SRI	10000000000000	Equity	IN000001001	10000000000000	10000000000000	10000000000000
58 (10000000000000)	CHANDRA MOHAN KISHAN	10000000000000	Equity	IN000001001	10000000000000	10000000000000	10000000000000
59 (10000000000000)	MAHENDRA KISHAN DAS	10000000000000	Equity	IN000001001	10000000000000	10000000000000	10000000000000
60 (10000000000000)	MAHESH K. S. SRI	10000000000000	Equity	IN000001001	10000000000000	10000000000000	10000000000000
61 (10000000000000)	MAHESH K. S. SRI	10000000000000	Equity	IN000001001	10000000000000	10000000000000	10000000000000
62 (10000000000000)	MAHESH K. S. SRI	10000000000000	Equity	IN000001001	10000000000000	10000000000000	10000000000000
63 (10000000000000)	MAHESH K. S. SRI	10000000000000	Equity	IN000001001	10000000000000	10000000000000	10000000000000
64 (10000000000000)	MAHESH K. S. SRI	10000000000000	Equity	IN000001001	10000000000000	10000000000000	10000000000000
65 (10000000000000)	MAHESH K. S. SRI	10000000000000	Equity	IN000001001	10000000000000	10000000000000	10000000000000
66 (10000000000000)	MAHESH K. S. SRI	10000000000000	Equity	IN000001001	10000000000000	10000000000000	10000000000000
67 (10000000000000)	MAHESH K. S. SRI	10000000000000	Equity	IN000001001	10000000000000	10000000000000	10000000000000
68 (10000000000000)	MAHESH K. S. SRI	10000000000000	Equity	IN000001001	10000000000000	10000000000000	10000000000000
69 (10000000000000)	MAHESH K. S. SRI	10000000000000	Equity	IN000001001	10000000000000	10000000000000	10000000000000
70 (10000000000000)	MAHESH K. S. SRI	10000000000000	Equity	IN000001001	10000000000000	10000000000000	10000000000000
71 (10000000000000)	MAHESH K. S. SRI	10000000000000	Equity	IN000001001	10000000000000	10000000000000	10000000000000
72 (10000000000000)	MAHESH K. S. SRI	10000000000000	Equity	IN000001001	10000000000000	10000000000000	10000000000000
73 (10000000000000)	MAHESH K. S. SRI	10000000000000	Equity	IN000001001	10000000000000	10000000000000	10000000000000
74 (10000000000000)	MAHESH K. S. SRI	10000000000000	Equity	IN000001001	10000000000000	10000000000000	10000000000000
75 (10000000000000)	MAHESH K. S. SRI	10000000000000	Equity	IN000001001	10000000000000	10000000000000	10000000000000
76 (10000000000000)	MAHESH K. S. SRI	10000000000000	Equity	IN000001001	10000000000000	10000000000000	10000000000000
77 (10000000000000)	MAHESH K. S. SRI	10000000000000	Equity	IN000001001	10000000000000	10000000000000	10000000000000
78 (10000000000000)	MAHESH K. S. SRI	10000000000000	Equity	IN000001001	10000000000000	10000000000000	10000000000000
79 (10000000000000)	MAHESH K. S. SRI	10000000000000	Equity	IN000001001	10000000000000	10000000000000	10000000000000
80 (10000000000000)	MAHESH K. S. SRI	10000000000000	Equity	IN000001001	10000000000000	10000000000000	10000000000000
81 (10000000000000)	MAHESH K. S. SRI	10000000000000	Equity	IN000001001	10000000000000	10000000000000	10000000000000
82 (10000000000000)	MAHESH K. S. SRI	10000000000000	Equity	IN000001001	10000000000000	10000000000000	10000000000000
83 (10000000000000)	MAHESH K. S. SRI	10000000000000	Equity	IN000001001	10000000000000	10000000000000	10000000000000
84 (10000000000000)	MAHESH K. S. SRI	10000000000000	Equity	IN000001001	10000000000000	10000000000000	10000000000000
85 (10000000000000)	MAHESH K. S. SRI	10000000000000	Equity	IN000001001	10000000000000	10000000000000	10000000000000
86 (10000000000000)	MAHESH K. S. SRI	10000000000000	Equity	IN000001001	10000000000000	10000000000000	10000000000000
87 (10000000000000)	MAHESH K. S. SRI	10000000000000	Equity	IN000001001	10000000000000	10000000000000	10000000000000
88 (10000000000000)	MAHESH K. S. SRI	10000000000000	Equity	IN000001001	10000000000000	10000000000000	10000000000000
89 (10000000000000)	MAHESH K. S. SRI	10000000000000	Equity	IN000001001	10000000000000	10000000000000	10000000000000
90 (10000000000000)	MAHESH K. S. SRI	10000000000000	Equity	IN000001001	10000000000000	10000000000000	10000000000000
91 (10000000000000)	MAHESH K. S. SRI	10000000000000	Equity	IN000001001	10000000000000	10000000000000	10000000000000
92 (10000000000000)	MAHESH K. S. SRI	10000000000000	Equity	IN000001001	10000000000000	10000000000000	10000000000000
93 (10000000000000)	MAHESH K. S. SRI	10000000000000	Equity	IN000001001	10000000000000	10000000000000	10000000000000
94 (10000000000000)	MAHESH K. S. SRI	10000000000000	Equity	IN000001001	10000000000000	10000000000000	10000000000000
95 (10000000000000)	MAHESH K. S. SRI	10000000000000	Equity	IN000001001	10000000000000	10000000000000	10000000000000
96 (10000000000000)	MAHESH K. S. SRI	10000000000000	Equity	IN000001001	10000000000000	10000000000000	10000000000000
97 (10000000000000)	MAHESH K. S. SRI	10000000000000	Equity	IN000001001	10000000000000	10000000000000	10000000000000
98 (10000000000000)	MAHESH K. S. SRI	10000000000000	Equity	IN000001001	10000000000000	10000000000000	10000000000000
99 (10000000000000)	MAHESH K. S. SRI	10000000000000	Equity	IN000001001	10000000000000	10000000000000	10000000000000
100 (10000000000000)	MAHESH K. S. SRI	10000000000000	Equity	IN000001001	10000000000000	10000000000000	10000000000000



TIL SECURITIES LIMITED
 214, RAGHAVA RATNA TOWERS, CHHTRAG ALI LINE, ABIDS, HYDERABAD, 500 006, IN; L67120 F671989 PLU 010188
 Fax No. : 011-2611286, 1391-40-2320, 3155/6901111/6901112; Tel No. :
 Email: info@tilsecurities.com / <http://www.tilsecurities.com>

List of Shareholders as on: 31-05-2020

List of Shareholders (Group) of A.L.E. 4 category AVHQ 31-05-2020 From: NSDL, CDSL, PHYSICAL

Company Name: TIL SECURITIES LIMITED

Sl. No.	Demat Account No.	Name	Shareholder Name	Quantity	Type	ISIN	AVHQ	Amount
11	1900001100000001	NARISHI PATEL S	SHAHI HAYATI PATEL S	127000	Equity	A028699247	1000	10000
12	1900001100000002	DEEPIKASHA S	DEEPIKASHA S	100000	Equity	0000000000	1000	10000
13	1900001100000003	K SATHANARAYANAN	K SATHANARAYANAN	100000	Equity	0000000000	1000	10000
14	1900001100000004	CHALLIYI SOMNATH APARAJITH	SOMNATH PUTHU DNSULLA	400000	Equity	0000000000	1000	10000
15	1900001100000005	YOGESHCHANDRAN K SHARADH	SHARADH K	100000	Equity	0000000000	1000	10000
16	1900001100000006	ANANDH K ANANDH	ANANDH K	100000	Equity	0000000000	1000	10000
17	1900001100000007	ANANDH K ANANDH	ANANDH K	100000	Equity	0000000000	1000	10000
18	1900001100000008	ANANDH K ANANDH	ANANDH K	100000	Equity	0000000000	1000	10000
19	1900001100000009	ANANDH K ANANDH	ANANDH K	100000	Equity	0000000000	1000	10000
20	1900001100000010	ANANDH K ANANDH	ANANDH K	100000	Equity	0000000000	1000	10000
21	1900001100000011	ANANDH K ANANDH	ANANDH K	100000	Equity	0000000000	1000	10000
22	1900001100000012	ANANDH K ANANDH	ANANDH K	100000	Equity	0000000000	1000	10000
23	1900001100000013	ANANDH K ANANDH	ANANDH K	100000	Equity	0000000000	1000	10000
24	1900001100000014	ANANDH K ANANDH	ANANDH K	100000	Equity	0000000000	1000	10000
25	1900001100000015	ANANDH K ANANDH	ANANDH K	100000	Equity	0000000000	1000	10000
26	1900001100000016	ANANDH K ANANDH	ANANDH K	100000	Equity	0000000000	1000	10000
27	1900001100000017	ANANDH K ANANDH	ANANDH K	100000	Equity	0000000000	1000	10000
28	1900001100000018	ANANDH K ANANDH	ANANDH K	100000	Equity	0000000000	1000	10000
29	1900001100000019	ANANDH K ANANDH	ANANDH K	100000	Equity	0000000000	1000	10000
30	1900001100000020	ANANDH K ANANDH	ANANDH K	100000	Equity	0000000000	1000	10000
31	1900001100000021	ANANDH K ANANDH	ANANDH K	100000	Equity	0000000000	1000	10000
32	1900001100000022	ANANDH K ANANDH	ANANDH K	100000	Equity	0000000000	1000	10000
33	1900001100000023	ANANDH K ANANDH	ANANDH K	100000	Equity	0000000000	1000	10000
34	1900001100000024	ANANDH K ANANDH	ANANDH K	100000	Equity	0000000000	1000	10000
35	1900001100000025	ANANDH K ANANDH	ANANDH K	100000	Equity	0000000000	1000	10000
36	1900001100000026	ANANDH K ANANDH	ANANDH K	100000	Equity	0000000000	1000	10000
37	1900001100000027	ANANDH K ANANDH	ANANDH K	100000	Equity	0000000000	1000	10000
38	1900001100000028	ANANDH K ANANDH	ANANDH K	100000	Equity	0000000000	1000	10000
39	1900001100000029	ANANDH K ANANDH	ANANDH K	100000	Equity	0000000000	1000	10000
40	1900001100000030	ANANDH K ANANDH	ANANDH K	100000	Equity	0000000000	1000	10000
41	1900001100000031	ANANDH K ANANDH	ANANDH K	100000	Equity	0000000000	1000	10000
42	1900001100000032	ANANDH K ANANDH	ANANDH K	100000	Equity	0000000000	1000	10000
43	1900001100000033	ANANDH K ANANDH	ANANDH K	100000	Equity	0000000000	1000	10000
44	1900001100000034	ANANDH K ANANDH	ANANDH K	100000	Equity	0000000000	1000	10000
45	1900001100000035	ANANDH K ANANDH	ANANDH K	100000	Equity	0000000000	1000	10000
46	1900001100000036	ANANDH K ANANDH	ANANDH K	100000	Equity	0000000000	1000	10000
47	1900001100000037	ANANDH K ANANDH	ANANDH K	100000	Equity	0000000000	1000	10000
48	1900001100000038	ANANDH K ANANDH	ANANDH K	100000	Equity	0000000000	1000	10000
49	1900001100000039	ANANDH K ANANDH	ANANDH K	100000	Equity	0000000000	1000	10000
50	1900001100000040	ANANDH K ANANDH	ANANDH K	100000	Equity	0000000000	1000	10000
51	1900001100000041	ANANDH K ANANDH	ANANDH K	100000	Equity	0000000000	1000	10000
52	1900001100000042	ANANDH K ANANDH	ANANDH K	100000	Equity	0000000000	1000	10000
53	1900001100000043	ANANDH K ANANDH	ANANDH K	100000	Equity	0000000000	1000	10000
54	1900001100000044	ANANDH K ANANDH	ANANDH K	100000	Equity	0000000000	1000	10000
55	1900001100000045	ANANDH K ANANDH	ANANDH K	100000	Equity	0000000000	1000	10000
56	1900001100000046	ANANDH K ANANDH	ANANDH K	100000	Equity	0000000000	1000	10000
57	1900001100000047	ANANDH K ANANDH	ANANDH K	100000	Equity	0000000000	1000	10000
58	1900001100000048	ANANDH K ANANDH	ANANDH K	100000	Equity	0000000000	1000	10000
59	1900001100000049	ANANDH K ANANDH	ANANDH K	100000	Equity	0000000000	1000	10000
60	1900001100000050	ANANDH K ANANDH	ANANDH K	100000	Equity	0000000000	1000	10000
61	1900001100000051	ANANDH K ANANDH	ANANDH K	100000	Equity	0000000000	1000	10000
62	1900001100000052	ANANDH K ANANDH	ANANDH K	100000	Equity	0000000000	1000	10000
63	1900001100000053	ANANDH K ANANDH	ANANDH K	100000	Equity	0000000000	1000	10000
64	1900001100000054	ANANDH K ANANDH	ANANDH K	100000	Equity	0000000000	1000	10000
65	1900001100000055	ANANDH K ANANDH	ANANDH K	100000	Equity	0000000000	1000	10000
66	1900001100000056	ANANDH K ANANDH	ANANDH K	100000	Equity	0000000000	1000	10000
67	1900001100000057	ANANDH K ANANDH	ANANDH K	100000	Equity	0000000000	1000	10000
68	1900001100000058	ANANDH K ANANDH	ANANDH K	100000	Equity	0000000000	1000	10000
69	1900001100000059	ANANDH K ANANDH	ANANDH K	100000	Equity	0000000000	1000	10000
70	1900001100000060	ANANDH K ANANDH	ANANDH K	100000	Equity	0000000000	1000	10000
71	1900001100000061	ANANDH K ANANDH	ANANDH K	100000	Equity	0000000000	1000	10000
72	1900001100000062	ANANDH K ANANDH	ANANDH K	100000	Equity	0000000000	1000	10000
73	1900001100000063	ANANDH K ANANDH	ANANDH K	100000	Equity	0000000000	1000	10000
74	1900001100000064	ANANDH K ANANDH	ANANDH K	100000	Equity	0000000000	1000	10000
75	1900001100000065	ANANDH K ANANDH	ANANDH K	100000	Equity	0000000000	1000	10000
76	1900001100000066	ANANDH K ANANDH	ANANDH K	100000	Equity	0000000000	1000	10000
77	1900001100000067	ANANDH K ANANDH	ANANDH K	100000	Equity	0000000000	1000	10000
78	1900001100000068	ANANDH K ANANDH	ANANDH K	100000	Equity	0000000000	1000	10000
79	1900001100000069	ANANDH K ANANDH	ANANDH K	100000	Equity	0000000000	1000	10000
80	1900001100000070	ANANDH K ANANDH	ANANDH K	100000	Equity	0000000000	1000	10000
81	1900001100000071	ANANDH K ANANDH	ANANDH K	100000	Equity	0000000000	1000	10000
82	1900001100000072	ANANDH K ANANDH	ANANDH K	100000	Equity	0000000000	1000	10000
83	1900001100000073	ANANDH K ANANDH	ANANDH K	100000	Equity	0000000000	1000	10000
84	1900001100000074	ANANDH K ANANDH	ANANDH K	100000	Equity	0000000000	1000	10000
85	1900001100000075	ANANDH K ANANDH	ANANDH K	100000	Equity	0000000000	1000	10000
86	1900001100000076	ANANDH K ANANDH	ANANDH K	100000	Equity	0000000000	1000	10000
87	1900001100000077	ANANDH K ANANDH	ANANDH K	100000	Equity	0000000000	1000	10000
88	1900001100000078	ANANDH K ANANDH	ANANDH K	100000	Equity	0000000000	1000	10000
89	1900001100000079	ANANDH K ANANDH	ANANDH K	100000	Equity	0000000000	1000	10000
90	1900001100000080	ANANDH K ANANDH	ANANDH K	100000	Equity	0000000000	1000	10000



TIL SECURITIES LIMITED
214, RAGHAVA RATNA TOWERS, CHHTRAG ALI LINE, ABIDS, HYDERABAD, 500 004, IN; LG7120 FGT 989PLA 010188
**For No. : Phone No. : 91-40-23203155/6901111/6901112; Fax No. :
 Email: info@tilsecurities.com / <http://www.tilsecurities.com>**

List of Shareholders as on: 31-03-2020

List of Shareholders (Group) of ALL: 4 Integrals AVHQ 31-03-2020 From: NSDL, CDSL, PHYSICAL

Company Name: TIL SECURITIES LIMITED

Sl. No.	Holder Name	Share No.	Quantity	Type	Face Value	Amount
1	MOHANLAL MOHLECHAND	NSDL	500000	Equity	100	50000
2	MURTHY RAO P D S N	CDSL	500000	Equity	100	50000
3	SHABBE LOKESH DWAI	PHYSICAL	500000	Equity	100	50000
4	EAMLESH JAIN	NSDL	400000	Equity	100	40000
5	RUBEN RAJESH	CDSL	300000	Equity	100	30000
6	CHOWDHURY SUDHAKAR	PHYSICAL	200000	Equity	100	20000
7	SHARAD CHANDRAN	NSDL	100000	Equity	100	10000
8	RAM RAO P	CDSL	100000	Equity	100	10000
9	ARUN DANI	PHYSICAL	100000	Equity	100	10000
10	CHANDRAN	NSDL	100000	Equity	100	10000
11	SHYAM SUDHAKAR	CDSL	100000	Equity	100	10000
12	CHANDRAN	PHYSICAL	100000	Equity	100	10000
13	CHANDRAN	NSDL	100000	Equity	100	10000
14	CHANDRAN	CDSL	100000	Equity	100	10000
15	CHANDRAN	PHYSICAL	100000	Equity	100	10000
16	CHANDRAN	NSDL	100000	Equity	100	10000
17	CHANDRAN	CDSL	100000	Equity	100	10000
18	CHANDRAN	PHYSICAL	100000	Equity	100	10000
19	CHANDRAN	NSDL	100000	Equity	100	10000
20	CHANDRAN	CDSL	100000	Equity	100	10000
21	CHANDRAN	PHYSICAL	100000	Equity	100	10000
22	CHANDRAN	NSDL	100000	Equity	100	10000
23	CHANDRAN	CDSL	100000	Equity	100	10000
24	CHANDRAN	PHYSICAL	100000	Equity	100	10000
25	CHANDRAN	NSDL	100000	Equity	100	10000
26	CHANDRAN	CDSL	100000	Equity	100	10000
27	CHANDRAN	PHYSICAL	100000	Equity	100	10000
28	CHANDRAN	NSDL	100000	Equity	100	10000
29	CHANDRAN	CDSL	100000	Equity	100	10000
30	CHANDRAN	PHYSICAL	100000	Equity	100	10000
31	CHANDRAN	NSDL	100000	Equity	100	10000
32	CHANDRAN	CDSL	100000	Equity	100	10000
33	CHANDRAN	PHYSICAL	100000	Equity	100	10000
34	CHANDRAN	NSDL	100000	Equity	100	10000
35	CHANDRAN	CDSL	100000	Equity	100	10000
36	CHANDRAN	PHYSICAL	100000	Equity	100	10000
37	CHANDRAN	NSDL	100000	Equity	100	10000
38	CHANDRAN	CDSL	100000	Equity	100	10000
39	CHANDRAN	PHYSICAL	100000	Equity	100	10000
40	CHANDRAN	NSDL	100000	Equity	100	10000
41	CHANDRAN	CDSL	100000	Equity	100	10000
42	CHANDRAN	PHYSICAL	100000	Equity	100	10000
43	CHANDRAN	NSDL	100000	Equity	100	10000
44	CHANDRAN	CDSL	100000	Equity	100	10000
45	CHANDRAN	PHYSICAL	100000	Equity	100	10000
46	CHANDRAN	NSDL	100000	Equity	100	10000
47	CHANDRAN	CDSL	100000	Equity	100	10000
48	CHANDRAN	PHYSICAL	100000	Equity	100	10000
49	CHANDRAN	NSDL	100000	Equity	100	10000
50	CHANDRAN	CDSL	100000	Equity	100	10000
51	CHANDRAN	PHYSICAL	100000	Equity	100	10000
52	CHANDRAN	NSDL	100000	Equity	100	10000
53	CHANDRAN	CDSL	100000	Equity	100	10000
54	CHANDRAN	PHYSICAL	100000	Equity	100	10000
55	CHANDRAN	NSDL	100000	Equity	100	10000
56	CHANDRAN	CDSL	100000	Equity	100	10000
57	CHANDRAN	PHYSICAL	100000	Equity	100	10000
58	CHANDRAN	NSDL	100000	Equity	100	10000
59	CHANDRAN	CDSL	100000	Equity	100	10000
60	CHANDRAN	PHYSICAL	100000	Equity	100	10000
61	CHANDRAN	NSDL	100000	Equity	100	10000
62	CHANDRAN	CDSL	100000	Equity	100	10000
63	CHANDRAN	PHYSICAL	100000	Equity	100	10000
64	CHANDRAN	NSDL	100000	Equity	100	10000
65	CHANDRAN	CDSL	100000	Equity	100	10000
66	CHANDRAN	PHYSICAL	100000	Equity	100	10000
67	CHANDRAN	NSDL	100000	Equity	100	10000
68	CHANDRAN	CDSL	100000	Equity	100	10000
69	CHANDRAN	PHYSICAL	100000	Equity	100	10000
70	CHANDRAN	NSDL	100000	Equity	100	10000
71	CHANDRAN	CDSL	100000	Equity	100	10000
72	CHANDRAN	PHYSICAL	100000	Equity	100	10000
73	CHANDRAN	NSDL	100000	Equity	100	10000
74	CHANDRAN	CDSL	100000	Equity	100	10000
75	CHANDRAN	PHYSICAL	100000	Equity	100	10000
76	CHANDRAN	NSDL	100000	Equity	100	10000
77	CHANDRAN	CDSL	100000	Equity	100	10000
78	CHANDRAN	PHYSICAL	100000	Equity	100	10000
79	CHANDRAN	NSDL	100000	Equity	100	10000
80	CHANDRAN	CDSL	100000	Equity	100	10000
81	CHANDRAN	PHYSICAL	100000	Equity	100	10000
82	CHANDRAN	NSDL	100000	Equity	100	10000
83	CHANDRAN	CDSL	100000	Equity	100	10000
84	CHANDRAN	PHYSICAL	100000	Equity	100	10000
85	CHANDRAN	NSDL	100000	Equity	100	10000
86	CHANDRAN	CDSL	100000	Equity	100	10000
87	CHANDRAN	PHYSICAL	100000	Equity	100	10000
88	CHANDRAN	NSDL	100000	Equity	100	10000
89	CHANDRAN	CDSL	100000	Equity	100	10000
90	CHANDRAN	PHYSICAL	100000	Equity	100	10000
91	CHANDRAN	NSDL	100000	Equity	100	10000
92	CHANDRAN	CDSL	100000	Equity	100	10000
93	CHANDRAN	PHYSICAL	100000	Equity	100	10000
94	CHANDRAN	NSDL	100000	Equity	100	10000
95	CHANDRAN	CDSL	100000	Equity	100	10000
96	CHANDRAN	PHYSICAL	100000	Equity	100	10000
97	CHANDRAN	NSDL	100000	Equity	100	10000
98	CHANDRAN	CDSL	100000	Equity	100	10000
99	CHANDRAN	PHYSICAL	100000	Equity	100	10000
100	CHANDRAN	NSDL	100000	Equity	100	10000



WALL SECURITIES LIMITED
214, RAGHAVA RATNA TOWERS, CHHTRAG ALI LINE, ABIDS, HYDERABAD, 500 002, IN; L67120 F67989 PL6 010188
Pat No. : Ph002-786, 1-91-40-2320355/6991111/69911112 - Pat No. :
Email: info@wallsecurities.com | Tel: 800-111-1111 | www.wallsecurities.com

List of Shareholders/Debtors as on: 31-03-2020

List of Shareholders/Debtors of ALL Categories As On 31-03-2020 From NSDL, CDSL, PHYSCAL

Company Registration No: 166236600001 & 166236600002

Sl. No.	Shareholder/Debtor Name	Category	Quantity	Value	Face Value	APR	Amount
1421	1421100000000	PNARAJ SETHI	LALBHAI	400000	400000	100	5000
1422	1422100000000	ANIL WARD	DHIRENDRA KP SONE	500000	500000	100	5000
1423	1423100000000	DEEPAK ANHIA	DHIRENDRA KP SONE	500000	500000	100	5000
1424	1424100000000	MOHITA SIAH	PICAZIN	400000	400000	100	5000
1425	1425100000000	THARUN P HANRAO	DHIREN	400000	400000	100	5000
1426	1426100000000	PARUL J SHAH	PARUL J SHAH	700000	700000	100	5000
1427	1427100000000	PARUL J SHAH	PARUL J SHAH	700000	700000	100	5000
1428	1428100000000	DEEPAK BHANUANI	K. DEEPAK SINGH	111000	111000	100	5000
1429	1429100000000	JAYAMALA V JAIN	VIKRAM KUMAR K JAIN	400000	400000	100	5000
1430	1430100000000	E S DIVASARAM	E S DIVASARAM	500000	500000	100	5000
1431	1431100000000	SIDHAKARAM S	SEKHAR R V	500000	500000	100	5000
1432	1432100000000	DHILEEP NAGESWARA P	J. DHILEEP	500000	500000	100	5000
1433	1433100000000	PRADYUMNAN R K LAL	DR. PRADYUMNAN R K LAL	41200	41200	100	5000
1434	1434100000000	VIJAYA SRI SIVAKUMAR	VIJAYA SRI SIVAKUMAR	400000	400000	100	5000
1435	1435100000000	CHIRAJITHA M S	CHIRAJITHA M S	400000	400000	100	5000
1436	1436100000000	MAHESH KUMAR	MAHESH KUMAR	500000	500000	100	5000
1437	1437100000000	GAURAV KUMAR	GAURAV KUMAR	500000	500000	100	5000
1438	1438100000000	RAJESH KUMAR	RAJESH KUMAR	500000	500000	100	5000
1439	1439100000000	ANIL KUMAR	ANIL KUMAR	500000	500000	100	5000
1440	1440100000000	ANIL KUMAR	ANIL KUMAR	500000	500000	100	5000
1441	1441100000000	ANIL KUMAR	ANIL KUMAR	500000	500000	100	5000
1442	1442100000000	ANIL KUMAR	ANIL KUMAR	500000	500000	100	5000
1443	1443100000000	ANIL KUMAR	ANIL KUMAR	500000	500000	100	5000
1444	1444100000000	ANIL KUMAR	ANIL KUMAR	500000	500000	100	5000
1445	1445100000000	ANIL KUMAR	ANIL KUMAR	500000	500000	100	5000
1446	1446100000000	ANIL KUMAR	ANIL KUMAR	500000	500000	100	5000
1447	1447100000000	ANIL KUMAR	ANIL KUMAR	500000	500000	100	5000
1448	1448100000000	ANIL KUMAR	ANIL KUMAR	500000	500000	100	5000
1449	1449100000000	ANIL KUMAR	ANIL KUMAR	500000	500000	100	5000
1450	1450100000000	ANIL KUMAR	ANIL KUMAR	500000	500000	100	5000
1451	1451100000000	ANIL KUMAR	ANIL KUMAR	500000	500000	100	5000
1452	1452100000000	ANIL KUMAR	ANIL KUMAR	500000	500000	100	5000
1453	1453100000000	ANIL KUMAR	ANIL KUMAR	500000	500000	100	5000
1454	1454100000000	ANIL KUMAR	ANIL KUMAR	500000	500000	100	5000
1455	1455100000000	ANIL KUMAR	ANIL KUMAR	500000	500000	100	5000
1456	1456100000000	ANIL KUMAR	ANIL KUMAR	500000	500000	100	5000
1457	1457100000000	ANIL KUMAR	ANIL KUMAR	500000	500000	100	5000
1458	1458100000000	ANIL KUMAR	ANIL KUMAR	500000	500000	100	5000
1459	1459100000000	ANIL KUMAR	ANIL KUMAR	500000	500000	100	5000
1460	1460100000000	ANIL KUMAR	ANIL KUMAR	500000	500000	100	5000
1461	1461100000000	ANIL KUMAR	ANIL KUMAR	500000	500000	100	5000
1462	1462100000000	ANIL KUMAR	ANIL KUMAR	500000	500000	100	5000
1463	1463100000000	ANIL KUMAR	ANIL KUMAR	500000	500000	100	5000
1464	1464100000000	ANIL KUMAR	ANIL KUMAR	500000	500000	100	5000
1465	1465100000000	ANIL KUMAR	ANIL KUMAR	500000	500000	100	5000
1466	1466100000000	ANIL KUMAR	ANIL KUMAR	500000	500000	100	5000
1467	1467100000000	ANIL KUMAR	ANIL KUMAR	500000	500000	100	5000
1468	1468100000000	ANIL KUMAR	ANIL KUMAR	500000	500000	100	5000
1469	1469100000000	ANIL KUMAR	ANIL KUMAR	500000	500000	100	5000
1470	1470100000000	ANIL KUMAR	ANIL KUMAR	500000	500000	100	5000
1471	1471100000000	ANIL KUMAR	ANIL KUMAR	500000	500000	100	5000
1472	1472100000000	ANIL KUMAR	ANIL KUMAR	500000	500000	100	5000
1473	1473100000000	ANIL KUMAR	ANIL KUMAR	500000	500000	100	5000
1474	1474100000000	ANIL KUMAR	ANIL KUMAR	500000	500000	100	5000
1475	1475100000000	ANIL KUMAR	ANIL KUMAR	500000	500000	100	5000



TIL SECURITIES LIMITED
 214, RAGHAVA RATNA TOWERS, CHHTRAG ALI LINE, ABIDS, HYDERABAD, 500 002, IN; L67120 F67 989 P L6 010 188
 Pan No. : Phno:- 98, 1 91-40-23203155/6901111/6901112; Fax No. :
 Email: info@tilsecurities.com / <http://www.tilsecurities.com>

List of Shareholders/Debtors as on: 31-03-2020

List of Shareholders/Debtors of ALL 4 Segments AVDQ 31-03-2020 From NSDL, CDSL, PHYSICAL

AVDQ	AVDQ	Name	AVDQ	AVDQ	Quantity	Type	AVDQ	AVDQ	Quantity
AVDQ	AVDQ	Name	AVDQ	AVDQ	Quantity	Type	AVDQ	AVDQ	Quantity
175010001001	175010001001	KARUT KOTAWA	175010001001	175010001001	500000	Equity			500
175010001002	175010001002	VENKATA SIBIRRAJ GUPTA	175010001002	175010001002	500000	Equity			500
175010001003	175010001003	ANAND SWANIK MISHRA	175010001003	175010001003	1000000	Equity			1000
175010001004	175010001004	CHANDRANANTH LALASIDAS	175010001004	175010001004	1000000	Equity			1000
175010001005	175010001005	LEENA SANKAR	175010001005	175010001005	500000	Equity			500
175010001006	175010001006	SHRUTI TILAK WALKAR	175010001006	175010001006	500000	Equity			500
175010001007	175010001007	VIJAY SANKAR	175010001007	175010001007	1000000	Equity			1000
175010001008	175010001008	VIJAY SANKAR	175010001008	175010001008	1000000	Equity			1000
175010001009	175010001009	VIJAY SANKAR	175010001009	175010001009	1000000	Equity			1000
175010001010	175010001010	VIJAY SANKAR	175010001010	175010001010	1000000	Equity			1000
175010001011	175010001011	VIJAY SANKAR	175010001011	175010001011	1000000	Equity			1000
175010001012	175010001012	VIJAY SANKAR	175010001012	175010001012	1000000	Equity			1000
175010001013	175010001013	VIJAY SANKAR	175010001013	175010001013	1000000	Equity			1000
175010001014	175010001014	VIJAY SANKAR	175010001014	175010001014	1000000	Equity			1000
175010001015	175010001015	VIJAY SANKAR	175010001015	175010001015	1000000	Equity			1000
175010001016	175010001016	VIJAY SANKAR	175010001016	175010001016	1000000	Equity			1000
175010001017	175010001017	VIJAY SANKAR	175010001017	175010001017	1000000	Equity			1000
175010001018	175010001018	VIJAY SANKAR	175010001018	175010001018	1000000	Equity			1000
175010001019	175010001019	VIJAY SANKAR	175010001019	175010001019	1000000	Equity			1000
175010001020	175010001020	VIJAY SANKAR	175010001020	175010001020	1000000	Equity			1000
175010001021	175010001021	VIJAY SANKAR	175010001021	175010001021	1000000	Equity			1000
175010001022	175010001022	VIJAY SANKAR	175010001022	175010001022	1000000	Equity			1000
175010001023	175010001023	VIJAY SANKAR	175010001023	175010001023	1000000	Equity			1000
175010001024	175010001024	VIJAY SANKAR	175010001024	175010001024	1000000	Equity			1000
175010001025	175010001025	VIJAY SANKAR	175010001025	175010001025	1000000	Equity			1000
175010001026	175010001026	VIJAY SANKAR	175010001026	175010001026	1000000	Equity			1000
175010001027	175010001027	VIJAY SANKAR	175010001027	175010001027	1000000	Equity			1000
175010001028	175010001028	VIJAY SANKAR	175010001028	175010001028	1000000	Equity			1000
175010001029	175010001029	VIJAY SANKAR	175010001029	175010001029	1000000	Equity			1000
175010001030	175010001030	VIJAY SANKAR	175010001030	175010001030	1000000	Equity			1000
175010001031	175010001031	VIJAY SANKAR	175010001031	175010001031	1000000	Equity			1000
175010001032	175010001032	VIJAY SANKAR	175010001032	175010001032	1000000	Equity			1000
175010001033	175010001033	VIJAY SANKAR	175010001033	175010001033	1000000	Equity			1000
175010001034	175010001034	VIJAY SANKAR	175010001034	175010001034	1000000	Equity			1000
175010001035	175010001035	VIJAY SANKAR	175010001035	175010001035	1000000	Equity			1000
175010001036	175010001036	VIJAY SANKAR	175010001036	175010001036	1000000	Equity			1000
175010001037	175010001037	VIJAY SANKAR	175010001037	175010001037	1000000	Equity			1000
175010001038	175010001038	VIJAY SANKAR	175010001038	175010001038	1000000	Equity			1000
175010001039	175010001039	VIJAY SANKAR	175010001039	175010001039	1000000	Equity			1000
175010001040	175010001040	VIJAY SANKAR	175010001040	175010001040	1000000	Equity			1000
175010001041	175010001041	VIJAY SANKAR	175010001041	175010001041	1000000	Equity			1000
175010001042	175010001042	VIJAY SANKAR	175010001042	175010001042	1000000	Equity			1000
175010001043	175010001043	VIJAY SANKAR	175010001043	175010001043	1000000	Equity			1000
175010001044	175010001044	VIJAY SANKAR	175010001044	175010001044	1000000	Equity			1000
175010001045	175010001045	VIJAY SANKAR	175010001045	175010001045	1000000	Equity			1000
175010001046	175010001046	VIJAY SANKAR	175010001046	175010001046	1000000	Equity			1000
175010001047	175010001047	VIJAY SANKAR	175010001047	175010001047	1000000	Equity			1000
175010001048	175010001048	VIJAY SANKAR	175010001048	175010001048	1000000	Equity			1000
175010001049	175010001049	VIJAY SANKAR	175010001049	175010001049	1000000	Equity			1000
175010001050	175010001050	VIJAY SANKAR	175010001050	175010001050	1000000	Equity			1000
175010001051	175010001051	VIJAY SANKAR	175010001051	175010001051	1000000	Equity			1000
175010001052	175010001052	VIJAY SANKAR	175010001052	175010001052	1000000	Equity			1000
175010001053	175010001053	VIJAY SANKAR	175010001053	175010001053	1000000	Equity			1000
175010001054	175010001054	VIJAY SANKAR	175010001054	175010001054	1000000	Equity			1000
175010001055	175010001055	VIJAY SANKAR	175010001055	175010001055	1000000	Equity			1000
175010001056	175010001056	VIJAY SANKAR	175010001056	175010001056	1000000	Equity			1000
175010001057	175010001057	VIJAY SANKAR	175010001057	175010001057	1000000	Equity			1000
175010001058	175010001058	VIJAY SANKAR	175010001058	175010001058	1000000	Equity			1000
175010001059	175010001059	VIJAY SANKAR	175010001059	175010001059	1000000	Equity			1000
175010001060	175010001060	VIJAY SANKAR	175010001060	175010001060	1000000	Equity			1000
175010001061	175010001061	VIJAY SANKAR	175010001061	175010001061	1000000	Equity			1000
175010001062	175010001062	VIJAY SANKAR	175010001062	175010001062	1000000	Equity			1000
175010001063	175010001063	VIJAY SANKAR	175010001063	175010001063	1000000	Equity			1000
175010001064	175010001064	VIJAY SANKAR	175010001064	175010001064	1000000	Equity			1000
175010001065	175010001065	VIJAY SANKAR	175010001065	175010001065	1000000	Equity			1000
175010001066	175010001066	VIJAY SANKAR	175010001066	175010001066	1000000	Equity			1000
175010001067	175010001067	VIJAY SANKAR	175010001067	175010001067	1000000	Equity			1000
175010001068	175010001068	VIJAY SANKAR	175010001068	175010001068	1000000	Equity			1000
175010001069	175010001069	VIJAY SANKAR	175010001069	175010001069	1000000	Equity			1000
175010001070	175010001070	VIJAY SANKAR	175010001070	175010001070	1000000	Equity			1000
175010001071	175010001071	VIJAY SANKAR	175010001071	175010001071	1000000	Equity			1000
175010001072	175010001072	VIJAY SANKAR	175010001072	175010001072	1000000	Equity			1000
175010001073	175010001073	VIJAY SANKAR	175010001073	175010001073	1000000	Equity			1000
175010001074	175010001074	VIJAY SANKAR	175010001074	175010001074	1000000	Equity			1000
175010001075	175010001075	VIJAY SANKAR	175010001075	175010001075	1000000	Equity			1000
175010001076	175010001076	VIJAY SANKAR	175010001076	175010001076	1000000	Equity			1000
175010001077	175010001077	VIJAY SANKAR	175010001077	175010001077	1000000	Equity			1000
175010001078	175010001078	VIJAY SANKAR	175010001078	175010001078	1000000	Equity			1000
175010001079	175010001079	VIJAY SANKAR	175010001079	175010001079	1000000	Equity			1000
175010001080	175010001080	VIJAY SANKAR	175010001080	175010001080	1000000	Equity			1000
175010001081	175010001081	VIJAY SANKAR	175010001081	175010001081	1000000	Equity			1000
175010001082	175010001082	VIJAY SANKAR	175010001082	175010001082	1000000	Equity			1000
175010001083	175010001083	VIJAY SANKAR	175010001083	175010001083	1000000	Equity			1000
175010001084	175010001084	VIJAY SANKAR	175010001084	175010001084	1000000	Equity			1000
175010001085	175010001085	VIJAY SANKAR	175010001085	175010001085	1000000	Equity			1000
175010001086	175010001086	VIJAY SANKAR	175010001086	175010001086	1000000	Equity			1000
175010001087	175010001087	VIJAY SANKAR	175010001087	175010001087	1000000	Equity			1000
175010001088	175010001088	VIJAY SANKAR	175010001088	175010001088	1000000	Equity			1000
175010001089	175010001089	VIJAY SANKAR	175010001089	175010001089	1000				



TIL SECURITIES LIMITED
 214, RAGHAVA RATNA TOWERS, CHHTRAG ALI LINE, ABIDS, HYDERABAD, 500 016, IN; L67120 F67989 PL6 010188
 Fax No. : Phone No. : 91-40-2320355/6991111/6991112 ; Tlx No. :
 Email: info@tilsecurities.com / Tlx: <http://www.tilsecurities.com>

List of Shareholders(as on: 31-03-2020)

List of Shareholders (Promoters) of ALL 4 Segments AV Eq 31-03-2020 From NSDL, CDSL, PHYSICAL

ISIN	Holder Name	Shareholder Name	Shareholder Address	Quantity	Type	Share %	AV Eq	Segment
IN0000010001	VARATHARAJAN, NA	LATE NAGARAJAN, C	12, PANDURAM NAGAR, THELAKURUGA,	620001	Equity	0.00	0.00	0.00
IN0000010002	SHYANSHAI SURYANMAY	SHRI SURESH BABU	SHRI SURESH BABU, 100/1, SAKARIBOYLA ROAD,	300039	Equity	AMGPD196	200	2000
IN0000010011	MAHARAJ,	SURESH C	1, CHANDRANAGAR, 2, CHITRAL,	334401	Equity	0.00	0.00	0.00
IN0000010012	CHANDRAN KISHORAM	SUBBA VAMUNITHY V	CHANDRAN KISHORAM, 8, PANDURAM,	577000	Equity	AFFPM025	200	2000
IN0000010013	NAIDU, M. SAKSHI	M. SAKSHI	11, LAASHIKHAPUR, KUNDAKURU,	400000	Equity	AFWPM026	200	2000
IN0000010014	Y. RAJESH	Y. RAJESH	1, SAKARIBOYLA, 1, SAKARIBOYLA,	041001	Equity	ADXTM019	200	2000
IN0000010015	PADMANABHA RAO N R	A. SURESH	10, THELAKURUGA, 10, THELAKURUGA,	731004	Equity	0.00	0.00	0.00
IN0000010016	ZHUKRANABHAI	SHRIRAMSHI SURESH MOHA	SHRIRAMSHI SURESH MOHA, 10, THELAKURUGA,	300001	Equity	0.00	0.00	0.00
IN0000010017	SHRI BHIMANTH DIBRAJ	SHRI BHIMANTH DIBRAJ	SHRI BHIMANTH DIBRAJ, 10, THELAKURUGA,	400001	Equity	AAFPMM01	200	2000
IN0000010018	TARUN, V. SHAI	VASANTHAI	1, CHANDRANAGAR, 1, CHANDRANAGAR,	400000	Equity	0.00	0.00	0.00
IN0000010019	DHARMENDRA BHASKAR	DHARMENDRA BHASKAR	1, CHANDRANAGAR, 1, CHANDRANAGAR,	180019	Equity	ADAPP018	200	2000
IN0000010020	DEEPAK, RUTIM	TEJU MAL KALM	1, CHANDRANAGAR, 1, CHANDRANAGAR,	170001	Equity	AMSPK154	200	2000
IN0000010021	CHAKRABARTI PATEL	CHAKRABARTI PATEL	1, CHANDRANAGAR, 1, CHANDRANAGAR,	100100	Equity	AGSPP157	200	2000
IN0000010022	SHARADA, S. PATIL	SHRI BHIMANTH DIBRAJ	1, CHANDRANAGAR, 1, CHANDRANAGAR,	154100	Equity	AGWPM01	200	2000
IN0000010023	ANUSHA SUTAR	ANUSHA SUTAR	1, CHANDRANAGAR, 1, CHANDRANAGAR,	370000	Equity	0.00	0.00	0.00
IN0000010024	S. RAMANATHAN	S. RAMANATHAN	1, CHANDRANAGAR, 1, CHANDRANAGAR,	421001	Equity	ACBPS0206	200	2000
IN0000010025	DR. S. RAMAN	DR. S. RAMAN	1, CHANDRANAGAR, 1, CHANDRANAGAR,	000000	Equity	0.00	0.00	0.00
IN0000010026	MAHESH, S. SHARMA	MAHESH, S. SHARMA	1, CHANDRANAGAR, 1, CHANDRANAGAR,	141000	Equity	0.00	0.00	0.00
IN0000010027	DR. S. RAMAN	DR. S. RAMAN	1, CHANDRANAGAR, 1, CHANDRANAGAR,	500000	Equity	0.00	0.00	0.00
IN0000010028	S. S. S. S. S.	S. S. S. S. S.	1, CHANDRANAGAR, 1, CHANDRANAGAR,	000000	Equity	AGHPS010	200	2000
IN0000010029	MAHESH, S. SHARMA	MAHESH, S. SHARMA	1, CHANDRANAGAR, 1, CHANDRANAGAR,	700000	Equity	AGWPM01	200	2000
IN0000010030	MAHESH, S. SHARMA	MAHESH, S. SHARMA	1, CHANDRANAGAR, 1, CHANDRANAGAR,	400000	Equity	AGZPM010	200	2000
IN0000010031	MAHESH, S. SHARMA	MAHESH, S. SHARMA	1, CHANDRANAGAR, 1, CHANDRANAGAR,	400000	Equity	0.00	0.00	0.00
IN0000010032	MAHESH, S. SHARMA	MAHESH, S. SHARMA	1, CHANDRANAGAR, 1, CHANDRANAGAR,	400000	Equity	ACAPM101	200	2000
IN0000010033	MAHESH, S. SHARMA	MAHESH, S. SHARMA	1, CHANDRANAGAR, 1, CHANDRANAGAR,	400000	Equity	0.00	0.00	0.00
IN0000010034	MAHESH, S. SHARMA	MAHESH, S. SHARMA	1, CHANDRANAGAR, 1, CHANDRANAGAR,	400000	Equity	0.00	0.00	0.00
IN0000010035	MAHESH, S. SHARMA	MAHESH, S. SHARMA	1, CHANDRANAGAR, 1, CHANDRANAGAR,	400000	Equity	0.00	0.00	0.00
IN0000010036	MAHESH, S. SHARMA	MAHESH, S. SHARMA	1, CHANDRANAGAR, 1, CHANDRANAGAR,	400000	Equity	0.00	0.00	0.00
IN0000010037	MAHESH, S. SHARMA	MAHESH, S. SHARMA	1, CHANDRANAGAR, 1, CHANDRANAGAR,	400000	Equity	0.00	0.00	0.00
IN0000010038	MAHESH, S. SHARMA	MAHESH, S. SHARMA	1, CHANDRANAGAR, 1, CHANDRANAGAR,	400000	Equity	0.00	0.00	0.00
IN0000010039	MAHESH, S. SHARMA	MAHESH, S. SHARMA	1, CHANDRANAGAR, 1, CHANDRANAGAR,	400000	Equity	0.00	0.00	0.00
IN0000010040	MAHESH, S. SHARMA	MAHESH, S. SHARMA	1, CHANDRANAGAR, 1, CHANDRANAGAR,	400000	Equity	0.00	0.00	0.00
IN0000010041	MAHESH, S. SHARMA	MAHESH, S. SHARMA	1, CHANDRANAGAR, 1, CHANDRANAGAR,	400000	Equity	0.00	0.00	0.00
IN0000010042	MAHESH, S. SHARMA	MAHESH, S. SHARMA	1, CHANDRANAGAR, 1, CHANDRANAGAR,	400000	Equity	0.00	0.00	0.00
IN0000010043	MAHESH, S. SHARMA	MAHESH, S. SHARMA	1, CHANDRANAGAR, 1, CHANDRANAGAR,	400000	Equity	0.00	0.00	0.00
IN0000010044	MAHESH, S. SHARMA	MAHESH, S. SHARMA	1, CHANDRANAGAR, 1, CHANDRANAGAR,	400000	Equity	0.00	0.00	0.00
IN0000010045	MAHESH, S. SHARMA	MAHESH, S. SHARMA	1, CHANDRANAGAR, 1, CHANDRANAGAR,	400000	Equity	0.00	0.00	0.00
IN0000010046	MAHESH, S. SHARMA	MAHESH, S. SHARMA	1, CHANDRANAGAR, 1, CHANDRANAGAR,	400000	Equity	0.00	0.00	0.00
IN0000010047	MAHESH, S. SHARMA	MAHESH, S. SHARMA	1, CHANDRANAGAR, 1, CHANDRANAGAR,	400000	Equity	0.00	0.00	0.00
IN0000010048	MAHESH, S. SHARMA	MAHESH, S. SHARMA	1, CHANDRANAGAR, 1, CHANDRANAGAR,	400000	Equity	0.00	0.00	0.00
IN0000010049	MAHESH, S. SHARMA	MAHESH, S. SHARMA	1, CHANDRANAGAR, 1, CHANDRANAGAR,	400000	Equity	0.00	0.00	0.00
IN0000010050	MAHESH, S. SHARMA	MAHESH, S. SHARMA	1, CHANDRANAGAR, 1, CHANDRANAGAR,	400000	Equity	0.00	0.00	0.00
IN0000010051	MAHESH, S. SHARMA	MAHESH, S. SHARMA	1, CHANDRANAGAR, 1, CHANDRANAGAR,	400000	Equity	0.00	0.00	0.00
IN0000010052	MAHESH, S. SHARMA	MAHESH, S. SHARMA	1, CHANDRANAGAR, 1, CHANDRANAGAR,	400000	Equity	0.00	0.00	0.00
IN0000010053	MAHESH, S. SHARMA	MAHESH, S. SHARMA	1, CHANDRANAGAR, 1, CHANDRANAGAR,	400000	Equity	0.00	0.00	0.00
IN0000010054	MAHESH, S. SHARMA	MAHESH, S. SHARMA	1, CHANDRANAGAR, 1, CHANDRANAGAR,	400000	Equity	0.00	0.00	0.00
IN0000010055	MAHESH, S. SHARMA	MAHESH, S. SHARMA	1, CHANDRANAGAR, 1, CHANDRANAGAR,	400000	Equity	0.00	0.00	0.00
IN0000010056	MAHESH, S. SHARMA	MAHESH, S. SHARMA	1, CHANDRANAGAR, 1, CHANDRANAGAR,	400000	Equity	0.00	0.00	0.00
IN0000010057	MAHESH, S. SHARMA	MAHESH, S. SHARMA	1, CHANDRANAGAR, 1, CHANDRANAGAR,	400000	Equity	0.00	0.00	0.00
IN0000010058	MAHESH, S. SHARMA	MAHESH, S. SHARMA	1, CHANDRANAGAR, 1, CHANDRANAGAR,	400000	Equity	0.00	0.00	0.00
IN0000010059	MAHESH, S. SHARMA	MAHESH, S. SHARMA	1, CHANDRANAGAR, 1, CHANDRANAGAR,	400000	Equity	0.00	0.00	0.00
IN0000010060	MAHESH, S. SHARMA	MAHESH, S. SHARMA	1, CHANDRANAGAR, 1, CHANDRANAGAR,	400000	Equity	0.00	0.00	0.00
IN0000010061	MAHESH, S. SHARMA	MAHESH, S. SHARMA	1, CHANDRANAGAR, 1, CHANDRANAGAR,	400000	Equity	0.00	0.00	0.00
IN0000010062	MAHESH, S. SHARMA	MAHESH, S. SHARMA	1, CHANDRANAGAR, 1, CHANDRANAGAR,	400000	Equity	0.00	0.00	0.00
IN0000010063	MAHESH, S. SHARMA	MAHESH, S. SHARMA	1, CHANDRANAGAR, 1, CHANDRANAGAR,	400000	Equity	0.00	0.00	0.00
IN0000010064	MAHESH, S. SHARMA	MAHESH, S. SHARMA	1, CHANDRANAGAR, 1, CHANDRANAGAR,	400000	Equity	0.00	0.00	0.00
IN0000010065	MAHESH, S. SHARMA	MAHESH, S. SHARMA	1, CHANDRANAGAR, 1, CHANDRANAGAR,	400000	Equity	0.00	0.00	0.00
IN0000010066	MAHESH, S. SHARMA	MAHESH, S. SHARMA	1, CHANDRANAGAR, 1, CHANDRANAGAR,	400000	Equity	0.00	0.00	0.00
IN0000010067	MAHESH, S. SHARMA	MAHESH, S. SHARMA	1, CHANDRANAGAR, 1, CHANDRANAGAR,	400000	Equity	0.00	0.00	0.00
IN0000010068	MAHESH, S. SHARMA	MAHESH, S. SHARMA	1, CHANDRANAGAR, 1, CHANDRANAGAR,	400000	Equity	0.00	0.00	0.00
IN0000010069	MAHESH, S. SHARMA	MAHESH, S. SHARMA	1, CHANDRANAGAR, 1, CHANDRANAGAR,	400000	Equity	0.00	0.00	0.00
IN0000010070	MAHESH, S. SHARMA	MAHESH, S. SHARMA	1, CHANDRANAGAR, 1, CHANDRANAGAR,	400000	Equity	0.00	0.00	0.00
IN0000010071	MAHESH, S. SHARMA	MAHESH, S. SHARMA	1, CHANDRANAGAR, 1, CHANDRANAGAR,	400000	Equity	0.00	0.00	0.00
IN0000010072	MAHESH, S. SHARMA	MAHESH, S. SHARMA	1, CHANDRANAGAR, 1, CHANDRANAGAR,	400000	Equity	0.00	0.00	0.00
IN0000010073	MAHESH, S. SHARMA	MAHESH, S. SHARMA	1, CHANDRANAGAR, 1, CHANDRANAGAR,	400000	Equity	0.00	0.00	0.00
IN0000010074	MAHESH, S. SHARMA	MAHESH, S. SHARMA	1, CHANDRANAGAR, 1, CHANDRANAGAR,	400000	Equity	0.00	0.00	0.00
IN0000010075	MAHESH, S. SHARMA	MAHESH, S. SHARMA	1, CHANDRANAGAR, 1, CHANDRANAGAR,	400000	Equity	0.00	0.00	0.00
IN0000010076	MAHESH, S. SHARMA	MAHESH, S. SHARMA	1, CHANDRANAGAR, 1, CHANDRANAGAR,	400000	Equity	0.00	0.00	0.00
IN0000010077	MAHESH, S. SHARMA	MAHESH, S. SHARMA	1, CHANDRANAGAR, 1, CHANDRANAGAR,	400000	Equity	0.00	0.00	0.00
IN0000010078	MAHESH, S. SHARMA	MAHESH, S. SHARMA	1, CHANDRANAGAR, 1, CHANDRANAGAR,	400000	Equity	0.00	0.00	0.00
IN0000010079	MAHESH, S. SHARMA	MAHESH, S. SHARMA	1, CHANDRANAGAR, 1, CHANDRANAGAR,	400000	Equity	0.00	0.00	0.00
IN0000010080	MAHESH, S. SHARMA	MAHESH, S. SHARMA	1, CHANDRANAGAR, 1, CHANDRANAGAR,	400000	Equity	0.00	0.00	0.00
IN0000010081	MAHESH, S. SHARMA	MAHESH, S. SHARMA	1, CHANDRANAGAR, 1, CHANDRANAGAR,	400000	Equity	0.00	0.00	0.00
IN0000010082	MAHESH, S. SHARMA	MAHESH, S. SHARMA	1, CHANDRANAGAR, 1, CHANDRANAGAR,	400000	Equity	0.00	0.00	0.00
IN0000010083	MAHESH, S. SHARMA	MAHESH, S. SHARMA	1, CHANDRANAGAR, 1, CHANDRANAGAR,	400000	Equity	0.00	0.00	0.00
IN0000010084	MAHESH, S. SHARMA	MAHESH, S. SHARMA	1, CHANDRANAGAR, 1, CHANDRANAGAR,	400000	Equity	0.00	0.00	0.00
IN0000010085	MAHESH, S. SHARMA	MAHESH, S. SHARMA	1, CHANDRANAGAR, 1, CHANDRANAGAR,	400000	Equity	0.00	0.00	0.00
IN0000010086	MAHESH, S. SHARMA	MAHESH, S. SHARMA	1, CHANDRANAGAR, 1, CHANDRANAGAR,	400000	Equity	0.00	0.00	0.00
IN0000010087	MAHESH, S. SHARMA	MAHESH, S. SHARMA	1, CHANDRANAGAR, 1, CHANDRANAGAR,	400000	Equity	0.00	0.00	0.00
IN0000010088	MAHESH, S. SHARMA	MAHESH, S. SHARMA	1, CHANDRANAGAR, 1, CHANDRANAGAR,	400000	Equity	0.00	0.00	0.00
IN0000010089	MAHESH, S. SHARMA	MAHESH, S. SHARMA	1, CHANDRANAGAR, 1, CHANDRANAGAR,	400000	Equity	0.00	0.00	0.00
IN0000010090	MAHESH, S. SHARMA	MAHESH, S. SHARMA	1, CHANDRANAGAR, 1, CHANDRANAGAR,	400000	Equity	0.00	0.00	0.00
IN0000010091	MAHESH, S. SHARMA	MAHESH, S. SHARMA	1, CHANDRANAGAR, 1, CHANDRANAGAR,	400000	Equity	0.00	0.00	0.00
IN0000010092	MAHESH, S. SHARMA	MAHESH, S. SHARMA	1, CHANDRANAGAR, 1, CHANDRANAGAR,	400000	Equity	0.00	0.00	0.00
IN0000010093	MAHESH, S. SHARMA	MAHESH, S. SHARMA	1, CHANDRANAGAR, 1, CHANDRANAGAR,	400000	Equity	0.00	0.00	0.00
IN0000010094	MAHESH, S. SHARMA	MAHESH, S. SHARMA	1, CHANDRANAGAR, 1, CHANDRANAGAR,	400000	Equity	0.00	0.00	0.00
IN0000010095	MAHESH, S. SHARMA	MAHESH, S. SHARMA	1, CHANDRANAGAR, 1, CHANDRANAGAR,	400000	Equity	0.00	0.00	0.00
IN0000010096	MAHESH, S. SHARMA	MAHESH, S. SHARMA	1, CHANDRANAGAR, 1, CHANDRANAGAR,	400000	Equity	0.00	0.00	0.00
IN0000010097	MAHESH, S. SHARMA	MAHESH, S. SHARMA	1, CHANDRANAGAR, 1, CHANDRANAGAR,	400000	Equity	0.00	0.00	0.00
IN0000010098	MAHESH, S. SHARMA	MAHESH, S. SHARMA	1, CHANDRANAGAR, 1, CHANDRANAGAR,	400000	Equity	0.00	0.00	0.00
IN0000010099	MAHESH, S. SHARMA	MAHESH, S. SHARMA	1, CHANDRANAGAR, 1, CHANDRANAGAR,	400000	Equity	0.00	0.00	0.00
IN0000010100	MAHESH, S. SHARMA	MAHESH, S. SHARMA	1, CHANDRANAGAR, 1, CHANDRANAGAR,	400000	Equity	0.00	0.00	0.00



TIL SECURITIES LIMITED
 214, RAGHAVA RATNA TOWERS, CHHTRAG ALI LINE, ABIDS, HYDERABAD, 500 002, IN; L67120 F671989 PL6 010188
 Pan No. : P0002786, ITCIN-4023203155/6901111/69911112 - Pan No. :
 Email: info@tilsecurities.com | Tel: 0011-60111111 | <http://www.tilsecurities.com>

List of Total Shareholders as on: 31-03-2020

List of Shareholders Types of ALL Categories As On 31-03-2020 From NSDL, CDSL, PHYSICAL

Company Registration No: U26200KA2012PLC000001

Sl. No.	Demat Account No.	Name	Category	Quantity	Type	Share No.	Face Value	Amount
2091	IN30029570744001	MADHUSRIMAL RAO	INDIVIDUAL	50000	Equity	AAPR042	500	5000
2092	IN30029570744002	SACHINSHETTY SUBBANA	INDIVIDUAL	50000	Equity		500	5000
2093	IN30029570744003	CHITREBHOGI NANDALAL	INDIVIDUAL	50000	Equity	ADDP060	500	5000
2094	IN30029570744004	SUDHAKHANDRA K PA	INDIVIDUAL	50000	Equity	UCSP049	500	5000
2095	IN30029570744005	KRISHNAKANTH K RAO	INDIVIDUAL	50000	Equity		500	5000
2096	IN30029570744006	KANAKA K TOBACCO WORKS	INDIVIDUAL	50000	Equity		500	5000
2097	IN30029570744007	VALLABHIBHASKAR	INDIVIDUAL	50000	Equity	ADDP060	500	5000
2098	IN30029570744008	SHARATH K RAO	INDIVIDUAL	50000	Equity		500	5000
2099	IN30029570744009	SHARATH K RAO	INDIVIDUAL	50000	Equity		500	5000
2100	IN30029570744010	SHARATH K RAO	INDIVIDUAL	50000	Equity		500	5000
2101	IN30029570744011	SHARATH K RAO	INDIVIDUAL	50000	Equity		500	5000
2102	IN30029570744012	SHARATH K RAO	INDIVIDUAL	50000	Equity		500	5000
2103	IN30029570744013	SHARATH K RAO	INDIVIDUAL	50000	Equity		500	5000
2104	IN30029570744014	SHARATH K RAO	INDIVIDUAL	50000	Equity		500	5000
2105	IN30029570744015	SHARATH K RAO	INDIVIDUAL	50000	Equity		500	5000
2106	IN30029570744016	SHARATH K RAO	INDIVIDUAL	50000	Equity		500	5000
2107	IN30029570744017	SHARATH K RAO	INDIVIDUAL	50000	Equity		500	5000
2108	IN30029570744018	SHARATH K RAO	INDIVIDUAL	50000	Equity		500	5000
2109	IN30029570744019	SHARATH K RAO	INDIVIDUAL	50000	Equity		500	5000
2110	IN30029570744020	SHARATH K RAO	INDIVIDUAL	50000	Equity		500	5000
2111	IN30029570744021	SHARATH K RAO	INDIVIDUAL	50000	Equity		500	5000
2112	IN30029570744022	SHARATH K RAO	INDIVIDUAL	50000	Equity		500	5000
2113	IN30029570744023	SHARATH K RAO	INDIVIDUAL	50000	Equity		500	5000
2114	IN30029570744024	SHARATH K RAO	INDIVIDUAL	50000	Equity		500	5000
2115	IN30029570744025	SHARATH K RAO	INDIVIDUAL	50000	Equity		500	5000
2116	IN30029570744026	SHARATH K RAO	INDIVIDUAL	50000	Equity		500	5000
2117	IN30029570744027	SHARATH K RAO	INDIVIDUAL	50000	Equity		500	5000
2118	IN30029570744028	SHARATH K RAO	INDIVIDUAL	50000	Equity		500	5000
2119	IN30029570744029	SHARATH K RAO	INDIVIDUAL	50000	Equity		500	5000
2120	IN30029570744030	SHARATH K RAO	INDIVIDUAL	50000	Equity		500	5000
2121	IN30029570744031	SHARATH K RAO	INDIVIDUAL	50000	Equity		500	5000
2122	IN30029570744032	SHARATH K RAO	INDIVIDUAL	50000	Equity		500	5000
2123	IN30029570744033	SHARATH K RAO	INDIVIDUAL	50000	Equity		500	5000
2124	IN30029570744034	SHARATH K RAO	INDIVIDUAL	50000	Equity		500	5000
2125	IN30029570744035	SHARATH K RAO	INDIVIDUAL	50000	Equity		500	5000
2126	IN30029570744036	SHARATH K RAO	INDIVIDUAL	50000	Equity		500	5000
2127	IN30029570744037	SHARATH K RAO	INDIVIDUAL	50000	Equity		500	5000
2128	IN30029570744038	SHARATH K RAO	INDIVIDUAL	50000	Equity		500	5000
2129	IN30029570744039	SHARATH K RAO	INDIVIDUAL	50000	Equity		500	5000
2130	IN30029570744040	SHARATH K RAO	INDIVIDUAL	50000	Equity		500	5000
2131	IN30029570744041	SHARATH K RAO	INDIVIDUAL	50000	Equity		500	5000
2132	IN30029570744042	SHARATH K RAO	INDIVIDUAL	50000	Equity		500	5000
2133	IN30029570744043	SHARATH K RAO	INDIVIDUAL	50000	Equity		500	5000
2134	IN30029570744044	SHARATH K RAO	INDIVIDUAL	50000	Equity		500	5000
2135	IN30029570744045	SHARATH K RAO	INDIVIDUAL	50000	Equity		500	5000
2136	IN30029570744046	SHARATH K RAO	INDIVIDUAL	50000	Equity		500	5000
2137	IN30029570744047	SHARATH K RAO	INDIVIDUAL	50000	Equity		500	5000
2138	IN30029570744048	SHARATH K RAO	INDIVIDUAL	50000	Equity		500	5000
2139	IN30029570744049	SHARATH K RAO	INDIVIDUAL	50000	Equity		500	5000
2140	IN30029570744050	SHARATH K RAO	INDIVIDUAL	50000	Equity		500	5000
2141	IN30029570744051	SHARATH K RAO	INDIVIDUAL	50000	Equity		500	5000
2142	IN30029570744052	SHARATH K RAO	INDIVIDUAL	50000	Equity		500	5000
2143	IN30029570744053	SHARATH K RAO	INDIVIDUAL	50000	Equity		500	5000
2144	IN30029570744054	SHARATH K RAO	INDIVIDUAL	50000	Equity		500	5000
2145	IN30029570744055	SHARATH K RAO	INDIVIDUAL	50000	Equity		500	5000
2146	IN30029570744056	SHARATH K RAO	INDIVIDUAL	50000	Equity		500	5000
2147	IN30029570744057	SHARATH K RAO	INDIVIDUAL	50000	Equity		500	5000
2148	IN30029570744058	SHARATH K RAO	INDIVIDUAL	50000	Equity		500	5000
2149	IN30029570744059	SHARATH K RAO	INDIVIDUAL	50000	Equity		500	5000
2150	IN30029570744060	SHARATH K RAO	INDIVIDUAL	50000	Equity		500	5000



TIL SECURITIES LIMITED
214, RAGHAVA RATNA TOWERS, CHHTRAG ALI LINE, ABIDS, HYDERABAD, 500 006, IN; L67120 F671989 PLU/010188
Pat No. : Ph002-26, 1391-40-2320, 3155/6901111/69911112 - Pat No. :
Email: info@tilsecurities.com | Tel: <http://www.tilsecurities.com>

List of Shareholders(as on: 31-03-2020)

List of Shareholders Group 1 of ALL 4 category AVDQ 31-03-2020 From NSDL, CDSL, PHYSICAL

AVDQ	AVDQ	Name	Quantity	Type	Group	AVDQ	Quantity
AVDQ	AVDQ	Name	Quantity	Type	Group	AVDQ	Quantity
28511000007		JAIKA VIDYASAI VIDYA	100000	Equity			1000
28511000010		CHHOTI BHAGI PALBHAI	100000	Equity			1000
28511000011		RIBHA VIKRAMRAJKAR	100000	Equity			1000
28511000012		SHOBHA ASYHADOLE	100000	Equity			1000
28511000013		RIFA DHRUBAL PATEL	100000	Equity			1000
28511000014		RUTIKA MEHTA	100000	Equity			1000
28511000015		PRADHA KUTAB	100000	Equity			1000
28511000016		DR P SRIYANATHAN	100000	Equity			1000
28511000017		NILESH CHENAWALA	100000	Equity			1000
28511000018		GRITA B ZALA	100000	Equity	(AR0001)		1000
28511000019		BARTSH AGARWAL	100000	Equity			1000
28511000020		ACHOK KUMAR KUMAR	100000	Equity			1000
28511000021		DR P SRIYANATHAN	100000	Equity			1000
28511000022		DR P SRIYANATHAN	100000	Equity			1000
28511000023		DR P SRIYANATHAN	100000	Equity			1000
28511000024		DR P SRIYANATHAN	100000	Equity			1000
28511000025		DR P SRIYANATHAN	100000	Equity			1000
28511000026		DR P SRIYANATHAN	100000	Equity			1000
28511000027		DR P SRIYANATHAN	100000	Equity			1000
28511000028		DR P SRIYANATHAN	100000	Equity			1000
28511000029		DR P SRIYANATHAN	100000	Equity			1000
28511000030		DR P SRIYANATHAN	100000	Equity			1000
28511000031		DR P SRIYANATHAN	100000	Equity			1000
28511000032		DR P SRIYANATHAN	100000	Equity			1000
28511000033		DR P SRIYANATHAN	100000	Equity			1000
28511000034		DR P SRIYANATHAN	100000	Equity			1000
28511000035		DR P SRIYANATHAN	100000	Equity			1000
28511000036		DR P SRIYANATHAN	100000	Equity			1000
28511000037		DR P SRIYANATHAN	100000	Equity			1000
28511000038		DR P SRIYANATHAN	100000	Equity			1000
28511000039		DR P SRIYANATHAN	100000	Equity			1000
28511000040		DR P SRIYANATHAN	100000	Equity			1000
28511000041		DR P SRIYANATHAN	100000	Equity			1000
28511000042		DR P SRIYANATHAN	100000	Equity			1000
28511000043		DR P SRIYANATHAN	100000	Equity			1000
28511000044		DR P SRIYANATHAN	100000	Equity			1000
28511000045		DR P SRIYANATHAN	100000	Equity			1000
28511000046		DR P SRIYANATHAN	100000	Equity			1000
28511000047		DR P SRIYANATHAN	100000	Equity			1000
28511000048		DR P SRIYANATHAN	100000	Equity			1000
28511000049		DR P SRIYANATHAN	100000	Equity			1000
28511000050		DR P SRIYANATHAN	100000	Equity			1000
28511000051		DR P SRIYANATHAN	100000	Equity			1000
28511000052		DR P SRIYANATHAN	100000	Equity			1000
28511000053		DR P SRIYANATHAN	100000	Equity			1000
28511000054		DR P SRIYANATHAN	100000	Equity			1000
28511000055		DR P SRIYANATHAN	100000	Equity			1000
28511000056		DR P SRIYANATHAN	100000	Equity			1000
28511000057		DR P SRIYANATHAN	100000	Equity			1000
28511000058		DR P SRIYANATHAN	100000	Equity			1000
28511000059		DR P SRIYANATHAN	100000	Equity			1000
28511000060		DR P SRIYANATHAN	100000	Equity			1000
28511000061		DR P SRIYANATHAN	100000	Equity			1000
28511000062		DR P SRIYANATHAN	100000	Equity			1000
28511000063		DR P SRIYANATHAN	100000	Equity			1000
28511000064		DR P SRIYANATHAN	100000	Equity			1000
28511000065		DR P SRIYANATHAN	100000	Equity			1000
28511000066		DR P SRIYANATHAN	100000	Equity			1000
28511000067		DR P SRIYANATHAN	100000	Equity			1000
28511000068		DR P SRIYANATHAN	100000	Equity			1000
28511000069		DR P SRIYANATHAN	100000	Equity			1000
28511000070		DR P SRIYANATHAN	100000	Equity			1000
28511000071		DR P SRIYANATHAN	100000	Equity			1000
28511000072		DR P SRIYANATHAN	100000	Equity			1000
28511000073		DR P SRIYANATHAN	100000	Equity			1000
28511000074		DR P SRIYANATHAN	100000	Equity			1000
28511000075		DR P SRIYANATHAN	100000	Equity			1000
28511000076		DR P SRIYANATHAN	100000	Equity			1000
28511000077		DR P SRIYANATHAN	100000	Equity			1000
28511000078		DR P SRIYANATHAN	100000	Equity			1000
28511000079		DR P SRIYANATHAN	100000	Equity			1000
28511000080		DR P SRIYANATHAN	100000	Equity			1000
28511000081		DR P SRIYANATHAN	100000	Equity			1000
28511000082		DR P SRIYANATHAN	100000	Equity			1000
28511000083		DR P SRIYANATHAN	100000	Equity			1000
28511000084		DR P SRIYANATHAN	100000	Equity			1000
28511000085		DR P SRIYANATHAN	100000	Equity			1000
28511000086		DR P SRIYANATHAN	100000	Equity			1000
28511000087		DR P SRIYANATHAN	100000	Equity			1000
28511000088		DR P SRIYANATHAN	100000	Equity			1000
28511000089		DR P SRIYANATHAN	100000	Equity			1000
28511000090		DR P SRIYANATHAN	100000	Equity			1000
28511000091		DR P SRIYANATHAN	100000	Equity			1000
28511000092		DR P SRIYANATHAN	100000	Equity			1000
28511000093		DR P SRIYANATHAN	100000	Equity			1000
28511000094		DR P SRIYANATHAN	100000	Equity			1000
28511000095		DR P SRIYANATHAN	100000	Equity			1000
28511000096		DR P SRIYANATHAN	100000	Equity			1000
28511000097		DR P SRIYANATHAN	100000	Equity			1000
28511000098		DR P SRIYANATHAN	100000	Equity			1000
28511000099		DR P SRIYANATHAN	100000	Equity			1000
28511000100		DR P SRIYANATHAN	100000	Equity			1000



TIL SECURITIES LIMITED
 214, RAGHAVA RATNA TOWERS, CHHTRAG ALI LINE, ABIDS, HYDERABAD, 500 006, IN. LG7120 F67989PLA/010188
 Pan No. : P0002786, T+91-40-23203155/6901111/69911112 - Fax No. :
 Email: info@tilsecurities.com / Tilt: <http://www.tilsecurities.com>

List of Total Shareholders as on: 31-03-2020

List Of Shareholders' Names In All 4 Segments AVHq 31-03-2020 From NSDL, CDSL, PHYSICAL

Sl. No.	Name	Quantity	Type	AVHq	AVHq Share	AVHq Amount
2581 CC021051	SRIPATI P N S, ARVIND BHADRA	100000	Equity		1000	1000
2582 CC021061	AKHIL BHASHINI DINGAL	100000	Equity		1000	1000
2583 CC021064	SHARADHIN SHUKLA	100000	Equity		1000	1000
2584 CC021066	IMITY K L KHATPE	100000	Equity		1000	1000
2585 CC021074	TRIPATHI BHABHANI (B SBI)	100000	Equity		1000	1000
2586 CC021075	DEVI KASHWIN MOH	100000	Equity		1000	1000
2587 CC021077	DEHATIMALI HAIDEM	100000	Equity		1000	1000
2588 CC021080	VIRAL SHAH	100000	Equity		1000	1000
2589 CC021085-100000	LEELA VARMA	100000	Equity	ADIP2020	1000	1000
2590 CC021087	RUPESH D PNBAY 202	100000	Equity		1000	1000
2591 CC021094	RAYNA BANBHU	100000	Equity		1000	1000
2592 CC021098	SELVI SHYAMHAI PATEL	100000	Equity		1000	1000
2593 CC021099	MEHA SIYATHA	100000	Equity	ADIP2020	1000	1000
2594 CC021102	PRABHIN D PRASAD	100000	Equity		1000	1000
2595 CC021110	VALLABHAI P MARYANI	100000	Equity		1000	1000
2596 CC021102	MADHUKANT PATEL	100000	Equity		1000	1000
2597 CC021103	KISHOR DHIRA PATEL	100000	Equity		1000	1000
2598 CC021104	DIKSHATI SAKIN DINKAR	100000	Equity		1000	1000
2599 CC021105	ABEEL HUSAYAN	100000	Equity		1000	1000
2600 CC021106	PRADYUMNAR PRADHAN	100000	Equity		1000	1000
2601 CC021107	SHARADHIN SHUKLA	100000	Equity		1000	1000
2602 CC021108-100000	KAVI KISHANWAR	100000	Equity	ADIP2020	1000	1000
2603 CC021109-100000	V. M. V. JAYANTH	100000	Equity	ADIP2020	1000	1000
2604 CC021110-100000	R. RAVI SHANKAR	100000	Equity	ADIP2020	1000	1000
2605 CC021111-100000	SHRIMATI SUDHAKAR DEVI	100000	Equity	ADIP2020	1000	1000
2606 CC021112-100000	MAHESH K RAO ANAND	100000	Equity	ADIP2020	1000	1000
2607 CC021113	RAJESH K SHARMA	100000	Equity		1000	1000
2608 CC021114	VARUN KANWAR	100000	Equity		1000	1000
2609 CC021115	VARUN KANWAR	100000	Equity		1000	1000
2610 CC021116-100000	RAJESH K SHARMA	100000	Equity	ADIP2020	1000	1000
2611 CC021117-100000	VARUN KANWAR	100000	Equity	ADIP2020	1000	1000
2612 CC021118-100000	VARUN KANWAR	100000	Equity	ADIP2020	1000	1000
2613 CC021119-100000	VARUN KANWAR	100000	Equity	ADIP2020	1000	1000
2614 CC021120-100000	VARUN KANWAR	100000	Equity	ADIP2020	1000	1000
2615 CC021121-100000	VARUN KANWAR	100000	Equity	ADIP2020	1000	1000
2616 CC021122-100000	VARUN KANWAR	100000	Equity	ADIP2020	1000	1000
2617 CC021123-100000	VARUN KANWAR	100000	Equity	ADIP2020	1000	1000
2618 CC021124-100000	VARUN KANWAR	100000	Equity	ADIP2020	1000	1000
2619 CC021125-100000	VARUN KANWAR	100000	Equity	ADIP2020	1000	1000
2620 CC021126-100000	VARUN KANWAR	100000	Equity	ADIP2020	1000	1000
2621 CC021127-100000	VARUN KANWAR	100000	Equity	ADIP2020	1000	1000
2622 CC021128-100000	VARUN KANWAR	100000	Equity	ADIP2020	1000	1000
2623 CC021129-100000	VARUN KANWAR	100000	Equity	ADIP2020	1000	1000
2624 CC021130-100000	VARUN KANWAR	100000	Equity	ADIP2020	1000	1000
2625 CC021131-100000	VARUN KANWAR	100000	Equity	ADIP2020	1000	1000
2626 CC021132-100000	VARUN KANWAR	100000	Equity	ADIP2020	1000	1000
2627 CC021133-100000	VARUN KANWAR	100000	Equity	ADIP2020	1000	1000
2628 CC021134-100000	VARUN KANWAR	100000	Equity	ADIP2020	1000	1000
2629 CC021135-100000	VARUN KANWAR	100000	Equity	ADIP2020	1000	1000
2630 CC021136-100000	VARUN KANWAR	100000	Equity	ADIP2020	1000	1000
2631 CC021137-100000	VARUN KANWAR	100000	Equity	ADIP2020	1000	1000
2632 CC021138-100000	VARUN KANWAR	100000	Equity	ADIP2020	1000	1000
2633 CC021139-100000	VARUN KANWAR	100000	Equity	ADIP2020	1000	1000
2634 CC021140-100000	VARUN KANWAR	100000	Equity	ADIP2020	1000	1000
2635 CC021141-100000	VARUN KANWAR	100000	Equity	ADIP2020	1000	1000
2636 CC021142-100000	VARUN KANWAR	100000	Equity	ADIP2020	1000	1000
2637 CC021143-100000	VARUN KANWAR	100000	Equity	ADIP2020	1000	1000
2638 CC021144-100000	VARUN KANWAR	100000	Equity	ADIP2020	1000	1000
2639 CC021145-100000	VARUN KANWAR	100000	Equity	ADIP2020	1000	1000
2640 CC021146-100000	VARUN KANWAR	100000	Equity	ADIP2020	1000	1000
2641 CC021147-100000	VARUN KANWAR	100000	Equity	ADIP2020	1000	1000
2642 CC021148-100000	VARUN KANWAR	100000	Equity	ADIP2020	1000	1000
2643 CC021149-100000	VARUN KANWAR	100000	Equity	ADIP2020	1000	1000
2644 CC021150-100000	VARUN KANWAR	100000	Equity	ADIP2020	1000	1000
2645 CC021151-100000	VARUN KANWAR	100000	Equity	ADIP2020	1000	1000
2646 CC021152-100000	VARUN KANWAR	100000	Equity	ADIP2020	1000	1000
2647 CC021153-100000	VARUN KANWAR	100000	Equity	ADIP2020	1000	1000
2648 CC021154-100000	VARUN KANWAR	100000	Equity	ADIP2020	1000	1000
2649 CC021155-100000	VARUN KANWAR	100000	Equity	ADIP2020	1000	1000
2650 CC021156-100000	VARUN KANWAR	100000	Equity	ADIP2020	1000	1000
2651 CC021157-100000	VARUN KANWAR	100000	Equity	ADIP2020	1000	1000
2652 CC021158-100000	VARUN KANWAR	100000	Equity	ADIP2020	1000	1000
2653 CC021159-100000	VARUN KANWAR	100000	Equity	ADIP2020	1000	1000
2654 CC021160-100000	VARUN KANWAR	100000	Equity	ADIP2020	1000	1000
2655 CC021161-100000	VARUN KANWAR	100000	Equity	ADIP2020	1000	1000
2656 CC021162-100000	VARUN KANWAR	100000	Equity	ADIP2020	1000	1000
2657 CC021163-100000	VARUN KANWAR	100000	Equity	ADIP2020	1000	1000
2658 CC021164-100000	VARUN KANWAR	100000	Equity	ADIP2020	1000	1000
2659 CC021165-100000	VARUN KANWAR	100000	Equity	ADIP2020	1000	1000
2660 CC021166-100000	VARUN KANWAR	100000	Equity	ADIP2020	1000	1000
2661 CC021167-100000	VARUN KANWAR	100000	Equity	ADIP2020	1000	1000
2662 CC021168-100000	VARUN KANWAR	100000	Equity	ADIP2020	1000	1000
2663 CC021169-100000	VARUN KANWAR	100000	Equity	ADIP2020	1000	1000
2664 CC021170-100000	VARUN KANWAR	100000	Equity	ADIP2020	1000	1000
2665 CC021171-100000	VARUN KANWAR	100000	Equity	ADIP2020	1000	1000
2666 CC021172-100000	VARUN KANWAR	100000	Equity	ADIP2020	1000	1000
2667 CC021173-100000	VARUN KANWAR	100000	Equity	ADIP2020	1000	1000
2668 CC021174-100000	VARUN KANWAR	100000	Equity	ADIP2020	1000	1000
2669 CC021175-100000	VARUN KANWAR	100000	Equity	ADIP2020	1000	1000
2670 CC021176-100000	VARUN KANWAR	100000	Equity	ADIP2020	1000	1000
2671 CC021177-100000	VARUN KANWAR	100000	Equity	ADIP2020	1000	1000
2672 CC021178-100000	VARUN KANWAR	100000	Equity	ADIP2020	1000	1000
2673 CC021179-100000	VARUN KANWAR	100000	Equity	ADIP2020	1000	1000
2674 CC021180-100000	VARUN KANWAR	100000	Equity	ADIP2020	1000	1000
2675 CC021181-100000	VARUN KANWAR	100000	Equity	ADIP2020	1000	1000
2676 CC021182-100000	VARUN KANWAR	100000	Equity	ADIP2020	1000	1000
2677 CC021183-100000	VARUN KANWAR	100000	Equity	ADIP2020	1000	1000
2678 CC021184-100000	VARUN KANWAR	100000	Equity	ADIP2020	1000	1000
2679 CC021185-100000	VARUN KANWAR	100000	Equity	ADIP2020	1000	1000
2680 CC021186-100000	VARUN KANWAR	100000	Equity	ADIP2020	1000	1000
2681 CC021187-100000	VARUN KANWAR	100000	Equity	ADIP2020	1000	1000
2682 CC021188-100000	VARUN KANWAR	100000	Equity	ADIP2020	1000	1000
2683 CC021189-100000	VARUN KANWAR	100000	Equity	ADIP2020	1000	1000
2684 CC021190-100000	VARUN KANWAR	100000	Equity	ADIP2020	1000	1000
2685 CC021191-100000	VARUN KANWAR	100000	Equity	ADIP2020	1000	1000
2686 CC021192-100000	VARUN KANWAR	100000	Equity	ADIP2020	1000	1000
2687 CC021193-100000	VARUN KANWAR	100000	Equity	ADIP2020	1000	1000
2688 CC021194-100000	VARUN KANWAR	100000	Equity	ADIP2020	1000	1000
2689 CC021195-100000	VARUN KANWAR	100000	Equity	ADIP2020	1000	1000
2690 CC021196-100000	VARUN KANWAR	100000	Equity	ADIP2020	1000	1000
2691 CC021197-100000	VARUN KANWAR	100000	Equity	ADIP2020	1000	1000
2692 CC021198-100000	VARUN KANWAR	100000	Equity	ADIP2020	1000	1000
2693 CC021199-100000	VARUN KANWAR	100000	Equity	ADIP2020	1000	1000
2694 CC021200-100000	VARUN KANWAR	100000	Equity	ADIP2020	1000	1000



WALL SECURITIES LIMITED
 214, RAGHAVA RATNA TOWERS, CHHTRAG ALI LINE, ABIDS, HYDERABAD, 500 002, IN. LG7120 F67989PLA/010188
 Fax No. : 0800-286, 1391-40-2320, 2355/6901111/6901112 ; Phs No. :
 Email: info@wallsecurities.com / <http://www.wallsecurities.com>

List of Shareholders(as on: 31-03-2020)

List of Shareholders (Group) of ALL 4 categories AVHQ 31-03-2020 From NSDL, CDSL, PHYSICAL

Sl. No.	Demat Account No.	Name	Category	Quantity	Type	Face Value	Market Value	Balance
1267	120132006902442	SHIVKARASIMHA	NSDL	100000	Equity	100000	100000	1000
1268	120132006902442	RAMJI A. PATIL	CDSL	100000	Equity	100000	100000	1000
1269	120132006902442	SHIRANI	CDSL	100000	Equity	100000	100000	1000
1270	120132006902442	SRINIVASULAKSHI	CDSL	100000	Equity	100000	100000	1000
1271	120132006902442	RAMKISHOR MAGESHWAR	CDSL	100000	Equity	100000	100000	1000
1272	120132006902442	SHRI JY. THAKUR	CDSL	100000	Equity	100000	100000	1000
1273	120132006902442	HEKARU S. SAKHUBHAI SOMA	CDSL	100000	Equity	100000	100000	1000
1274	120132006902442	SHRI S. CHANDRANATH	CDSL	100000	Equity	100000	100000	1000
1275	120132006902442	RAMJI S. SHAI	CDSL	100000	Equity	100000	100000	1000
1276	120132006902442	SHRI S. S. S. S.	CDSL	100000	Equity	100000	100000	1000
1277	120132006902442	SHRI S. S. S. S.	CDSL	100000	Equity	100000	100000	1000
1278	120132006902442	SHRI S. S. S. S.	CDSL	100000	Equity	100000	100000	1000
1279	120132006902442	SHRI S. S. S. S.	CDSL	100000	Equity	100000	100000	1000
1280	120132006902442	SHRI S. S. S. S.	CDSL	100000	Equity	100000	100000	1000
1281	120132006902442	SHRI S. S. S. S.	CDSL	100000	Equity	100000	100000	1000
1282	120132006902442	SHRI S. S. S. S.	CDSL	100000	Equity	100000	100000	1000
1283	120132006902442	SHRI S. S. S. S.	CDSL	100000	Equity	100000	100000	1000
1284	120132006902442	SHRI S. S. S. S.	CDSL	100000	Equity	100000	100000	1000
1285	120132006902442	SHRI S. S. S. S.	CDSL	100000	Equity	100000	100000	1000
1286	120132006902442	SHRI S. S. S. S.	CDSL	100000	Equity	100000	100000	1000
1287	120132006902442	SHRI S. S. S. S.	CDSL	100000	Equity	100000	100000	1000
1288	120132006902442	SHRI S. S. S. S.	CDSL	100000	Equity	100000	100000	1000
1289	120132006902442	SHRI S. S. S. S.	CDSL	100000	Equity	100000	100000	1000
1290	120132006902442	SHRI S. S. S. S.	CDSL	100000	Equity	100000	100000	1000
1291	120132006902442	SHRI S. S. S. S.	CDSL	100000	Equity	100000	100000	1000
1292	120132006902442	SHRI S. S. S. S.	CDSL	100000	Equity	100000	100000	1000
1293	120132006902442	SHRI S. S. S. S.	CDSL	100000	Equity	100000	100000	1000
1294	120132006902442	SHRI S. S. S. S.	CDSL	100000	Equity	100000	100000	1000
1295	120132006902442	SHRI S. S. S. S.	CDSL	100000	Equity	100000	100000	1000
1296	120132006902442	SHRI S. S. S. S.	CDSL	100000	Equity	100000	100000	1000
1297	120132006902442	SHRI S. S. S. S.	CDSL	100000	Equity	100000	100000	1000
1298	120132006902442	SHRI S. S. S. S.	CDSL	100000	Equity	100000	100000	1000
1299	120132006902442	SHRI S. S. S. S.	CDSL	100000	Equity	100000	100000	1000
1300	120132006902442	SHRI S. S. S. S.	CDSL	100000	Equity	100000	100000	1000



TIL SECURITIES LIMITED
 214, RAGHAVA RATNA TOWERS, CHHTRAG ALI LINE, ABIDS, HYDERABAD, 500 006, IN. LG7120 F67989PLA/010188
 Fax No. : 01000-286, 1-91-40-23203155/6901111/69011112 ; Tel No. :
 Email: info@tilsecurities.com / <http://www.tilsecurities.com>

List of Shareholders/Debtors as on: 31-03-2020

List of Shareholders/Debtors of ALL EQUITIES AVAIL 31-03-2020 From NSDL, CDSL, PHYSICAL

ISIN	Holder Name	Holder Name	Quantity	Type	Face Value	AVAIL	Amount
145112010000021311	ANISH A VINODKUMAR	ANISH A VINODKUMAR	1000000	Equity	100	1000	1000
145212010000020311	MINISH KUMAR KUMARI	MINISH KUMAR KUMARI	1000000	Equity	100	1000	1000
145312010000021311	ANISH A VINODKUMAR	ANISH A VINODKUMAR	1000000	Equity	100	1000	1000
145412010000021311	ANISH A VINODKUMAR	ANISH A VINODKUMAR	1000000	Equity	100	1000	1000
145512010000021311	ANISH A VINODKUMAR	ANISH A VINODKUMAR	1000000	Equity	100	1000	1000
145612010000021311	ANISH A VINODKUMAR	ANISH A VINODKUMAR	1000000	Equity	100	1000	1000
145712010000021311	ANISH A VINODKUMAR	ANISH A VINODKUMAR	1000000	Equity	100	1000	1000
145812010000021311	ANISH A VINODKUMAR	ANISH A VINODKUMAR	1000000	Equity	100	1000	1000
145912010000021311	ANISH A VINODKUMAR	ANISH A VINODKUMAR	1000000	Equity	100	1000	1000
146012010000021311	ANISH A VINODKUMAR	ANISH A VINODKUMAR	1000000	Equity	100	1000	1000
146112010000021311	ANISH A VINODKUMAR	ANISH A VINODKUMAR	1000000	Equity	100	1000	1000
146212010000021311	ANISH A VINODKUMAR	ANISH A VINODKUMAR	1000000	Equity	100	1000	1000
146312010000021311	ANISH A VINODKUMAR	ANISH A VINODKUMAR	1000000	Equity	100	1000	1000
146412010000021311	ANISH A VINODKUMAR	ANISH A VINODKUMAR	1000000	Equity	100	1000	1000
146512010000021311	ANISH A VINODKUMAR	ANISH A VINODKUMAR	1000000	Equity	100	1000	1000
146612010000021311	ANISH A VINODKUMAR	ANISH A VINODKUMAR	1000000	Equity	100	1000	1000
146712010000021311	ANISH A VINODKUMAR	ANISH A VINODKUMAR	1000000	Equity	100	1000	1000
146812010000021311	ANISH A VINODKUMAR	ANISH A VINODKUMAR	1000000	Equity	100	1000	1000
146912010000021311	ANISH A VINODKUMAR	ANISH A VINODKUMAR	1000000	Equity	100	1000	1000
147012010000021311	ANISH A VINODKUMAR	ANISH A VINODKUMAR	1000000	Equity	100	1000	1000
147112010000021311	ANISH A VINODKUMAR	ANISH A VINODKUMAR	1000000	Equity	100	1000	1000
147212010000021311	ANISH A VINODKUMAR	ANISH A VINODKUMAR	1000000	Equity	100	1000	1000
147312010000021311	ANISH A VINODKUMAR	ANISH A VINODKUMAR	1000000	Equity	100	1000	1000
147412010000021311	ANISH A VINODKUMAR	ANISH A VINODKUMAR	1000000	Equity	100	1000	1000
147512010000021311	ANISH A VINODKUMAR	ANISH A VINODKUMAR	1000000	Equity	100	1000	1000
147612010000021311	ANISH A VINODKUMAR	ANISH A VINODKUMAR	1000000	Equity	100	1000	1000
147712010000021311	ANISH A VINODKUMAR	ANISH A VINODKUMAR	1000000	Equity	100	1000	1000
147812010000021311	ANISH A VINODKUMAR	ANISH A VINODKUMAR	1000000	Equity	100	1000	1000
147912010000021311	ANISH A VINODKUMAR	ANISH A VINODKUMAR	1000000	Equity	100	1000	1000
148012010000021311	ANISH A VINODKUMAR	ANISH A VINODKUMAR	1000000	Equity	100	1000	1000
148112010000021311	ANISH A VINODKUMAR	ANISH A VINODKUMAR	1000000	Equity	100	1000	1000
148212010000021311	ANISH A VINODKUMAR	ANISH A VINODKUMAR	1000000	Equity	100	1000	1000
148312010000021311	ANISH A VINODKUMAR	ANISH A VINODKUMAR	1000000	Equity	100	1000	1000
148412010000021311	ANISH A VINODKUMAR	ANISH A VINODKUMAR	1000000	Equity	100	1000	1000
148512010000021311	ANISH A VINODKUMAR	ANISH A VINODKUMAR	1000000	Equity	100	1000	1000
148612010000021311	ANISH A VINODKUMAR	ANISH A VINODKUMAR	1000000	Equity	100	1000	1000
148712010000021311	ANISH A VINODKUMAR	ANISH A VINODKUMAR	1000000	Equity	100	1000	1000
148812010000021311	ANISH A VINODKUMAR	ANISH A VINODKUMAR	1000000	Equity	100	1000	1000
148912010000021311	ANISH A VINODKUMAR	ANISH A VINODKUMAR	1000000	Equity	100	1000	1000
149012010000021311	ANISH A VINODKUMAR	ANISH A VINODKUMAR	1000000	Equity	100	1000	1000
149112010000021311	ANISH A VINODKUMAR	ANISH A VINODKUMAR	1000000	Equity	100	1000	1000
149212010000021311	ANISH A VINODKUMAR	ANISH A VINODKUMAR	1000000	Equity	100	1000	1000
149312010000021311	ANISH A VINODKUMAR	ANISH A VINODKUMAR	1000000	Equity	100	1000	1000
149412010000021311	ANISH A VINODKUMAR	ANISH A VINODKUMAR	1000000	Equity	100	1000	1000
149512010000021311	ANISH A VINODKUMAR	ANISH A VINODKUMAR	1000000	Equity	100	1000	1000
149612010000021311	ANISH A VINODKUMAR	ANISH A VINODKUMAR	1000000	Equity	100	1000	1000
149712010000021311	ANISH A VINODKUMAR	ANISH A VINODKUMAR	1000000	Equity	100	1000	1000
149812010000021311	ANISH A VINODKUMAR	ANISH A VINODKUMAR	1000000	Equity	100	1000	1000
149912010000021311	ANISH A VINODKUMAR	ANISH A VINODKUMAR	1000000	Equity	100	1000	1000
150012010000021311	ANISH A VINODKUMAR	ANISH A VINODKUMAR	1000000	Equity	100	1000	1000



WELLS FARGO SECURITIES LIMITED
 214, RAGHAVA RATNA TOWERS, CHHTRAG ALI LANE, ABIDS, HYDERABAD, 500 004, IN. LG7120 F67989PLA/010188
 Fax No. : 91-08-23203155/9901111/9901112 ; Tel No. :
 Email: info@wellsfargo.com / <http://www.wellsfargo.com>

List of Total Shareholders as on : 31-05-2020

List Of Shareholders (Group) of ALL 4 Segments AVDQ 31-05-2020 From NSDL, CDSL, PHYSICAL

1. NSDL
 2. CDSL
 3. PHYSICAL

Sl. No.	Name	Segment	Shareholding	Type	AVDQ	AVDQ	AVDQ
Sl. No.	Name	Segment	Shareholding	Type	AVDQ	AVDQ	AVDQ
4501 (C) 000044	ANURAG CHITRALA		427000	Equity		100	1000
4502 (C) 000042	MONTOMO THOMAS		388800	Equity		100	1000
4503 (C) 000045	VENGA PRADANT		388800	Equity		100	1000
4504 (C) 000080	V A SARINWAL		400000	Equity		100	1000
4505 (C) 000049	SARITA CHANDAN SHIBU		498800	Equity		100	1000
4506 (C) 000111	NAGAYALI KUSHINA KUM		100	Equity		100	1000
4507 (C) 000118	NAGAMANI KAPU		500000	Equity		100	1000
4508 (C) 000111	OHANISHI MAKHIANI		469000	Equity		100	1000
4509 (C) 000107	B BHODIRAI		500000	Equity		100	1000
4510 (C) 000114	RAMA KRISHNA RAO BHANI		500000	Equity		100	1000
4511 (C) 000260	BELLAPKONDA S OJITHA		510000	Equity		100	1000
4512 (C) 000124	VARHAY SHAH		460000	Equity		100	1000
4513 (C) 000238	RAJESH K RAO		500000	Equity		100	1000
4514 (C) 000441	RAMAIA S R		510000	Equity		100	1000
4515 (C) 000111	S R SANKAR		500000	Equity		100	1000
4516 (C) 000041	ANAND KISHOR		500000	Equity		100	1000
4517 (C) 000111	ANAND KISHOR		500000	Equity		100	1000
4518 (C) 000111	ANAND KISHOR		500000	Equity		100	1000
4519 (C) 000111	ANAND KISHOR		500000	Equity		100	1000
4520 (C) 000111	ANAND KISHOR		500000	Equity		100	1000
4521 (C) 000111	ANAND KISHOR		500000	Equity		100	1000
4522 (C) 000111	ANAND KISHOR		500000	Equity		100	1000
4523 (C) 000111	ANAND KISHOR		500000	Equity		100	1000
4524 (C) 000111	ANAND KISHOR		500000	Equity		100	1000
4525 (C) 000111	ANAND KISHOR		500000	Equity		100	1000
4526 (C) 000111	ANAND KISHOR		500000	Equity		100	1000
4527 (C) 000111	ANAND KISHOR		500000	Equity		100	1000
4528 (C) 000111	ANAND KISHOR		500000	Equity		100	1000
4529 (C) 000111	ANAND KISHOR		500000	Equity		100	1000
4530 (C) 000111	ANAND KISHOR		500000	Equity		100	1000
4531 (C) 000111	ANAND KISHOR		500000	Equity		100	1000
4532 (C) 000111	ANAND KISHOR		500000	Equity		100	1000
4533 (C) 000111	ANAND KISHOR		500000	Equity		100	1000
4534 (C) 000111	ANAND KISHOR		500000	Equity		100	1000
4535 (C) 000111	ANAND KISHOR		500000	Equity		100	1000
4536 (C) 000111	ANAND KISHOR		500000	Equity		100	1000
4537 (C) 000111	ANAND KISHOR		500000	Equity		100	1000
4538 (C) 000111	ANAND KISHOR		500000	Equity		100	1000
4539 (C) 000111	ANAND KISHOR		500000	Equity		100	1000
4540 (C) 000111	ANAND KISHOR		500000	Equity		100	1000
4541 (C) 000111	ANAND KISHOR		500000	Equity		100	1000
4542 (C) 000111	ANAND KISHOR		500000	Equity		100	1000
4543 (C) 000111	ANAND KISHOR		500000	Equity		100	1000
4544 (C) 000111	ANAND KISHOR		500000	Equity		100	1000
4545 (C) 000111	ANAND KISHOR		500000	Equity		100	1000
4546 (C) 000111	ANAND KISHOR		500000	Equity		100	1000
4547 (C) 000111	ANAND KISHOR		500000	Equity		100	1000
4548 (C) 000111	ANAND KISHOR		500000	Equity		100	1000
4549 (C) 000111	ANAND KISHOR		500000	Equity		100	1000
4550 (C) 000111	ANAND KISHOR		500000	Equity		100	1000
4551 (C) 000111	ANAND KISHOR		500000	Equity		100	1000
4552 (C) 000111	ANAND KISHOR		500000	Equity		100	1000
4553 (C) 000111	ANAND KISHOR		500000	Equity		100	1000
4554 (C) 000111	ANAND KISHOR		500000	Equity		100	1000
4555 (C) 000111	ANAND KISHOR		500000	Equity		100	1000
4556 (C) 000111	ANAND KISHOR		500000	Equity		100	1000
4557 (C) 000111	ANAND KISHOR		500000	Equity		100	1000
4558 (C) 000111	ANAND KISHOR		500000	Equity		100	1000
4559 (C) 000111	ANAND KISHOR		500000	Equity		100	1000
4560 (C) 000111	ANAND KISHOR		500000	Equity		100	1000
4561 (C) 000111	ANAND KISHOR		500000	Equity		100	1000
4562 (C) 000111	ANAND KISHOR		500000	Equity		100	1000
4563 (C) 000111	ANAND KISHOR		500000	Equity		100	1000
4564 (C) 000111	ANAND KISHOR		500000	Equity		100	1000
4565 (C) 000111	ANAND KISHOR		500000	Equity		100	1000
4566 (C) 000111	ANAND KISHOR		500000	Equity		100	1000
4567 (C) 000111	ANAND KISHOR		500000	Equity		100	1000
4568 (C) 000111	ANAND KISHOR		500000	Equity		100	1000
4569 (C) 000111	ANAND KISHOR		500000	Equity		100	1000
4570 (C) 000111	ANAND KISHOR		500000	Equity		100	1000
4571 (C) 000111	ANAND KISHOR		500000	Equity		100	1000
4572 (C) 000111	ANAND KISHOR		500000	Equity		100	1000
4573 (C) 000111	ANAND KISHOR		500000	Equity		100	1000
4574 (C) 000111	ANAND KISHOR		500000	Equity		100	1000
4575 (C) 000111	ANAND KISHOR		500000	Equity		100	1000
4576 (C) 000111	ANAND KISHOR		500000	Equity		100	1000
4577 (C) 000111	ANAND KISHOR		500000	Equity		100	1000
4578 (C) 000111	ANAND KISHOR		500000	Equity		100	1000
4579 (C) 000111	ANAND KISHOR		500000	Equity		100	1000
4580 (C) 000111	ANAND KISHOR		500000	Equity		100	1000
4581 (C) 000111	ANAND KISHOR		500000	Equity		100	1000
4582 (C) 000111	ANAND KISHOR		500000	Equity		100	1000
4583 (C) 000111	ANAND KISHOR		500000	Equity		100	1000
4584 (C) 000111	ANAND KISHOR		500000	Equity		100	1000
4585 (C) 000111	ANAND KISHOR		500000	Equity		100	1000
4586 (C) 000111	ANAND KISHOR		500000	Equity		100	1000
4587 (C) 000111	ANAND KISHOR		500000	Equity		100	1000
4588 (C) 000111	ANAND KISHOR		500000	Equity		100	1000
4589 (C) 000111	ANAND KISHOR		500000	Equity		100	1000
4590 (C) 000111	ANAND KISHOR		500000	Equity		100	1000
4591 (C) 000111	ANAND KISHOR		500000	Equity		100	1000
4592 (C) 000111	ANAND KISHOR		500000	Equity		100	1000
4593 (C) 000111	ANAND KISHOR		500000	Equity		100	1000
4594 (C) 000111	ANAND KISHOR		500000	Equity		100	1000
4595 (C) 000111	ANAND KISHOR		500000	Equity		100	1000
4596 (C) 000111	ANAND KISHOR		500000	Equity		100	1000
4597 (C) 000111	ANAND KISHOR		500000	Equity		100	1000
4598 (C) 000111	ANAND KISHOR		500000	Equity		100	1000
4599 (C) 000111	ANAND KISHOR		500000	Equity		100	1000
4600 (C) 000111	ANAND KISHOR		500000	Equity		100	1000



TIL SECURITIES LIMITED
 214, RAGHAVA RATNA TOWERS, CHHTRAG ALI LINE, ABIDS, HYDERABAD, 500 002, IN. LG7120 F67989PLA/010188
 Fax No. : 011-2611186, 1191-40-2320, 2325/6901111/6901112 ; Tel No. :
 Email: info@tilsecurities.com / <http://www.tilsecurities.com>

List of Total Shareholders as on: 31-03-2020

List Of Shareholders (Group) of ALL 4 Segments As On 31-03-2020 From NSDL, CDSL, PHYSICAL

ISIN	Holder Name	Shareholder Name	Category	Quantity	Type	Face Value	APR	Amount
40011000000000000000	KIRITESH LAL SHAWAN	HANS SUDHAWAN	Equity	141000	Equity	100	100	141000
40011000000000000000	DIKRAJ KUMAR KANTILAL	DIKRAJ KUMAR KANTILAL	Equity	400000	Equity	100	100	400000
40011000000000000000	CHANDRABALA DAMAJA	CHANDRABALA DAMAJA	Equity	400000	Equity	100	100	400000
40011000000000000000	SISTIMA KUMARI GUNASW	D P ANJANMAL	Equity	141000	Equity	100	100	141000
40011000000000000000	SHASHI K SHAM	SHASHI K SHAM	Equity	400000	Equity	100	100	400000
40011000000000000000	S ANANTAK SHAM	S ANANTAK SHAM	Equity	100000	Equity	100	100	100000
40011000000000000000	LALITA SHAH	KHAR WARD	Equity	100000	Equity	100	100	100000
40011000000000000000	MURLI SHAIKH	CHANDRABALA DAMAJA	Equity	400000	Equity	100	100	400000
40011000000000000000	MIX RADHA RAMAN	MIX RADHA RAMAN	Equity	600000	Equity	100	100	600000
40011000000000000000	S SOOJA SINGHANI	S SOOJA SINGHANI	Equity	400000	Equity	100	100	400000
40011000000000000000	GRESH CHAND LAIN	GRESH CHAND LAIN	Equity	600000	Equity	100	100	600000
40011000000000000000	MEENAKSHI GUPTA	MEENAKSHI GUPTA	Equity	141000	Equity	100	100	141000
40011000000000000000	VINAY CHANDRA SHAH	VINAY CHANDRA SHAH	Equity	600000	Equity	100	100	600000
40011000000000000000	SUBHA SIKUMARAN	SUBHA SIKUMARAN	Equity	400000	Equity	100	100	400000
40011000000000000000	S MOHANDAS RAVI SHANK	S MOHANDAS RAVI SHANK	Equity	600000	Equity	100	100	600000
40011000000000000000	REKSY KOSHY	REKSY KOSHY	Equity	400000	Equity	100	100	400000
40011000000000000000	KANTI MISHRA	KANTI MISHRA	Equity	600000	Equity	100	100	600000
40011000000000000000	J VISHWANATHAN SIVARATHI	J VISHWANATHAN SIVARATHI	Equity	141000	Equity	100	100	141000
40011000000000000000	LEENA PILLAI	LEENA PILLAI	Equity	600000	Equity	100	100	600000
40011000000000000000	HIMANU GOVIND RAMON E	HIMANU GOVIND RAMON E	Equity	600000	Equity	100	100	600000
40011000000000000000	RAGHABANATHAN D	RAGHABANATHAN D	Equity	600000	Equity	100	100	600000
40011000000000000000	SHANTA	SHANTA	Equity	600000	Equity	100	100	600000
40011000000000000000	KAMALA DEVIAM K	KAMALA DEVIAM K	Equity	600000	Equity	100	100	600000
40011000000000000000	RAGHAWARA KAO M	RAGHAWARA KAO M	Equity	600000	Equity	100	100	600000
40011000000000000000	M RAMAKRISHNAN BABU	M RAMAKRISHNAN BABU	Equity	600000	Equity	100	100	600000
40011000000000000000	PAMAMONTHY P	PAMAMONTHY P	Equity	600000	Equity	100	100	600000
40011000000000000000	MAHENDRA MANIKCHAND	MAHENDRA MANIKCHAND	Equity	600000	Equity	100	100	600000
40011000000000000000	DEVI MALA	DEVI MALA	Equity	600000	Equity	100	100	600000
40011000000000000000	P MANI DHARMAN	P MANI DHARMAN	Equity	600000	Equity	100	100	600000
40011000000000000000	MAHABALISWARAPPA E D	K KARIBASAPPA	Equity	600000	Equity	100	100	600000
40011000000000000000	V TRICHANAN MOORTHY	V TRICHANAN MOORTHY	Equity	600000	Equity	100	100	600000
40011000000000000000	DARVATI KOLLI	DARVATI KOLLI	Equity	600000	Equity	100	100	600000
40011000000000000000	SHRAGHMA SANKARANARAYAN	SHRAGHMA SANKARANARAYAN	Equity	600000	Equity	100	100	600000
40011000000000000000	ANJANA SANKARANARAYAN	ANJANA SANKARANARAYAN	Equity	600000	Equity	100	100	600000
40011000000000000000	RAJAN K V	RAJAN K V	Equity	600000	Equity	100	100	600000
40011000000000000000	D JAYASHAM	D JAYASHAM	Equity	600000	Equity	100	100	600000
40011000000000000000	P RAMANURTHY	LATE P SIDDHAPPA SETHI	Equity	600000	Equity	100	100	600000
40011000000000000000	HIMANU SANKAR	PAWAN KUMAR ABTEKAL	Equity	600000	Equity	100	100	600000
40011000000000000000	MAHESH K R SHAM	MAHESH K R SHAM	Equity	600000	Equity	100	100	600000
40011000000000000000	G. JIVITHA SHIBIRAJ	G. JIVITHA SHIBIRAJ	Equity	600000	Equity	100	100	600000
40011000000000000000	MOHAN LAL GRESTIA	SRI MOHAN LAL GRESTIA	Equity	600000	Equity	100	100	600000
40011000000000000000	K MADHAVAN	K MADHAVAN	Equity	600000	Equity	100	100	600000
40011000000000000000	PANDU BANGA BAO KOTA	PANDU BANGA BAO KOTA	Equity	600000	Equity	100	100	600000
40011000000000000000	NOBARI KHAN O BHARI	NOBARI KHAN O BHARI	Equity	600000	Equity	100	100	600000
40011000000000000000	PRASAN KUMAR DADA	PRASAN KUMAR DADA	Equity	600000	Equity	100	100	600000



TIL SECURITIES LIMITED
 214, RAGHAVA RATNA TOWERS, CHHTRAG ALI LINE, ABIDS, HYDERABAD, 500 002, IN. LG7120 F67989PLA/010188
 Fax No. : 011-26100186, 011-26100187/011-26100188/011-26100189/011-26100190/011-26100191/011-26100192/011-26100193
 Email: info@tilsecurities.com / <http://www.tilsecurities.com>

List of Total Shareholders as on: 31-03-2020

List Of Shareholders (Group) of A.L.E. 4 Integris AVHQ 31-03-2020 From: NSDL, CDSL, PHYSICAL

Company Registration No: U12543TG2018PLC000001

Sl. No.	Demat Account No.	Name	Category	Shareholding Pattern	Quantity	Type	Group Name	Share	Amount
4517	U12543TG2018PLC000001	A SHIVANI KAILASHKUMAR	RESIDENTIAL	MARRAMAL CHENDELLA, LAKSHMIPURAM	10000	Equity	AGREEMENT	100	1000
4518	U12543TG2018PLC000001	MOMO PRASAD	RESIDENTIAL	CHENNAI	10000	Equity		100	1000
4519	U12543TG2018PLC000001	K RAMAKRISHNA	RESIDENTIAL	CHENNAI	10000	Equity		100	1000
4520	U12543TG2018PLC000001	MADHUSUDHAN	RESIDENTIAL	CHENNAI	10000	Equity		100	1000
4521	U12543TG2018PLC000001	JAYASRI	RESIDENTIAL	CHENNAI	10000	Equity		100	1000
4522	U12543TG2018PLC000001	NANDINI K. SUDHAKAR	RESIDENTIAL	CHENNAI	10000	Equity		100	1000
4523	U12543TG2018PLC000001	MAVI PRADEEP	RESIDENTIAL	CHENNAI	10000	Equity		100	1000
4524	U12543TG2018PLC000001	KAVYA ANI	RESIDENTIAL	CHENNAI	10000	Equity		100	1000
4525	U12543TG2018PLC000001	SARABJI FLAMBA	RESIDENTIAL	CHENNAI	10000	Equity		100	1000
4526	U12543TG2018PLC000001	HINDIJA S. MARA SETHI	RESIDENTIAL	CHENNAI	10000	Equity		100	1000
4527	U12543TG2018PLC000001	SANTOSH K. M. CHANDRANI	RESIDENTIAL	CHENNAI	10000	Equity		100	1000
4528	U12543TG2018PLC000001	RISHI MAHESH	RESIDENTIAL	CHENNAI	10000	Equity		100	1000
4529	U12543TG2018PLC000001	SIRMALA SHARMA	RESIDENTIAL	CHENNAI	10000	Equity		100	1000
4530	U12543TG2018PLC000001	VINAY K. RAJESH SURESH	RESIDENTIAL	CHENNAI	10000	Equity		100	1000
4531	U12543TG2018PLC000001	PRASHANT R. HIRDI	RESIDENTIAL	CHENNAI	10000	Equity		100	1000
4532	U12543TG2018PLC000001	RAJESH HETEM	RESIDENTIAL	CHENNAI	10000	Equity		100	1000
4533	U12543TG2018PLC000001	AKHIL K. R. SHIVAN	RESIDENTIAL	CHENNAI	10000	Equity		100	1000
4534	U12543TG2018PLC000001	DAKSHINA S. SURESH	RESIDENTIAL	CHENNAI	10000	Equity		100	1000
4535	U12543TG2018PLC000001	AJITHA	RESIDENTIAL	CHENNAI	10000	Equity	AGREEMENT	100	1000
4536	U12543TG2018PLC000001	PRASADHANI MABELLA	RESIDENTIAL	CHENNAI	10000	Equity		100	1000
4537	U12543TG2018PLC000001	JAYASRI SAVING AND I	RESIDENTIAL	CHENNAI	10000	Equity		100	1000
4538	U12543TG2018PLC000001	MAHESH K. SURESH	RESIDENTIAL	CHENNAI	10000	Equity		100	1000
4539	U12543TG2018PLC000001	T. VIJAYAN	RESIDENTIAL	CHENNAI	10000	Equity	AGREEMENT	100	1000
4540	U12543TG2018PLC000001	SARVJYOTI RAJESH	RESIDENTIAL	CHENNAI	10000	Equity		100	1000
4541	U12543TG2018PLC000001	SHREYA JAIN	RESIDENTIAL	CHENNAI	10000	Equity		100	1000
4542	U12543TG2018PLC000001	NEETHI K. SURESH SURESH	RESIDENTIAL	CHENNAI	10000	Equity		100	1000
4543	U12543TG2018PLC000001	RAMYA ANJANASIR ANAND	RESIDENTIAL	CHENNAI	10000	Equity		100	1000
4544	U12543TG2018PLC000001	SUNITHA PARANJAN	RESIDENTIAL	CHENNAI	10000	Equity	AGREEMENT	100	1000
4545	U12543TG2018PLC000001	GAJAPRASHANTH	RESIDENTIAL	CHENNAI	10000	Equity		100	1000
4546	U12543TG2018PLC000001	JAYASRI SAVING AND I	RESIDENTIAL	CHENNAI	10000	Equity	AGREEMENT	100	1000
4547	U12543TG2018PLC000001	REKHA K. SURESH	RESIDENTIAL	CHENNAI	10000	Equity		100	1000
4548	U12543TG2018PLC000001	VIMAL P. SURESH	RESIDENTIAL	CHENNAI	10000	Equity		100	1000
4549	U12543TG2018PLC000001	ANAND K. SURESH SURESH	RESIDENTIAL	CHENNAI	10000	Equity		100	1000
4550	U12543TG2018PLC000001	A. SURESH	RESIDENTIAL	CHENNAI	10000	Equity		100	1000
4551	U12543TG2018PLC000001	A. SURESH	RESIDENTIAL	CHENNAI	10000	Equity		100	1000
4552	U12543TG2018PLC000001	RAKESH PAL KHANNA	RESIDENTIAL	CHENNAI	10000	Equity	AGREEMENT	100	1000
4553	U12543TG2018PLC000001	DR. M. K. SURESH SURESH	RESIDENTIAL	CHENNAI	10000	Equity		100	1000
4554	U12543TG2018PLC000001	V. SURESH	RESIDENTIAL	CHENNAI	10000	Equity		100	1000
4555	U12543TG2018PLC000001	V. SURESH	RESIDENTIAL	CHENNAI	10000	Equity		100	1000
4556	U12543TG2018PLC000001	V. SURESH	RESIDENTIAL	CHENNAI	10000	Equity		100	1000
4557	U12543TG2018PLC000001	V. SURESH	RESIDENTIAL	CHENNAI	10000	Equity		100	1000
4558	U12543TG2018PLC000001	V. SURESH	RESIDENTIAL	CHENNAI	10000	Equity		100	1000
4559	U12543TG2018PLC000001	V. SURESH	RESIDENTIAL	CHENNAI	10000	Equity		100	1000
4560	U12543TG2018PLC000001	V. SURESH	RESIDENTIAL	CHENNAI	10000	Equity		100	1000
4561	U12543TG2018PLC000001	V. SURESH	RESIDENTIAL	CHENNAI	10000	Equity		100	1000
4562	U12543TG2018PLC000001	V. SURESH	RESIDENTIAL	CHENNAI	10000	Equity		100	1000
4563	U12543TG2018PLC000001	V. SURESH	RESIDENTIAL	CHENNAI	10000	Equity		100	1000
4564	U12543TG2018PLC000001	V. SURESH	RESIDENTIAL	CHENNAI	10000	Equity		100	1000
4565	U12543TG2018PLC000001	V. SURESH	RESIDENTIAL	CHENNAI	10000	Equity		100	1000
4566	U12543TG2018PLC000001	V. SURESH	RESIDENTIAL	CHENNAI	10000	Equity		100	1000
4567	U12543TG2018PLC000001	V. SURESH	RESIDENTIAL	CHENNAI	10000	Equity		100	1000
4568	U12543TG2018PLC000001	V. SURESH	RESIDENTIAL	CHENNAI	10000	Equity		100	1000
4569	U12543TG2018PLC000001	V. SURESH	RESIDENTIAL	CHENNAI	10000	Equity		100	1000
4570	U12543TG2018PLC000001	V. SURESH	RESIDENTIAL	CHENNAI	10000	Equity		100	1000
4571	U12543TG2018PLC000001	V. SURESH	RESIDENTIAL	CHENNAI	10000	Equity		100	1000
4572	U12543TG2018PLC000001	V. SURESH	RESIDENTIAL	CHENNAI	10000	Equity		100	1000
4573	U12543TG2018PLC000001	V. SURESH	RESIDENTIAL	CHENNAI	10000	Equity		100	1000
4574	U12543TG2018PLC000001	V. SURESH	RESIDENTIAL	CHENNAI	10000	Equity		100	1000
4575	U12543TG2018PLC000001	V. SURESH	RESIDENTIAL	CHENNAI	10000	Equity		100	1000
4576	U12543TG2018PLC000001	V. SURESH	RESIDENTIAL	CHENNAI	10000	Equity		100	1000
4577	U12543TG2018PLC000001	V. SURESH	RESIDENTIAL	CHENNAI	10000	Equity		100	1000
4578	U12543TG2018PLC000001	V. SURESH	RESIDENTIAL	CHENNAI	10000	Equity		100	1000
4579	U12543TG2018PLC000001	V. SURESH	RESIDENTIAL	CHENNAI	10000	Equity		100	1000
4580	U12543TG2018PLC000001	V. SURESH	RESIDENTIAL	CHENNAI	10000	Equity		100	1000



WALL SECURITIES LIMITED
 214, RAGHAVA RATNA TOWERS, CHHTRAG ALI LINE, ABIDS, HYDERABAD, 500 002, IN. LG7120 F67989PL4/010188
 Fax No. : 011-26100186, 011-26100188/89/90/111/69911112 ; Tel No. :
 Email: info@wallsec.com / <http://www.wallsec.com>

List of Shareholders/Debtors as on: 31-05-2020

List Of Shareholders/Debtors of ALL 4 Segments AVDQ 31-05-2020 From NSDL, CDSL, PHYSICAL

Account No.	Name	Segment	Quantity	Type	Balance	AVDQ	Balance
						Share	
50111110000000	COCHRAI SUDIP		10000	Equity		100	1000
50111110000001	DAMINI WANI PARASA		712444	Equity		100	1000
50111110000004	DNA KAM PUNNAJAM GAD		15244	Equity		100	1000
50111110000009	VIKAS S MISHRA		10000	Equity		100	1000
50111110000010	MALINI BHATT		10000	Equity		100	1000
50111110000021	SANJAY ANAND KUMAR		10000	Equity		100	1000
50111110000022	SHANU AILU BHAM		10000	Equity		100	1000
50111110000024	AMUN SINGH		110000	Equity		100	1000
50111110000029	AJAY KUMAR CHAVHAN		110000	Equity		100	1000
50111110000031	SAVI BY DEVI SETHI		15000	Equity		100	1000
50111110000039	DARMOJ KUMAR DEPTA		110000	Equity		100	1000
50111110000041	V SARDHARAJAN		110000	Equity	ALP00001	100	1000
50111110000042	SARINDER SINGH BHAJRA		110000	Equity		100	1000
50111110000047	MAMBA JAIN		15000	Equity		100	1000
50111110000052	DEE A MADH	G-AMANDRAN NIMDE	10000	Equity	ACC20010	100	1000
50111110000053	MAI BHIDY CHHIBIKI KALL	NARASIMHA REDDY	10000	Equity	ACC20065	100	1000
50111110000057	RAHESH AGRA		10000	Equity		100	1000
50111110000059	BIJULANI		10000	Equity		100	1000
50111110000066	DEBAPATI PRASADPOD		110000	Equity		100	1000
50111110000080	RAMBHAI THAYRAJI BAR	THANBAR BHAGAD BARAY	10000	Equity		100	1000
50111110000083	MANGALA GOVRI SANOJA		10000	Equity		100	1000
50111110000088	PRADIP KUMAR GOYAL		110000	Equity		100	1000
50111110000091	SONIA KUMAR		110000	Equity		100	1000
50111110000097	MAJ A K MOOD		10000	Equity		100	1000
50111110000098	DHAR TAJDIT		10000	Equity		100	1000
50111110000100	SANJAY ANAND		10000	Equity		100	1000
50111110000112	ANBOK KUMAR WELICEL		110000	Equity		100	1000
50111110000118	DR BHARHADI RAJUL		10000	Equity		100	1000
50111110000121	IRUJ SHRIHARI		10000	Equity		100	1000
50111110000144	SHARADAN SATWARI AL		10000	Equity		100	1000
50111110000147	KJAY PATEL		10000	Equity		100	1000
50111110000150	KAVISH SINGH		10000	Equity		100	1000
50111110000151	BAKSHI RAJESH		10000	Equity		100	1000
50111110000152	DEEPA SINGH		10000	Equity		100	1000
50111110000153	DEEPA SINGH		10000	Equity		100	1000
50111110000154	VIJAY SINGH		10000	Equity		100	1000
50111110000155	VIJAY SINGH		10000	Equity		100	1000
50111110000156	VIRUP CHANDRA PANDU		10000	Equity		100	1000
50111110000157	WIPINI HINDIA JHAVERI		10000	Equity		100	1000
50111110000158	AKHILAN KIRANSHAI PSE		10000	Equity		100	1000
50111110000159	MANJUKA MALI SHAI		10000	Equity		100	1000
50111110000160	JYOTHSNA KISHORBHAI PA		10000	Equity		100	1000
50111110000177	SITAKRISHN SHAH		10000	Equity		100	1000
50111110000183	SHRESTHA V PATEL		10000	Equity		100	1000
50111110000189	KHUSHALDAS P B		121000	Equity		100	1000
50111110000190	DEEPA BHATT		10000	Equity		100	1000



TIL SECURITIES LIMITED
 214, RAGHAVA RATNA TOWERS, CHHTRAG ALI LINE, ABIDS, HYDERABAD, 500 002, IN; L67120 F671989 PL6 010188
 Pan No. : Ph002-286, 1391-40-2320, 2155/6901111/69011112; Fax No. :
 Email: info@tilsecurities.com | Tilt: <http://www.tilsecurities.com>

List of Total Shareholders as on: 31-03-2020

List Of Shareholders (Group) of A.L.E. 4 (Category A) As On 31-03-2020 From NSDL, CDSL, PHYSICAL

Company Name: TIL SECURITIES LIMITED

Sl. No.	Demat / Physical	Name	Shareholder Category	Shareholder Type	Quantity	Type	Group Name	Share	Amount
1551	PHYSICAL	T. V. S. SWAMI RAO	T. V. S. SWAMI RAO	Shareholder (Individual)	50000	Equity	AGP2724	100	1000
1552	PHYSICAL	SONI KIMAR JAIN	SONI KIMAR JAIN	Shareholder (Individual)	50000	Equity		100	1000
1553	PHYSICAL	SHARMA R.S.	J. N. SHARMA	Shareholder (Individual)	100000	Equity		100	1000
1554	PHYSICAL	MOON PAULIE	MOON PAULIE	Shareholder (Individual)	100000	Equity		100	1000
1555	PHYSICAL	K. V. RAM SRI KRISHNA RAO	V. D. GOPI RAO	Shareholder (Individual)	100000	Equity		100	1000
1556	PHYSICAL	K. R. S. P. V. S. S. S. S. S.	K. R. S. P. V. S. S. S. S.	Shareholder (Individual)	100000	Equity		100	1000
1557	PHYSICAL	NAGA SURESH DEVARAO T. D. RAMAN KISHORE	NAGA SURESH DEVARAO T. D. RAMAN KISHORE	Shareholder (Individual)	500000	Equity	AGP2724	100	1000
1558	PHYSICAL	P. P. P. P. P. P.	P. P. P. P. P. P.	Shareholder (Individual)	100000	Equity		100	1000
1559	PHYSICAL	LADU AGARWAL	LADU AGARWAL	Shareholder (Individual)	100000	Equity		100	1000
1560	PHYSICAL	K. R. K. K. K. K.	K. R. K. K. K. K.	Shareholder (Individual)	100000	Equity		100	1000
1561	PHYSICAL	RINA BHUVANESWAR	RINA BHUVANESWAR	Shareholder (Individual)	100000	Equity		100	1000
1562	PHYSICAL	DEEPA SETHI	DEEPA SETHI	Shareholder (Individual)	200000	Equity		100	1000
1563	PHYSICAL	SUDHA PRAKASH	SUDHA PRAKASH	Shareholder (Individual)	100000	Equity		100	1000
1564	PHYSICAL	IRUNJANSHI BHUSHAN PISA	IRUNJANSHI BHUSHAN PISA	Shareholder (Individual)	100000	Equity	AGP2724	100	1000
1565	PHYSICAL	CHINDA LOHITA	CHINDA LOHITA	Shareholder (Individual)	100000	Equity		100	1000
1566	PHYSICAL	ANANDHARAVAN	ANANDHARAVAN	Shareholder (Individual)	100000	Equity		100	1000
1567	PHYSICAL	RAJESH JAIN	RAJESH JAIN	Shareholder (Individual)	100000	Equity		100	1000
1568	PHYSICAL	SWEET LAD	SWEET LAD	Shareholder (Individual)	100000	Equity		100	1000
1569	PHYSICAL	SUNIL BAZZARI	SUNIL BAZZARI	Shareholder (Individual)	100000	Equity		100	1000
1570	PHYSICAL	MAHENDRA JAIN	MAHENDRA JAIN	Shareholder (Individual)	100000	Equity		100	1000
1571	PHYSICAL	GANESH VARY PRASAD P. V. S. S. S. S. S. S. S.	GANESH VARY PRASAD P. V. S. S. S. S. S. S. S.	Shareholder (Individual)	500000	Equity	AGP2724	100	1000
1572	PHYSICAL	VINAY JAIN	VINAY JAIN	Shareholder (Individual)	100000	Equity	AGP2724	100	1000
1573	PHYSICAL	KALPATI	KALPATI	Shareholder (Individual)	100000	Equity		100	1000
1574	PHYSICAL	AMANA PATEL	AMANA PATEL	Shareholder (Individual)	100000	Equity		100	1000
1575	PHYSICAL	JAYASHREE K. SHAH	K. S. S. S. S. S. S. S.	Shareholder (Individual)	100000	Equity	AGP2724	100	1000
1576	PHYSICAL	INDIRA KHAN	INDIRA KHAN	Shareholder (Individual)	100000	Equity		100	1000
1577	PHYSICAL	SHITA PATEL	SHITA PATEL	Shareholder (Individual)	100000	Equity		100	1000
1578	PHYSICAL	NAV ANANDH SHAH	NAV ANANDH SHAH	Shareholder (Individual)	100000	Equity		100	1000
1579	PHYSICAL	PINKY HANIMAL	PINKY HANIMAL	Shareholder (Individual)	100000	Equity		100	1000
1580	PHYSICAL	SHIBAN THAKUR	SHIBAN THAKUR	Shareholder (Individual)	100000	Equity		100	1000
1581	PHYSICAL	SHRUTI K. SETHI	SHRUTI K. SETHI	Shareholder (Individual)	100000	Equity		100	1000
1582	PHYSICAL	VANITA P. S. S. S.	VANITA P. S. S. S.	Shareholder (Individual)	100000	Equity		100	1000
1583	PHYSICAL	PRAGYAN R. PATEL	PRAGYAN R. PATEL	Shareholder (Individual)	100000	Equity		100	1000
1584	PHYSICAL	CHANDRA KISHAN JAIN	CHANDRA KISHAN JAIN	Shareholder (Individual)	100000	Equity		100	1000
1585	PHYSICAL	DR. P. P. P. P. P. P.	DR. P. P. P. P. P. P.	Shareholder (Individual)	100000	Equity		100	1000
1586	PHYSICAL	DIPAK BHAJAN PRAKASH	DIPAK BHAJAN PRAKASH	Shareholder (Individual)	100000	Equity		100	1000
1587	PHYSICAL	DWALI B. THAKUR	DWALI B. THAKUR	Shareholder (Individual)	100000	Equity		100	1000
1588	PHYSICAL	SATISHAI MISTRY	SATISHAI MISTRY	Shareholder (Individual)	100000	Equity		100	1000
1589	PHYSICAL	NEENSHA SURENDRASINI	NEENSHA SURENDRASINI	Shareholder (Individual)	100000	Equity		100	1000
1590	PHYSICAL	RAMSHEKHAR PRIN	RAMSHEKHAR PRIN	Shareholder (Individual)	100000	Equity		100	1000
1591	PHYSICAL	S. MADHU SUDHANA RAO	LATEK VENKATAH	Shareholder (Individual)	100000	Equity		100	1000
1592	PHYSICAL	RAGHESATHI PRASAD AGA	RAGHESATHI PRASAD AGA	Shareholder (Individual)	100000	Equity		100	1000
1593	PHYSICAL	PRATIMA KUMAR	PRATIMA KUMAR	Shareholder (Individual)	100000	Equity		100	1000
1594	PHYSICAL	SHRUTI JAIN	JAIN S. S.	Shareholder (Individual)	100000	Equity		100	1000
1595	PHYSICAL	PAKSHI BHANU	PAKSHI BHANU	Shareholder (Individual)	100000	Equity		100	1000
1596	PHYSICAL	SHRUTI PATEL	P. P. P. P. P.	Shareholder (Individual)	100000	Equity	AGP2724	100	1000



TIL SECURITIES LIMITED
 214, RAGHAVA RATNA TOWERS, CHHTRAG ALI LINE, ABIDS, HYDERABAD, 500 016, IN; L67120 F671989 PLU 010188
 Pan No. : Ph002-286, 1391-40-2320, 3155/6901111/6901112; Fax No. :
 Email: info@tilsecurities.com / <http://www.tilsecurities.com>

List of Shareholders/Debt as on: 31-03-2020

List Of Shareholders/Debtors of ALL EQUITIES AVAIL From NSDL, CDSL, PHYSICAL

ISIN	Holder Name	Quantity	Type	Units	Avail	Amount
19971000094	DESHU LANE	1000000	Equity	1000	1000	1000
19971000095	SAMBHU SANKAR	1000000	Equity	1000	1000	1000
19971000096	MEDUN PUSPILAL LUNRA	1000000	Equity	1000	1000	1000
19971000097	CHANDRA MOHIDOLE	1000000	Equity	1000	1000	1000
19971000098	OMSHRI KUMAR SUBRAJAL	1000000	Equity	1000	1000	1000
19971000099	MAA ASHUTOSH KRISHNAR	1000000	Equity	1000	1000	1000
19971000100	ATTINGAY	1000000	Equity	1000	1000	1000
19971000101	DEEPAI CHANDRA	1000000	Equity	1000	1000	1000
19971000102	ROHIT NAGI	1000000	Equity	1000	1000	1000
19971000103	RAJESH KUMAR	1000000	Equity	1000	1000	1000
19971000104	RAVI KUMAR ADARSH	1000000	Equity	1000	1000	1000
19971000105	S KUMAR SRI	1000000	Equity	1000	1000	1000
19971000106	JALAL BHAVAT	1000000	Equity	1000	1000	1000
19971000107	SHRI PRASAD	1000000	Equity	1000	1000	1000
19971000108	SARSHI KUMAR S	1000000	Equity	1000	1000	1000
19971000109	MAHARAJ	1000000	Equity	1000	1000	1000
19971000110	RAJ KUMAR DAMARU	1000000	Equity	1000	1000	1000
19971000111	RAVINDRA SRI CHANDRA	1000000	Equity	1000	1000	1000
19971000112	RAVINDRA SRI CHANDRA	1000000	Equity	1000	1000	1000
19971000113	SHRI VALLABH	1000000	Equity	1000	1000	1000
19971000114	SHRI VALLABH	1000000	Equity	1000	1000	1000
19971000115	SHRI VALLABH	1000000	Equity	1000	1000	1000
19971000116	SHRI VALLABH	1000000	Equity	1000	1000	1000
19971000117	SHRI VALLABH	1000000	Equity	1000	1000	1000
19971000118	SHRI VALLABH	1000000	Equity	1000	1000	1000
19971000119	SHRI VALLABH	1000000	Equity	1000	1000	1000
19971000120	SHRI VALLABH	1000000	Equity	1000	1000	1000
19971000121	SHRI VALLABH	1000000	Equity	1000	1000	1000
19971000122	SHRI VALLABH	1000000	Equity	1000	1000	1000
19971000123	SHRI VALLABH	1000000	Equity	1000	1000	1000
19971000124	SHRI VALLABH	1000000	Equity	1000	1000	1000
19971000125	SHRI VALLABH	1000000	Equity	1000	1000	1000
19971000126	SHRI VALLABH	1000000	Equity	1000	1000	1000
19971000127	SHRI VALLABH	1000000	Equity	1000	1000	1000
19971000128	SHRI VALLABH	1000000	Equity	1000	1000	1000
19971000129	SHRI VALLABH	1000000	Equity	1000	1000	1000
19971000130	SHRI VALLABH	1000000	Equity	1000	1000	1000
19971000131	SHRI VALLABH	1000000	Equity	1000	1000	1000
19971000132	SHRI VALLABH	1000000	Equity	1000	1000	1000
19971000133	SHRI VALLABH	1000000	Equity	1000	1000	1000
19971000134	SHRI VALLABH	1000000	Equity	1000	1000	1000
19971000135	SHRI VALLABH	1000000	Equity	1000	1000	1000
19971000136	SHRI VALLABH	1000000	Equity	1000	1000	1000
19971000137	SHRI VALLABH	1000000	Equity	1000	1000	1000
19971000138	SHRI VALLABH	1000000	Equity	1000	1000	1000
19971000139	SHRI VALLABH	1000000	Equity	1000	1000	1000
19971000140	SHRI VALLABH	1000000	Equity	1000	1000	1000
19971000141	SHRI VALLABH	1000000	Equity	1000	1000	1000
19971000142	SHRI VALLABH	1000000	Equity	1000	1000	1000
19971000143	SHRI VALLABH	1000000	Equity	1000	1000	1000
19971000144	SHRI VALLABH	1000000	Equity	1000	1000	1000
19971000145	SHRI VALLABH	1000000	Equity	1000	1000	1000
19971000146	SHRI VALLABH	1000000	Equity	1000	1000	1000
19971000147	SHRI VALLABH	1000000	Equity	1000	1000	1000
19971000148	SHRI VALLABH	1000000	Equity	1000	1000	1000
19971000149	SHRI VALLABH	1000000	Equity	1000	1000	1000
19971000150	SHRI VALLABH	1000000	Equity	1000	1000	1000
19971000151	SHRI VALLABH	1000000	Equity	1000	1000	1000
19971000152	SHRI VALLABH	1000000	Equity	1000	1000	1000
19971000153	SHRI VALLABH	1000000	Equity	1000	1000	1000
19971000154	SHRI VALLABH	1000000	Equity	1000	1000	1000
19971000155	SHRI VALLABH	1000000	Equity	1000	1000	1000
19971000156	SHRI VALLABH	1000000	Equity	1000	1000	1000
19971000157	SHRI VALLABH	1000000	Equity	1000	1000	1000
19971000158	SHRI VALLABH	1000000	Equity	1000	1000	1000
19971000159	SHRI VALLABH	1000000	Equity	1000	1000	1000
19971000160	SHRI VALLABH	1000000	Equity	1000	1000	1000
19971000161	SHRI VALLABH	1000000	Equity	1000	1000	1000
19971000162	SHRI VALLABH	1000000	Equity	1000	1000	1000
19971000163	SHRI VALLABH	1000000	Equity	1000	1000	1000
19971000164	SHRI VALLABH	1000000	Equity	1000	1000	1000
19971000165	SHRI VALLABH	1000000	Equity	1000	1000	1000
19971000166	SHRI VALLABH	1000000	Equity	1000	1000	1000
19971000167	SHRI VALLABH	1000000	Equity	1000	1000	1000
19971000168	SHRI VALLABH	1000000	Equity	1000	1000	1000
19971000169	SHRI VALLABH	1000000	Equity	1000	1000	1000
19971000170	SHRI VALLABH	1000000	Equity	1000	1000	1000
19971000171	SHRI VALLABH	1000000	Equity	1000	1000	1000
19971000172	SHRI VALLABH	1000000	Equity	1000	1000	1000
19971000173	SHRI VALLABH	1000000	Equity	1000	1000	1000
19971000174	SHRI VALLABH	1000000	Equity	1000	1000	1000
19971000175	SHRI VALLABH	1000000	Equity	1000	1000	1000
19971000176	SHRI VALLABH	1000000	Equity	1000	1000	1000
19971000177	SHRI VALLABH	1000000	Equity	1000	1000	1000
19971000178	SHRI VALLABH	1000000	Equity	1000	1000	1000
19971000179	SHRI VALLABH	1000000	Equity	1000	1000	1000
19971000180	SHRI VALLABH	1000000	Equity	1000	1000	1000
19971000181	SHRI VALLABH	1000000	Equity	1000	1000	1000
19971000182	SHRI VALLABH	1000000	Equity	1000	1000	1000
19971000183	SHRI VALLABH	1000000	Equity	1000	1000	1000
19971000184	SHRI VALLABH	1000000	Equity	1000	1000	1000
19971000185	SHRI VALLABH	1000000	Equity	1000	1000	1000
19971000186	SHRI VALLABH	1000000	Equity	1000	1000	1000
19971000187	SHRI VALLABH	1000000	Equity	1000	1000	1000
19971000188	SHRI VALLABH	1000000	Equity	1000	1000	1000
19971000189	SHRI VALLABH	1000000	Equity	1000	1000	1000
19971000190	SHRI VALLABH	1000000	Equity	1000	1000	1000
19971000191	SHRI VALLABH	1000000	Equity	1000	1000	1000
19971000192	SHRI VALLABH	1000000	Equity	1000	1000	1000
19971000193	SHRI VALLABH	1000000	Equity	1000	1000	1000
19971000194	SHRI VALLABH	1000000	Equity	1000	1000	1000
19971000195	SHRI VALLABH	1000000	Equity	1000	1000	1000
19971000196	SHRI VALLABH	1000000	Equity	1000	1000	1000
19971000197	SHRI VALLABH	1000000	Equity	1000	1000	1000
19971000198	SHRI VALLABH	1000000	Equity	1000	1000	1000
19971000199	SHRI VALLABH	1000000	Equity	1000	1000	1000
19971000200	SHRI VALLABH	1000000	Equity	1000	1000	1000



WELLS FARGO SECURITIES LIMITED
 214, RAGHAVA RATNA TOWERS, CHHTRAG ALI LINE, ABIDS, HYDRABAD, 500 002, IN; L67120 F671989 PL4 010188
 Fax No. : 91002-286, 2-91-40-2320, 2355/9901111/9911112; Tel No. :
 Email: info@wellsfargo.com / <http://www.wellsfargo.com>

List of Total Shareholders as on: 31-03-2020

List of Shareholders Brokers for A.L.E. 4 Integrates AVHQ 31-03-2020 From NSDL, CDSL, PHYSICAL

Sl. No.	Name	Company Name	Shareholding %	Quantity	Type	Share No.	AVHQ	Balance
5241	VIJAY KANTH KESAVAN	VIJAY KANTH KESAVAN	0.00000000	10000	Equity			1000
5242	PRINNA KRISHAN LAKSHMI	PRINNA KRISHAN LAKSHMI	0.00000000	10000	Equity			1000
5243	MEETHI VEDAS	MEETHI VEDAS	0.00000000	10000	Equity			1000
5244	SRINIVAS PATEL	SRINIVAS PATEL	0.00000000	10000	Equity			1000
5245	DEVIYA DEVI BAI	DEVIYA DEVI BAI	0.00000000	10000	Equity	ADYPS02		1000
5246	NATU, R. VINITA	NATU, R. VINITA	0.00000000	10000	Equity			1000
5247	SONYA NARBHAI	SONYA NARBHAI	0.00000000	10000	Equity			1000
5248	POSTHARISHYANGALUJAI	POSTHARISHYANGALUJAI	0.00000000	10000	Equity			1000
5249	AKHILAKANTHILAL DAVE	AKHILAKANTHILAL DAVE	0.00000000	10000	Equity	ACQPS01		1000
5250	SHARADHARAJI	SHARADHARAJI	0.00000000	10000	Equity			1000
5251	ZAKAT MITHALAL	ZAKAT MITHALAL	0.00000000	10000	Equity			1000
5252	HARISH KISHANLAL SHAH	HARISH KISHANLAL SHAH	0.00000000	10000	Equity			1000
5253	KESHAVAI AL SAGANLAL P	KESHAVAI AL SAGANLAL P	0.00000000	10000	Equity			1000
5254	VINOY LAKHMA BODHARAJI	VINOY LAKHMA BODHARAJI	0.00000000	10000	Equity	SHCPDRA		1000
5255	KUSUMDEVI PARMAR	KUSUMDEVI PARMAR	0.00000000	10000	Equity			1000
5256	HETAL KUMAR SHAI	HETAL KUMAR SHAI	0.00000000	10000	Equity			1000
5257	DAKSHIN DHAR	DAKSHIN DHAR	0.00000000	10000	Equity			1000
5258	SHIBHAI SHAH	SHIBHAI SHAH	0.00000000	10000	Equity			1000
5259	KRUPAL PALE	KRUPAL PALE	0.00000000	10000	Equity			1000
5260	LEENA KHURDIYA	LEENA KHURDIYA	0.00000000	10000	Equity			1000
5261	SUSHI KUMAR KAIN	SUSHI KUMAR KAIN	0.00000000	10000	Equity			1000
5262	SHWETA	SHWETA	0.00000000	10000	Equity			1000
5263	SHRISHRI SHARADHAI	SHRISHRI SHARADHAI	0.00000000	10000	Equity	AGPS276		1000
5264	DEEPAK KISHAN KOTHI	DEEPAK KISHAN KOTHI	0.00000000	10000	Equity	AMDP003		1000
5265	JANKI PANSARI	JANKI PANSARI	0.00000000	10000	Equity			1000
5266	DEEPA KHURDIYA	DEEPA KHURDIYA	0.00000000	10000	Equity	AAFPK479		1000
5267	P. SHYAM BAI	P. SHYAM BAI	0.00000000	10000	Equity			1000
5268	RIMMAGAR	RIMMAGAR	0.00000000	10000	Equity			1000
5269	PRIM LATA	PRIM LATA	0.00000000	10000	Equity			1000
5270	RIMAL KAMLESHIBHAI SHE	RIMAL KAMLESHIBHAI SHE	0.00000000	10000	Equity	PHDPS01		1000
5271	KANU SHIBHAI CHACHARABAI	KANU SHIBHAI CHACHARABAI	0.00000000	10000	Equity	AFQPS916		1000
5272	VEENA	VEENA	0.00000000	10000	Equity	AFSP0990		1000
5273			0.00000000	10000	Equity			1000
5274			0.00000000	10000	Equity			1000
5275			0.00000000	10000	Equity			1000
5276			0.00000000	10000	Equity			1000
5277			0.00000000	10000	Equity			1000
5278			0.00000000	10000	Equity			1000
5279			0.00000000	10000	Equity			1000
5280			0.00000000	10000	Equity			1000
5281			0.00000000	10000	Equity			1000
5282			0.00000000	10000	Equity			1000
5283			0.00000000	10000	Equity			1000
5284			0.00000000	10000	Equity			1000
5285			0.00000000	10000	Equity			1000
5286			0.00000000	10000	Equity			1000
5287			0.00000000	10000	Equity			1000
5288			0.00000000	10000	Equity			1000
5289			0.00000000	10000	Equity			1000
5290			0.00000000	10000	Equity			1000
5291			0.00000000	10000	Equity			1000
5292			0.00000000	10000	Equity			1000
5293			0.00000000	10000	Equity			1000
5294			0.00000000	10000	Equity			1000
5295			0.00000000	10000	Equity			1000
5296			0.00000000	10000	Equity			1000
5297			0.00000000	10000	Equity			1000
5298			0.00000000	10000	Equity			1000
5299			0.00000000	10000	Equity			1000
5300			0.00000000	10000	Equity			1000



TIL SECURITIES LIMITED
 214, RAGHAVA RATNA TOWERS, CHHTRAG ALI LINE, ABIDS, HYDERABAD, 500 004, IN. LG7120 F67989PL4/010188
 Pan No. : P0002786, T91-40-2320355/6901111/6901112, Pin No. :
 Email: info@tilsecurities.com | Tel: 0011-8011-7777 | <http://www.tilsecurities.com>

List of Total Shareholders as on: 31-03-2020

List Of Shareholders Group 1 of ALL 4 Segments As On 31-03-2020 From NSDL, CDSL, PHYSICAL

Sl. No.	Name	Quantity	Type	Group	Share	Amount
5301CX012290	DIPTI KAKWANA	100000	Equity		1000	1000
5301CX012291	PANDEYANAND DUSHI	100000	Equity		1000	1000
5301CX012292	SAVYASRINI MAKUR	100000	Equity		1000	1000
5301CX012293	MUSKUMESH KAMKAM	100000	Equity		1000	1000
5301CX012301	SURESH ANANDH RAM	100000	Equity		1000	1000
5301CX012318	ANUSH KUMAR PRASAD S	100000	Equity		1000	1000
5301CX012339	ANANTHANTHILAI ME	100000	Equity		1000	1000
5301CX012346	SHAITA R MEHTA	100000	Equity		1000	1000
5301CX012349	AHWIN R RAJATHA	100000	Equity		1000	1000
5301CX012350	SURAT SINGH YADAV	100000	Equity		1000	1000
5301CX012363	PRATAPHA PATEL	100000	Equity		1000	1000
5301CX012369	RAKESH DONGON	100000	Equity		1000	1000
5301CX012368	MR SIDDHESHVAR D VORA	100000	Equity		1000	1000
5301CX012374 (ARTX)	MAGALI AI MAHESH SHAP/MAHESH HIRAJ SHAPALI	100000	Equity	ARTX	1000	1000
5301CX012380	R. J. RATHNER	100000	Equity		1000	1000
5301CX012387	KAVIT AGROVER	100000	Equity		1000	1000
5301CX012400	RASHAN RAJ PARAKH	100000	Equity		1000	1000
5301CX012408	PERVIZ QURESHI	100000	Equity		1000	1000
5301CX012404	MANSHIJA PARWAL	100000	Equity		1000	1000
5301CX012406	LILAVANTI MEHARI	100000	Equity		1000	1000
5301CX012421	KARUNU THAWALA	100000	Equity		1000	1000
5301CX012481	PUSHPA KUMAR	100000	Equity		1000	1000
5301CX012480	KAJAWAN CHANDER	100000	Equity		1000	1000
5301CX012481	NEEMAL KUNJ SARDAR	100000	Equity		1000	1000
5301CX012491	DEEPAK KUMAR PATEL	100000	Equity		1000	1000
5301CX012492	DINAKAR P. JOSHI	100000	Equity		1000	1000
5301CX012500 (ARTX)	ANAREKUMAR CHHOMAL M CHHOMAL RADHOMAL MO	100000	Equity	ARTX	1000	1000
5301CX012501	LAKSHMIN MOHAI	100000	Equity		1000	1000
5301CX012501	IRINA CHILANI	100000	Equity		1000	1000
5301CX012504	KAMAL JI PARELLA	100000	Equity		1000	1000
5301CX012507	CHANDANAR KORTAN	100000	Equity		1000	1000
5301CX012508	KRISHNA GANDHI	100000	Equity		1000	1000
5301CX012509	*****	100000	Equity		1000	1000
5301CX012510	*****	100000	Equity		1000	1000
5301CX012511	*****	100000	Equity		1000	1000
5301CX012512	*****	100000	Equity		1000	1000
5301CX012513	*****	100000	Equity		1000	1000
5301CX012514	*****	100000	Equity		1000	1000
5301CX012515	*****	100000	Equity		1000	1000
5301CX012516	*****	100000	Equity		1000	1000
5301CX012517	*****	100000	Equity		1000	1000
5301CX012518	*****	100000	Equity		1000	1000
5301CX012519	*****	100000	Equity		1000	1000
5301CX012520	*****	100000	Equity		1000	1000
5301CX012521	*****	100000	Equity		1000	1000
5301CX012522	*****	100000	Equity		1000	1000
5301CX012523	*****	100000	Equity		1000	1000
5301CX012524	*****	100000	Equity		1000	1000
5301CX012525	*****	100000	Equity		1000	1000
5301CX012526	*****	100000	Equity		1000	1000
5301CX012527	*****	100000	Equity		1000	1000
5301CX012528	*****	100000	Equity		1000	1000
5301CX012529	*****	100000	Equity		1000	1000
5301CX012530	*****	100000	Equity		1000	1000
5301CX012531	*****	100000	Equity		1000	1000
5301CX012532	*****	100000	Equity		1000	1000
5301CX012533	*****	100000	Equity		1000	1000
5301CX012534	*****	100000	Equity		1000	1000
5301CX012535	*****	100000	Equity		1000	1000
5301CX012536	*****	100000	Equity		1000	1000
5301CX012537	*****	100000	Equity		1000	1000
5301CX012538	*****	100000	Equity		1000	1000
5301CX012539	*****	100000	Equity		1000	1000
5301CX012540	*****	100000	Equity		1000	1000
5301CX012541	*****	100000	Equity		1000	1000
5301CX012542	*****	100000	Equity		1000	1000
5301CX012543	*****	100000	Equity		1000	1000
5301CX012544	*****	100000	Equity		1000	1000
5301CX012545	*****	100000	Equity		1000	1000
5301CX012546	*****	100000	Equity		1000	1000
5301CX012547	*****	100000	Equity		1000	1000
5301CX012548	*****	100000	Equity		1000	1000
5301CX012549	*****	100000	Equity		1000	1000
5301CX012550	*****	100000	Equity		1000	1000
5301CX012551	*****	100000	Equity		1000	1000
5301CX012552	*****	100000	Equity		1000	1000
5301CX012553	*****	100000	Equity		1000	1000
5301CX012554	*****	100000	Equity		1000	1000
5301CX012555	*****	100000	Equity		1000	1000
5301CX012556	*****	100000	Equity		1000	1000
5301CX012557	*****	100000	Equity		1000	1000
5301CX012558	*****	100000	Equity		1000	1000
5301CX012559	*****	100000	Equity		1000	1000
5301CX012560	*****	100000	Equity		1000	1000
5301CX012561	*****	100000	Equity		1000	1000
5301CX012562	*****	100000	Equity		1000	1000
5301CX012563	*****	100000	Equity		1000	1000
5301CX012564	*****	100000	Equity		1000	1000
5301CX012565	*****	100000	Equity		1000	1000
5301CX012566	*****	100000	Equity		1000	1000
5301CX012567	*****	100000	Equity		1000	1000
5301CX012568	*****	100000	Equity		1000	1000
5301CX012569	*****	100000	Equity		1000	1000
5301CX012570	*****	100000	Equity		1000	1000
5301CX012571	*****	100000	Equity		1000	1000
5301CX012572	*****	100000	Equity		1000	1000
5301CX012573	*****	100000	Equity		1000	1000
5301CX012574	*****	100000	Equity		1000	1000
5301CX012575	*****	100000	Equity		1000	1000
5301CX012576	*****	100000	Equity		1000	1000
5301CX012577	*****	100000	Equity		1000	1000
5301CX012578	*****	100000	Equity		1000	1000
5301CX012579	*****	100000	Equity		1000	1000
5301CX012580	*****	100000	Equity		1000	1000
5301CX012581	*****	100000	Equity		1000	1000
5301CX012582	*****	100000	Equity		1000	1000
5301CX012583	*****	100000	Equity		1000	1000
5301CX012584	*****	100000	Equity		1000	1000
5301CX012585	*****	100000	Equity		1000	1000
5301CX012586	*****	100000	Equity		1000	1000
5301CX012587	*****	100000	Equity		1000	1000
5301CX012588	*****	100000	Equity		1000	1000
5301CX012589	*****	100000	Equity		1000	1000
5301CX012590	*****	100000	Equity		1000	1000
5301CX012591	*****	100000	Equity		1000	1000
5301CX012592	*****	100000	Equity		1000	1000
5301CX012593	*****	100000	Equity		1000	1000
5301CX012594	*****	100000	Equity		1000	1000
5301CX012595	*****	100000	Equity		1000	1000
5301CX012596	*****	100000	Equity		1000	1000
5301CX012597	*****	100000	Equity		1000	1000
5301CX012598	*****	100000	Equity		1000	1000
5301CX012599	*****	100000	Equity		1000	1000
5301CX012600	*****	100000	Equity		1000	1000



WELLS SECURITIES LIMITED
 214, RAGHAVA RATNA TOWERS, CHHTRAG ALI LINE, ABIDS, HYDRABAD, 500 006, IN; L67120 F671989 PL6 010188
 Fax No. : 91-002-286, 2991-40-2320, 2155/6991111/6991112; Tel No. :
 Email: info@wellsfargo.com / <http://www.wellsfargo.com>

List of Shareholders as on: 31-03-2020

List of Shareholders (Group) of A.L.E. 4 Segregated A/V Eq 31-03-2020 From NSDL, CDSL, PHYSICAL

ISIN	Name	Quantity	Type	Share	Amount
42710001100	KALPAJOTIAGODARA	10000	Equity	10000	1000
42710001101	KAMINI KHEERANA	10000	Equity	10000	1000
42710001102	MR MANMORA SEEMAL JAI	10000	Equity	10000	1000
42710001103	PRINLA KALIRE	10000	Equity	10000	1000
42710001104	MAHESHVAR THAKUR	10000	Equity	10000	1000
42710001105	YOGESHKUMAR POKLAPPA BHATAPPAKORSHIMPADE	10000	Equity	10000	1000
42710001106	YOGA BHADRIN	10000	Equity	10000	1000
42710001107	ASHWANI SHUKLA	10000	Equity	10000	1000
42710001108	KINDOM KANT YOKA	10000	Equity	10000	1000
42710001109	KALPESH SHUKLA	10000	Equity	10000	1000
42710001110	KAMAL SIBHAI TANKA	10000	Equity	10000	1000
42710001111	SWATI JANGDARI	10000	Equity	10000	1000
42710001112	PAHARAJ SHUKLA	10000	Equity	10000	1000
42710001113	PARBATI THAKUR	10000	Equity	10000	1000
42710001114	DIXIT SIDDHANT	10000	Equity	10000	1000
42710001115	MR PANKAJANIL MOOD	10000	Equity	10000	1000
42710001116	SHAMLI BANGA	10000	Equity	10000	1000
42710001117	ANAND KAPAL	10000	Equity	10000	1000
42710001118	DIPAK BHAGVANTH PATIL	10000	Equity	10000	1000
42710001119	DIPAK RAJULI (GRUPEE)	10000	Equity	10000	1000
42710001120	DEEPAK SHUKLA	10000	Equity	10000	1000
42710001121	KAMAL KUMAR	10000	Equity	10000	1000
42710001122	DEEPAK KUMAR	10000	Equity	10000	1000
42710001123	DEEPAK KUMAR	10000	Equity	10000	1000
42710001124	DEEPAK KUMAR	10000	Equity	10000	1000
42710001125	DEEPAK KUMAR	10000	Equity	10000	1000
42710001126	DEEPAK KUMAR	10000	Equity	10000	1000
42710001127	DEEPAK KUMAR	10000	Equity	10000	1000
42710001128	DEEPAK KUMAR	10000	Equity	10000	1000
42710001129	DEEPAK KUMAR	10000	Equity	10000	1000
42710001130	DEEPAK KUMAR	10000	Equity	10000	1000
42710001131	DEEPAK KUMAR	10000	Equity	10000	1000
42710001132	DEEPAK KUMAR	10000	Equity	10000	1000
42710001133	DEEPAK KUMAR	10000	Equity	10000	1000
42710001134	DEEPAK KUMAR	10000	Equity	10000	1000
42710001135	DEEPAK KUMAR	10000	Equity	10000	1000
42710001136	DEEPAK KUMAR	10000	Equity	10000	1000
42710001137	DEEPAK KUMAR	10000	Equity	10000	1000
42710001138	DEEPAK KUMAR	10000	Equity	10000	1000
42710001139	DEEPAK KUMAR	10000	Equity	10000	1000
42710001140	DEEPAK KUMAR	10000	Equity	10000	1000
42710001141	DEEPAK KUMAR	10000	Equity	10000	1000
42710001142	DEEPAK KUMAR	10000	Equity	10000	1000
42710001143	DEEPAK KUMAR	10000	Equity	10000	1000
42710001144	DEEPAK KUMAR	10000	Equity	10000	1000
42710001145	DEEPAK KUMAR	10000	Equity	10000	1000
42710001146	DEEPAK KUMAR	10000	Equity	10000	1000
42710001147	DEEPAK KUMAR	10000	Equity	10000	1000
42710001148	DEEPAK KUMAR	10000	Equity	10000	1000
42710001149	DEEPAK KUMAR	10000	Equity	10000	1000
42710001150	DEEPAK KUMAR	10000	Equity	10000	1000
42710001151	DEEPAK KUMAR	10000	Equity	10000	1000
42710001152	DEEPAK KUMAR	10000	Equity	10000	1000
42710001153	DEEPAK KUMAR	10000	Equity	10000	1000
42710001154	DEEPAK KUMAR	10000	Equity	10000	1000
42710001155	DEEPAK KUMAR	10000	Equity	10000	1000
42710001156	DEEPAK KUMAR	10000	Equity	10000	1000
42710001157	DEEPAK KUMAR	10000	Equity	10000	1000
42710001158	DEEPAK KUMAR	10000	Equity	10000	1000
42710001159	DEEPAK KUMAR	10000	Equity	10000	1000
42710001160	DEEPAK KUMAR	10000	Equity	10000	1000



TIL SECURITIES LIMITED
 214, RAGHAVA RATNA TOWERS, CHHTRAG ALI LINE, ABIDS, HYDRABAD, 500 016, IN. LG7120 F67989PLA/010188
 Fax No. : 0800-286, 2391-40-2320, 2355/6901111/69911112 ; Tel No. :
 Email: info@tilsecurities.com / <http://www.tilsecurities.com>

List of Shareholders/as on: 31-03-2020

List Of Shareholders/ Brokers / of ALL 4 Segments/ As On 31-03-2020 From NSDL, CDSL, PHYSICAL

ISIN	Holder's Name	Shareholder's Name	Quantity	Type	Segment	Balance
5521000103	E.P.PATIL	SHRI. ANVARNAGAL	10000	Equity		1000
5521000104	RAM DHAR MISHRA (P)	DHARANISHRIM PRASAD MISHRA	10000	Equity	ACDRDTS	1000
5521000105	RAJIBDEJ JEETRAM SHAH	RAJIB DEJ JEETRAM SHAH	10000	Equity		1000
5521000106	TRILOKHAN SINGH	TRILOKHAN SINGH S	12000	Equity		1000
5521000107	SHARADH J PATIL	SHARADH SHARADH J. PATIL	10000	Equity		1000
5521000108	UJAYSHANKAR P PATIL	UJAYSHANKAR P. PATIL	10000	Equity		1000
5521000109	VARADHAN P PATEL	VARADHAN P. PATEL	10000	Equity		1000
5521000110	VISHAKH PARASKUMAR	PARASARVINDKUMARMI	10000	Equity	DDPNS12	1000
5521000111	HIRKIRAN PARMAR	HIRKIRAN PARMAR	10000	Equity		1000
5521000112	VIMAL KUMAR KAMAL GUPTA	VIMAL KUMAR GUPTA	10000	Equity		1000
5521000113	CHITANLAKSHI SHAH	CHITANLAKSHI SHAH	10000	Equity		1000
5521000114	SHARU CHANDIA	SHARU CHANDIA	10000	Equity		1000
5521000115	SHAH PARSHANT GUNOTT	SHAH PARSHANT GUNOTT	10000	Equity		1000
5521000116	SHAH VAIBHAV SHANTAL	SHAH VAIBHAV SHANTAL	10000	Equity		1000
5521000117	RITESH PUNARHATHI	RITESH PUNARHATHI	10000	Equity		1000
5521000118	KALAVATI SHAH	KALAVATI SHAH	10000	Equity		1000
5521000119	OFF SHAW	OFF SHAW	10000	Equity		1000
5521000120	VIMAL DODAVIBHAI KAPU	DODAVIBHAI VALLEBHAI KAPU	10000	Equity	DDPNS25	1000
5521000121	RAMESHJI A PATEL	RAMESHJI A. PATEL	10000	Equity		1000
5521000122	IBRAHIM P. PANTHANI	IBRAHIM PANTHANI	10000	Equity	ADDPH41	1000
5521000123	SHARAD KUMAR KUMAR	SHARAD KUMAR KUMAR	10000	Equity	DDPNS61	1000
5521000124	DARSHI K SHARMA	DARSHI K. SHARMA	10000	Equity		1000
5521000125	OFF SHAW	OFF SHAW	10000	Equity		1000
5521000126	SHARADH J PATIL	SHARADH J. PATIL	10000	Equity		1000
5521000127	SHARADH J PATIL	SHARADH J. PATIL	10000	Equity		1000
5521000128	SHARADH J PATIL	SHARADH J. PATIL	10000	Equity		1000
5521000129	SHARADH J PATIL	SHARADH J. PATIL	10000	Equity		1000
5521000130	SHARADH J PATIL	SHARADH J. PATIL	10000	Equity		1000
5521000131	SHARADH J PATIL	SHARADH J. PATIL	10000	Equity		1000
5521000132	SHARADH J PATIL	SHARADH J. PATIL	10000	Equity		1000
5521000133	SHARADH J PATIL	SHARADH J. PATIL	10000	Equity		1000
5521000134	SHARADH J PATIL	SHARADH J. PATIL	10000	Equity		1000
5521000135	SHARADH J PATIL	SHARADH J. PATIL	10000	Equity		1000
5521000136	SHARADH J PATIL	SHARADH J. PATIL	10000	Equity		1000
5521000137	SHARADH J PATIL	SHARADH J. PATIL	10000	Equity		1000
5521000138	SHARADH J PATIL	SHARADH J. PATIL	10000	Equity		1000
5521000139	SHARADH J PATIL	SHARADH J. PATIL	10000	Equity		1000
5521000140	SHARADH J PATIL	SHARADH J. PATIL	10000	Equity		1000
5521000141	SHARADH J PATIL	SHARADH J. PATIL	10000	Equity		1000
5521000142	SHARADH J PATIL	SHARADH J. PATIL	10000	Equity		1000
5521000143	SHARADH J PATIL	SHARADH J. PATIL	10000	Equity		1000
5521000144	SHARADH J PATIL	SHARADH J. PATIL	10000	Equity		1000
5521000145	SHARADH J PATIL	SHARADH J. PATIL	10000	Equity		1000
5521000146	SHARADH J PATIL	SHARADH J. PATIL	10000	Equity		1000
5521000147	SHARADH J PATIL	SHARADH J. PATIL	10000	Equity		1000
5521000148	SHARADH J PATIL	SHARADH J. PATIL	10000	Equity		1000
5521000149	SHARADH J PATIL	SHARADH J. PATIL	10000	Equity		1000
5521000150	SHARADH J PATIL	SHARADH J. PATIL	10000	Equity		1000
5521000151	SHARADH J PATIL	SHARADH J. PATIL	10000	Equity		1000
5521000152	SHARADH J PATIL	SHARADH J. PATIL	10000	Equity		1000
5521000153	SHARADH J PATIL	SHARADH J. PATIL	10000	Equity		1000
5521000154	SHARADH J PATIL	SHARADH J. PATIL	10000	Equity		1000
5521000155	SHARADH J PATIL	SHARADH J. PATIL	10000	Equity		1000
5521000156	SHARADH J PATIL	SHARADH J. PATIL	10000	Equity		1000
5521000157	SHARADH J PATIL	SHARADH J. PATIL	10000	Equity		1000
5521000158	SHARADH J PATIL	SHARADH J. PATIL	10000	Equity		1000
5521000159	SHARADH J PATIL	SHARADH J. PATIL	10000	Equity		1000
5521000160	SHARADH J PATIL	SHARADH J. PATIL	10000	Equity		1000
5521000161	SHARADH J PATIL	SHARADH J. PATIL	10000	Equity		1000
5521000162	SHARADH J PATIL	SHARADH J. PATIL	10000	Equity		1000
5521000163	SHARADH J PATIL	SHARADH J. PATIL	10000	Equity		1000
5521000164	SHARADH J PATIL	SHARADH J. PATIL	10000	Equity		1000
5521000165	SHARADH J PATIL	SHARADH J. PATIL	10000	Equity		1000
5521000166	SHARADH J PATIL	SHARADH J. PATIL	10000	Equity		1000
5521000167	SHARADH J PATIL	SHARADH J. PATIL	10000	Equity		1000
5521000168	SHARADH J PATIL	SHARADH J. PATIL	10000	Equity		1000
5521000169	SHARADH J PATIL	SHARADH J. PATIL	10000	Equity		1000
5521000170	SHARADH J PATIL	SHARADH J. PATIL	10000	Equity		1000
5521000171	SHARADH J PATIL	SHARADH J. PATIL	10000	Equity		1000
5521000172	SHARADH J PATIL	SHARADH J. PATIL	10000	Equity		1000
5521000173	SHARADH J PATIL	SHARADH J. PATIL	10000	Equity		1000
5521000174	SHARADH J PATIL	SHARADH J. PATIL	10000	Equity		1000
5521000175	SHARADH J PATIL	SHARADH J. PATIL	10000	Equity		1000
5521000176	SHARADH J PATIL	SHARADH J. PATIL	10000	Equity		1000
5521000177	SHARADH J PATIL	SHARADH J. PATIL	10000	Equity		1000
5521000178	SHARADH J PATIL	SHARADH J. PATIL	10000	Equity		1000
5521000179	SHARADH J PATIL	SHARADH J. PATIL	10000	Equity		1000
5521000180	SHARADH J PATIL	SHARADH J. PATIL	10000	Equity		1000
5521000181	SHARADH J PATIL	SHARADH J. PATIL	10000	Equity		1000
5521000182	SHARADH J PATIL	SHARADH J. PATIL	10000	Equity		1000
5521000183	SHARADH J PATIL	SHARADH J. PATIL	10000	Equity		1000
5521000184	SHARADH J PATIL	SHARADH J. PATIL	10000	Equity		1000
5521000185	SHARADH J PATIL	SHARADH J. PATIL	10000	Equity		1000
5521000186	SHARADH J PATIL	SHARADH J. PATIL	10000	Equity		1000
5521000187	SHARADH J PATIL	SHARADH J. PATIL	10000	Equity		1000
5521000188	SHARADH J PATIL	SHARADH J. PATIL	10000	Equity		1000
5521000189	SHARADH J PATIL	SHARADH J. PATIL	10000	Equity		1000
5521000190	SHARADH J PATIL	SHARADH J. PATIL	10000	Equity		1000
5521000191	SHARADH J PATIL	SHARADH J. PATIL	10000	Equity		1000
5521000192	SHARADH J PATIL	SHARADH J. PATIL	10000	Equity		1000
5521000193	SHARADH J PATIL	SHARADH J. PATIL	10000	Equity		1000
5521000194	SHARADH J PATIL	SHARADH J. PATIL	10000	Equity		1000
5521000195	SHARADH J PATIL	SHARADH J. PATIL	10000	Equity		1000
5521000196	SHARADH J PATIL	SHARADH J. PATIL	10000	Equity		1000
5521000197	SHARADH J PATIL	SHARADH J. PATIL	10000	Equity		1000
5521000198	SHARADH J PATIL	SHARADH J. PATIL	10000	Equity		1000
5521000199	SHARADH J PATIL	SHARADH J. PATIL	10000	Equity		1000
5521000200	SHARADH J PATIL	SHARADH J. PATIL	10000	Equity		1000



TIL SECURITIES LIMITED
 214, RAGHAVA RATNA TOWERS, CHHTRAG ALI LINE, ABIDS, HYDERABAD, 500 006, IN; LG7120 F67989PLA/010188
 Pan No. : Phno: 98, 1 91 40 2320355/9901111/9901112; Fax No. :
 Email: info@tilsecurities.com / <http://www.tilsecurities.com>

List of Total Shareholders as on: 31-03-2020

List Of Shareholders Group 1 of ALL 4 Category AVDQ 31-03-2020 From NSDL, CDSL, PHYSICAL

AVDQ	AVDQ	Name	Category	Quantity	Type	Group	AVDQ	Quantity
1	2	3	4	5	6	7	8	9
556710000416		SHARDA ANA MEHTA		100000	Equity			1000
556810000000		DANDWA PARTIK		100000	Equity			1000
556910000479		SAI SACHA SURESH		100000	Equity			1000
557010000976-1045000		DANANDY SATHISHAI KJ	SATISHAI POPATLAL KJ	100000	Equity			1000
557110000448		SHARAD PARMAR		100000	Equity			1000
557210000000-07500000		DEV KANT KISHOR HANOR	KISHOR KASHOBHA DASACT	100000	Equity			1000
5573100000219		ADITHYAN PRASAD		100000	Equity			1000
5574100000254		MONIKA DALMI		100000	Equity			1000
5575100000001		MIYAN AGGARWAL	MANGARWAL	100000	Equity			1000
5576100004257		SHARDA MOHANTAR SHEL		100000	Equity			1000
5577100000240		RAJINDER SANDA		100000	Equity			1000
557810000494		RITU DALMI		100000	Equity			1000
5579100000240		HAISHI GUPTA		100000	Equity			1000
5580100004236		TIJANBA SHITALI GURJ		100000	Equity			1000
5581100004249		SHWETA SARAI		100000	Equity			1000
5582100000264		ADITHYAN KUMAR AGARWAL		100000	Equity			1000
558310000020		BAHARU MARI GADHOG		100000	Equity			1000
5584100000400-3540		SUDHIR, V. ANJI	SARITLAL GONT	100000	Equity			1000
558510000074-1000000		RAMANLAL R. PUNJARA	RANJANRUD PUNJARA	100000	Equity			1000
5586100004298		RAJYANA DEVI		100000	Equity			1000
5587100004213		PURUSHOTAMBHAI HORIC		100000	Equity			1000
5588100000372		YOGUJI ALI KHANDWA		100000	Equity			1000
5589100004232		MAGALI ALI PURUSHOTAM		100000	Equity			1000
5590100004208		ANITA GUPTA		100000	Equity			1000
5591100004200		SHARAD KUMAR		100000	Equity			1000
5592100004210		DEEPAK KUMAR CHANUDA		100000	Equity			1000
5593100004211		YATRAJA SANKHVI		100000	Equity			1000
5594100004214		DEEPAK SINGH SALIJA		100000	Equity			1000
5595100004211		SUNITI KUMAR JAIN		100000	Equity			1000
5596100004441		HIRU PAUL		100000	Equity			1000
5597100004443		DR. PRASHANTH VERMA		100000	Equity			1000
5598100004443		KHOK KUMAR SINGH		100000	Equity			1000
5599100004443		SHARAD KUMAR SINGH		100000	Equity			1000
5600100004443		SHARAD KUMAR SINGH		100000	Equity			1000
5601100004443		SHARAD KUMAR SINGH		100000	Equity			1000
5602100004443		SHARAD KUMAR SINGH		100000	Equity			1000
5603100004443		SHARAD KUMAR SINGH		100000	Equity			1000
5604100004443		SHARAD KUMAR SINGH		100000	Equity			1000
5605100004443		SHARAD KUMAR SINGH		100000	Equity			1000
5606100004443		SHARAD KUMAR SINGH		100000	Equity			1000
5607100004443		SHARAD KUMAR SINGH		100000	Equity			1000
5608100004443		SHARAD KUMAR SINGH		100000	Equity			1000
5609100004443		SHARAD KUMAR SINGH		100000	Equity			1000
5610100004443		SHARAD KUMAR SINGH		100000	Equity			1000
5611100004443		SHARAD KUMAR SINGH		100000	Equity			1000
5612100004443		SHARAD KUMAR SINGH		100000	Equity			1000
5613100004443		SHARAD KUMAR SINGH		100000	Equity			1000
5614100004443		SHARAD KUMAR SINGH		100000	Equity			1000
5615100004443		SHARAD KUMAR SINGH		100000	Equity			1000
5616100004443		SHARAD KUMAR SINGH		100000	Equity			1000
5617100004443		SHARAD KUMAR SINGH		100000	Equity			1000
5618100004443		SHARAD KUMAR SINGH		100000	Equity			1000
5619100004443		SHARAD KUMAR SINGH		100000	Equity			1000
5620100004443		SHARAD KUMAR SINGH		100000	Equity			1000
5621100004443		SHARAD KUMAR SINGH		100000	Equity			1000
5622100004443		SHARAD KUMAR SINGH		100000	Equity			1000
5623100004443		SHARAD KUMAR SINGH		100000	Equity			1000
5624100004443		SHARAD KUMAR SINGH		100000	Equity			1000
5625100004443		SHARAD KUMAR SINGH		100000	Equity			1000
5626100004443		SHARAD KUMAR SINGH		100000	Equity			1000
5627100004443		SHARAD KUMAR SINGH		100000	Equity			1000
5628100004443		SHARAD KUMAR SINGH		100000	Equity			1000
5629100004443		SHARAD KUMAR SINGH		100000	Equity			1000
5630100004443		SHARAD KUMAR SINGH		100000	Equity			1000
5631100004443		SHARAD KUMAR SINGH		100000	Equity			1000
5632100004443		SHARAD KUMAR SINGH		100000	Equity			1000
5633100004443		SHARAD KUMAR SINGH		100000	Equity			1000
5634100004443		SHARAD KUMAR SINGH		100000	Equity			1000
5635100004443		SHARAD KUMAR SINGH		100000	Equity			1000
5636100004443		SHARAD KUMAR SINGH		100000	Equity			1000
5637100004443		SHARAD KUMAR SINGH		100000	Equity			1000
5638100004443		SHARAD KUMAR SINGH		100000	Equity			1000
5639100004443		SHARAD KUMAR SINGH		100000	Equity			1000
5640100004443		SHARAD KUMAR SINGH		100000	Equity			1000
5641100004443		SHARAD KUMAR SINGH		100000	Equity			1000
5642100004443		SHARAD KUMAR SINGH		100000	Equity			1000
5643100004443		SHARAD KUMAR SINGH		100000	Equity			1000
5644100004443		SHARAD KUMAR SINGH		100000	Equity			1000
5645100004443		SHARAD KUMAR SINGH		100000	Equity			1000
5646100004443		SHARAD KUMAR SINGH		100000	Equity			1000
5647100004443		SHARAD KUMAR SINGH		100000	Equity			1000
5648100004443		SHARAD KUMAR SINGH		100000	Equity			1000
5649100004443		SHARAD KUMAR SINGH		100000	Equity			1000
5650100004443		SHARAD KUMAR SINGH		100000	Equity			1000
5651100004443		SHARAD KUMAR SINGH		100000	Equity			1000
5652100004443		SHARAD KUMAR SINGH		100000	Equity			1000
5653100004443		SHARAD KUMAR SINGH		100000	Equity			1000
5654100004443		SHARAD KUMAR SINGH		100000	Equity			1000
5655100004443		SHARAD KUMAR SINGH		100000	Equity			1000
5656100004443		SHARAD KUMAR SINGH		100000	Equity			1000
5657100004443		SHARAD KUMAR SINGH		100000	Equity			1000
5658100004443		SHARAD KUMAR SINGH		100000	Equity			1000
5659100004443		SHARAD KUMAR SINGH		100000	Equity			1000
5660100004443		SHARAD KUMAR SINGH		100000	Equity			1000
5661100004443		SHARAD KUMAR SINGH		100000	Equity			1000
5662100004443		SHARAD KUMAR SINGH		100000	Equity			1000
5663100004443		SHARAD KUMAR SINGH		100000	Equity			1000
5664100004443		SHARAD KUMAR SINGH		100000	Equity			1000
5665100004443		SHARAD KUMAR SINGH		100000	Equity			1000
5666100004443		SHARAD KUMAR SINGH		100000	Equity			1000
5667100004443		SHARAD KUMAR SINGH		100000	Equity			1000
5668100004443		SHARAD KUMAR SINGH		100000	Equity			1000
5669100004443		SHARAD KUMAR SINGH		100000	Equity			1000
5670100004443		SHARAD KUMAR SINGH		100000	Equity			1000
5671100004443		SHARAD KUMAR SINGH		100000	Equity			1000
5672100004443		SHARAD KUMAR SINGH		100000	Equity			1000
5673100004443		SHARAD KUMAR SINGH		100000	Equity			1000
5674100004443		SHARAD KUMAR SINGH		100000	Equity			1000
5675100004443		SHARAD KUMAR SINGH		100000	Equity			1000
5676100004443		SHARAD KUMAR SINGH		100000	Equity			1000
5677100004443		SHARAD KUMAR SINGH		100000	Equity			1000
5678100004443		SHARAD KUMAR SINGH		100000	Equity			1000
5679100004443		SHARAD KUMAR SINGH		100000	Equity			1000
5680100004443		SHARAD KUMAR SINGH		100000	Equity			1000
5681100004443		SHARAD KUMAR SINGH		100000	Equity			1000
5682100004443		SHARAD KUMAR SINGH		100000	Equity			1000
5683100004443		SHARAD KUMAR SINGH		100000	Equity			1000
5684100004443		SHARAD KUMAR SINGH		100000	Equity			1000
5685100004443		SHARAD KUMAR SINGH		100000	Equity			1000
5686100004443		SHARAD KUMAR SINGH		100000	Equity			1000
5687100004443		SHARAD KUMAR SINGH		100000	Equity			1000
5688100004443		SHARAD KUMAR SINGH		100000	Equity			1000
5689100004443		SHARAD KUMAR SINGH		100000	Equity			1000
5690100004443		SHARAD KUMAR SINGH		100000	Equity			1000
5691100004443		SHARAD KUMAR SINGH		100000	Equity			1000
5692100004443		SHARAD KUMAR SINGH		100000	Equity			1000
5693100004443		SHARAD KUMAR SINGH		100000	Equity			1000
5694100004443		SHARAD KUMAR SINGH		100000	Equity			1000
5695100004443		SHARAD KUMAR SINGH		100000	Equity			1000
5								



TIL SECURITIES LIMITED
 214, RAGHAVA RATNA TOWERS, CHHTRAG ALI LINE, ABIDS, HYDERABAD, 500 016, IN; L67120 F67989PLA/010188
 Pan No. : P0002786, I.T.N. No. 4320355/6901111/6901112, Tax No. :
 Email: info@tilsecurities.com | Tel: 001-40111111 | <http://www.tilsecurities.com>

List of Shareholders/Debtors as on: 31-03-2020

List Of Share/Debtors/ Depositor of ALL 4 Categories AVDQ 31-03-2020 From NSDL, CDSL, PHYSICAL

AVDQ	AVDQ	Name	Category	Quantity	Type	AVDQ	AVDQ	AVDQ
						Shares	Shares	Shares
5601	CC014441	DEEPA S S GURAJAN KADI	NSDL	100000	Equity		100	1000
5602	CC014442	MINOJA SHY RAOBINA	NSDL	100000	Equity		100	1000
5603	CC014443	SRINIVASIA	NSDL	100000	Equity		100	1000
5604	CC014444	JAMAL BHAWALI	NSDL	100000	Equity		100	1000
5605	CC014445	SHRINATH	NSDL	100000	Equity		100	1000
5606	CC014446	SHRINATH	NSDL	100000	Equity		100	1000
5607	CC014447	SHRINATH	NSDL	100000	Equity		100	1000
5608	CC014448	SHRINATH	NSDL	100000	Equity		100	1000
5609	CC014449	SHRINATH	NSDL	100000	Equity		100	1000
5610	CC014450	SHRINATH	NSDL	100000	Equity		100	1000
5611	CC014451	SHRINATH	NSDL	100000	Equity		100	1000
5612	CC014452	SHRINATH	NSDL	100000	Equity		100	1000
5613	CC014453	SHRINATH	NSDL	100000	Equity		100	1000
5614	CC014454	SHRINATH	NSDL	100000	Equity		100	1000
5615	CC014455	SHRINATH	NSDL	100000	Equity		100	1000
5616	CC014456	SHRINATH	NSDL	100000	Equity		100	1000
5617	CC014457	SHRINATH	NSDL	100000	Equity		100	1000
5618	CC014458	SHRINATH	NSDL	100000	Equity		100	1000
5619	CC014459	SHRINATH	NSDL	100000	Equity		100	1000
5620	CC014460	SHRINATH	NSDL	100000	Equity		100	1000
5621	CC014461	SHRINATH	NSDL	100000	Equity		100	1000
5622	CC014462	SHRINATH	NSDL	100000	Equity		100	1000
5623	CC014463	SHRINATH	NSDL	100000	Equity		100	1000
5624	CC014464	SHRINATH	NSDL	100000	Equity		100	1000
5625	CC014465	SHRINATH	NSDL	100000	Equity		100	1000
5626	CC014466	SHRINATH	NSDL	100000	Equity		100	1000
5627	CC014467	SHRINATH	NSDL	100000	Equity		100	1000
5628	CC014468	SHRINATH	NSDL	100000	Equity		100	1000
5629	CC014469	SHRINATH	NSDL	100000	Equity		100	1000
5630	CC014470	SHRINATH	NSDL	100000	Equity		100	1000
5631	CC014471	SHRINATH	NSDL	100000	Equity		100	1000
5632	CC014472	SHRINATH	NSDL	100000	Equity		100	1000
5633	CC014473	SHRINATH	NSDL	100000	Equity		100	1000
5634	CC014474	SHRINATH	NSDL	100000	Equity		100	1000
5635	CC014475	SHRINATH	NSDL	100000	Equity		100	1000
5636	CC014476	SHRINATH	NSDL	100000	Equity		100	1000
5637	CC014477	SHRINATH	NSDL	100000	Equity		100	1000
5638	CC014478	SHRINATH	NSDL	100000	Equity		100	1000
5639	CC014479	SHRINATH	NSDL	100000	Equity		100	1000
5640	CC014480	SHRINATH	NSDL	100000	Equity		100	1000
5641	CC014481	SHRINATH	NSDL	100000	Equity		100	1000
5642	CC014482	SHRINATH	NSDL	100000	Equity		100	1000
5643	CC014483	SHRINATH	NSDL	100000	Equity		100	1000
5644	CC014484	SHRINATH	NSDL	100000	Equity		100	1000
5645	CC014485	SHRINATH	NSDL	100000	Equity		100	1000
5646	CC014486	SHRINATH	NSDL	100000	Equity		100	1000
5647	CC014487	SHRINATH	NSDL	100000	Equity		100	1000
5648	CC014488	SHRINATH	NSDL	100000	Equity		100	1000
5649	CC014489	SHRINATH	NSDL	100000	Equity		100	1000
5650	CC014490	SHRINATH	NSDL	100000	Equity		100	1000
5651	CC014491	SHRINATH	NSDL	100000	Equity		100	1000
5652	CC014492	SHRINATH	NSDL	100000	Equity		100	1000
5653	CC014493	SHRINATH	NSDL	100000	Equity		100	1000
5654	CC014494	SHRINATH	NSDL	100000	Equity		100	1000
5655	CC014495	SHRINATH	NSDL	100000	Equity		100	1000
5656	CC014496	SHRINATH	NSDL	100000	Equity		100	1000
5657	CC014497	SHRINATH	NSDL	100000	Equity		100	1000
5658	CC014498	SHRINATH	NSDL	100000	Equity		100	1000
5659	CC014499	SHRINATH	NSDL	100000	Equity		100	1000
5660	CC014500	SHRINATH	NSDL	100000	Equity		100	1000
5661	CC014501	SHRINATH	NSDL	100000	Equity		100	1000
5662	CC014502	SHRINATH	NSDL	100000	Equity		100	1000
5663	CC014503	SHRINATH	NSDL	100000	Equity		100	1000
5664	CC014504	SHRINATH	NSDL	100000	Equity		100	1000
5665	CC014505	SHRINATH	NSDL	100000	Equity		100	1000
5666	CC014506	SHRINATH	NSDL	100000	Equity		100	1000
5667	CC014507	SHRINATH	NSDL	100000	Equity		100	1000
5668	CC014508	SHRINATH	NSDL	100000	Equity		100	1000
5669	CC014509	SHRINATH	NSDL	100000	Equity		100	1000
5670	CC014510	SHRINATH	NSDL	100000	Equity		100	1000
5671	CC014511	SHRINATH	NSDL	100000	Equity		100	1000
5672	CC014512	SHRINATH	NSDL	100000	Equity		100	1000
5673	CC014513	SHRINATH	NSDL	100000	Equity		100	1000
5674	CC014514	SHRINATH	NSDL	100000	Equity		100	1000
5675	CC014515	SHRINATH	NSDL	100000	Equity		100	1000
5676	CC014516	SHRINATH	NSDL	100000	Equity		100	1000
5677	CC014517	SHRINATH	NSDL	100000	Equity		100	1000
5678	CC014518	SHRINATH	NSDL	100000	Equity		100	1000
5679	CC014519	SHRINATH	NSDL	100000	Equity		100	1000
5680	CC014520	SHRINATH	NSDL	100000	Equity		100	1000
5681	CC014521	SHRINATH	NSDL	100000	Equity		100	1000
5682	CC014522	SHRINATH	NSDL	100000	Equity		100	1000
5683	CC014523	SHRINATH	NSDL	100000	Equity		100	1000
5684	CC014524	SHRINATH	NSDL	100000	Equity		100	1000
5685	CC014525	SHRINATH	NSDL	100000	Equity		100	1000
5686	CC014526	SHRINATH	NSDL	100000	Equity		100	1000
5687	CC014527	SHRINATH	NSDL	100000	Equity		100	1000
5688	CC014528	SHRINATH	NSDL	100000	Equity		100	1000
5689	CC014529	SHRINATH	NSDL	100000	Equity		100	1000
5690	CC014530	SHRINATH	NSDL	100000	Equity		100	1000



TIL SECURITIES LIMITED
 214, RAGHAVA RATNA TOWERS, CHHTRAG ALI LINE, ABIDS, HYDERABAD, 500 002, IN. LG7120 F67989PLA/010188
 Fax No. : 01000-286, 2391-40-2320, 2325/6901111/6901112 ; Tel No. :
 Email: info@tilsecurities.com / <http://www.tilsecurities.com>

List of Total Shareholders as on : 31-03-2020

List Of Shareholders (Group) of ALL 4 Segments AVDQ 31-03-2020 From NSDL, CDSL, PHYSICAL

Sl. No.	Name	Quantity	Type	Share %	AVDQ	Amount
56571000000001	QUN KUNIA LWA	100000	Equity	100		1000
56571000000002	KAREN MATHIAS	100000	Equity	100		1000
56571000000003	KATANA R MANJAT A	100000	Equity	100	APPT210	1000
56571000000004	KAMALAN MAJANTHAI	100000	Equity	100		1000
56571000000005	KATON S V	100000	Equity	100		1000
56571000000006	KATON S V	100000	Equity	100		1000
56571000000007	KATON S V	100000	Equity	100		1000
56571000000008	KATON S V	100000	Equity	100		1000
56571000000009	KATON S V	100000	Equity	100		1000
56571000000010	KATON S V	100000	Equity	100		1000
56571000000011	KATON S V	100000	Equity	100		1000
56571000000012	KATON S V	100000	Equity	100		1000
56571000000013	KATON S V	100000	Equity	100		1000
56571000000014	KATON S V	100000	Equity	100		1000
56571000000015	KATON S V	100000	Equity	100		1000
56571000000016	KATON S V	100000	Equity	100		1000
56571000000017	KATON S V	100000	Equity	100		1000
56571000000018	KATON S V	100000	Equity	100		1000
56571000000019	KATON S V	100000	Equity	100		1000
56571000000020	KATON S V	100000	Equity	100		1000
56571000000021	KATON S V	100000	Equity	100		1000
56571000000022	KATON S V	100000	Equity	100		1000
56571000000023	KATON S V	100000	Equity	100		1000
56571000000024	KATON S V	100000	Equity	100		1000
56571000000025	KATON S V	100000	Equity	100		1000
56571000000026	KATON S V	100000	Equity	100		1000
56571000000027	KATON S V	100000	Equity	100		1000
56571000000028	KATON S V	100000	Equity	100		1000
56571000000029	KATON S V	100000	Equity	100		1000
56571000000030	KATON S V	100000	Equity	100		1000
56571000000031	KATON S V	100000	Equity	100		1000
56571000000032	KATON S V	100000	Equity	100		1000
56571000000033	KATON S V	100000	Equity	100		1000
56571000000034	KATON S V	100000	Equity	100		1000
56571000000035	KATON S V	100000	Equity	100		1000
56571000000036	KATON S V	100000	Equity	100		1000
56571000000037	KATON S V	100000	Equity	100		1000
56571000000038	KATON S V	100000	Equity	100		1000
56571000000039	KATON S V	100000	Equity	100		1000
56571000000040	KATON S V	100000	Equity	100		1000
56571000000041	KATON S V	100000	Equity	100		1000
56571000000042	KATON S V	100000	Equity	100		1000
56571000000043	KATON S V	100000	Equity	100		1000
56571000000044	KATON S V	100000	Equity	100		1000
56571000000045	KATON S V	100000	Equity	100		1000
56571000000046	KATON S V	100000	Equity	100		1000
56571000000047	KATON S V	100000	Equity	100		1000
56571000000048	KATON S V	100000	Equity	100		1000
56571000000049	KATON S V	100000	Equity	100		1000
56571000000050	KATON S V	100000	Equity	100		1000
56571000000051	KATON S V	100000	Equity	100		1000
56571000000052	KATON S V	100000	Equity	100		1000
56571000000053	KATON S V	100000	Equity	100		1000
56571000000054	KATON S V	100000	Equity	100		1000
56571000000055	KATON S V	100000	Equity	100		1000
56571000000056	KATON S V	100000	Equity	100		1000
56571000000057	KATON S V	100000	Equity	100		1000
56571000000058	KATON S V	100000	Equity	100		1000
56571000000059	KATON S V	100000	Equity	100		1000
56571000000060	KATON S V	100000	Equity	100		1000
56571000000061	KATON S V	100000	Equity	100		1000
56571000000062	KATON S V	100000	Equity	100		1000
56571000000063	KATON S V	100000	Equity	100		1000
56571000000064	KATON S V	100000	Equity	100		1000
56571000000065	KATON S V	100000	Equity	100		1000
56571000000066	KATON S V	100000	Equity	100		1000
56571000000067	KATON S V	100000	Equity	100		1000
56571000000068	KATON S V	100000	Equity	100		1000
56571000000069	KATON S V	100000	Equity	100		1000
56571000000070	KATON S V	100000	Equity	100		1000
56571000000071	KATON S V	100000	Equity	100		1000
56571000000072	KATON S V	100000	Equity	100		1000
56571000000073	KATON S V	100000	Equity	100		1000
56571000000074	KATON S V	100000	Equity	100		1000
56571000000075	KATON S V	100000	Equity	100		1000
56571000000076	KATON S V	100000	Equity	100		1000
56571000000077	KATON S V	100000	Equity	100		1000
56571000000078	KATON S V	100000	Equity	100		1000
56571000000079	KATON S V	100000	Equity	100		1000
56571000000080	KATON S V	100000	Equity	100		1000
56571000000081	KATON S V	100000	Equity	100		1000
56571000000082	KATON S V	100000	Equity	100		1000
56571000000083	KATON S V	100000	Equity	100		1000
56571000000084	KATON S V	100000	Equity	100		1000
56571000000085	KATON S V	100000	Equity	100		1000
56571000000086	KATON S V	100000	Equity	100		1000
56571000000087	KATON S V	100000	Equity	100		1000
56571000000088	KATON S V	100000	Equity	100		1000
56571000000089	KATON S V	100000	Equity	100		1000
56571000000090	KATON S V	100000	Equity	100		1000
56571000000091	KATON S V	100000	Equity	100		1000
56571000000092	KATON S V	100000	Equity	100		1000
56571000000093	KATON S V	100000	Equity	100		1000
56571000000094	KATON S V	100000	Equity	100		1000
56571000000095	KATON S V	100000	Equity	100		1000
56571000000096	KATON S V	100000	Equity	100		1000
56571000000097	KATON S V	100000	Equity	100		1000
56571000000098	KATON S V	100000	Equity	100		1000
56571000000099	KATON S V	100000	Equity	100		1000
56571000000100	KATON S V	100000	Equity	100		1000



TIL SECURITIES LIMITED
214, RAGHAVA RATNA TOWERS, CHHTRAG ALI LANE, ABIDS, HYDRABAD, 500 002, IN; LG7120 F67989PLA/010188
For No. : PH002-186, 1-91-40-2320355/6901111/69911112 - For No. :
Email: info@tilsecurities.com / Tel: <http://www.tilsecurities.com>

List of Total Shareholders as on: 31-03-2020

List of Shareholders Types of All E-Logins AVDQ 31-03-2020 From NSDL, CDSL, PHYSICAL

AVDQ	Name	Quantity	Type	AVDQ	Quantity
4201CC0101500	SHANKER LAL PREMSEKHA	400000	Equity		1000
4201CC0101501	NARMADEE L RUPAREE	400000	Equity		1000
4201CC0101502	RADH CAJEETA	400000	Equity		1000
4201CC0101503	PRAVEEN DOSE	400000	Equity		1000
4201CC0101504	A C SEKH	400000	Equity		1000
4201CC0101505	ASHI KANDEAL SHAR	400000	Equity		1000
4201CC0101506	NAKARASHI Y	400000	Equity		1000
4201CC0101507	AKHIND B JARMA	400000	Equity		1000
4212IN000101002452	KAMINDRA MAMELAPATI	400000	Equity	ADOPTEE	1000
4212IN000101002453	NILAM KEDIA	400000	Equity	ADOPTEE	1000
4212IN000101002454	DHEEVY BHARIN	400000	Equity		1000
4212IN000101002455	ARVIND JANABAN SHAW	400000	Equity		1000
4212IN000101002456	RADHA PUNJABI	400000	Equity		1000
4212IN000101002457	AYE BHARAT PARCHORE	400000	Equity		1000
4212IN000101002458	ANJALI ANIRUDHATRAKH	400000	Equity		1000
4212IN000101002459	DIANA HANOTI	400000	Equity		1000
4212IN000101002460	UMA SYAU	400000	Equity	ADOPTEE	1000
4212IN000101002461	INDRANI JANDRA PANTYU	400000	Equity		1000
4212IN000101002462	KAMINI JIANNI JIANNI D	400000	Equity		1000
4212IN000101002463	PUSHPABEN DALAL	400000	Equity		1000
4212IN000101002464	ISHRIVAS BHAI	400000	Equity		1000
4212IN000101002465	DHAYIKA KUMAR SHUKH	400000	Equity		1000
4212IN000101002466	DR BHARSHI B SAVAIA	400000	Equity	ADOPTEE	1000
4212IN000101002467	DHARAT N SHAH	400000	Equity		1000
4212IN000101002468	INDIRA JARASHI JENDRO	400000	Equity	ADOPTEE	1000
4212IN000101002469	MAHINHA HANMUKHAY D	400000	Equity	ADOPTEE	1000
4212IN000101002470	BHABHAVIN DHARMDAR D	400000	Equity		1000
4212IN000101002471	ANIL SURINSHAL CHANDER	400000	Equity		1000
4212IN000101002472	RAVINDRA MARGA	400000	Equity		1000
4212IN000101002473	NEEL JATIHMANI L DOSE	400000	Equity		1000
4212IN000101002474	DHARATI KASHYAP KUMAR B	400000	Equity		1000
4212IN000101002475	NARASIMHA LADHAI KOTH	400000	Equity		1000
4212IN000101002476	DRUPA PRATIAPATI	400000	Equity		1000
4212IN000101002477	SHRUTI SHARMA MISHRA	400000	Equity		1000
4212IN000101002478	SUBHINSHI	400000	Equity		1000
4212IN000101002479	RAJESH NAWATHI	400000	Equity		1000
4212IN000101002480	AMITA NAWATHI	400000	Equity		1000
4212IN000101002481	BHABHESHAMAR BHATE	400000	Equity		1000
4212IN000101002482	MITAL UDAY NAIK	400000	Equity		1000
4212IN000101002483	SHREYAS PATILANI	400000	Equity		1000
4212IN000101002484	JAYANISH KUMARI YADAV	400000	Equity		1000
4212IN000101002485	MANSUKH LAL MISHRA D SH	400000	Equity		1000
4212IN000101002486	KISHORE CHAURAHU PARI	400000	Equity		1000
4212IN000101002487	JYOTI ESHOB BHUSARU	400000	Equity		1000
4212IN000101002488	MR DIPESH KUMAR SHAR	400000	Equity		1000
4212IN000101002489	RAJ PABHU	400000	Equity		1000



WELLS SECURITIES LIMITED
214, RAGHAVA RATNA TOWERS, CHHTRAG ALI LANE, ABIDS, HYDERABAD, 500 002, IN; L67120 F671989 PL 6/10188
Pin No. : Ph002-286, 2391-40-2320, 3155/69901111/69911112; Fax No. :
Email: info@wellsfargo.com (E-Id) <http://www.wellsfargo.com>

List of Total Shareholders as on: 31-03-2020

List Of Shareholders (Group) of A.L.E. 4 Integrals AVHq 31-03-2020 From NSDL, CDSL, PHYSICAL

ISIN	Holder Name	Share Type	Quantity	Share Type	Share Value	Share Value
47511CC00000	PRASAD K VILU J	Equity	1000			1000
47521CC00000	BANUJAY MANIKALAKAR	Equity	1000			1000
47531CC00000	ADVAITE GANJ	Equity	1000			1000
47541CC00000	PINKU D DSHI	Equity	1000			1000
47551CC00000	DEEPA SBAJJI	Equity	1000			1000
47561CC00000	SMI ADITYA S	Equity	1000			1000
47571CC00000	MANU ADIVILHATI	Equity	1000			1000
47581CC00000	MANU KADAV	Equity	1000			1000
47591CC00000	S S WARRALATHA	Equity	1000			1000
47601CC00000	PAROJI BINA (PAROJI PAROJI)	Equity	1000			1000
47611CC00000	DHINITH MANUSHILAL SHA	Equity	1000			1000
47621CC00000	SHAH DIVYENORA MANUSUKH	Equity	1000			1000
47631CC00000	KARUNY SUTTI (RAJ RAGHAW SETHI)	Equity	1000			1000
47641CC00000	PREMALATHA	Equity	1000			1000
47651CC00000	SHIVAJI KARNI	Equity	1000			1000
47661CC00000	VENKATASHI SUNDEGAMME	Equity	1000			1000
47671CC00000	RAJANISH	Equity	1000			1000
47681CC00000	JE MOHANESH SUTHAN	Equity	1000			1000
47691CC00000	VENKATASHANKAR BANDE	Equity	1000			1000
47701CC00000	KANURUPY SUNDHAR BE	Equity	1000			1000
47711CC00000	JITHU ANRACI JAMALLA	Equity	1000			1000
47721CC00000	KIRIT BHANU (SANDEEP KUMAR BHANU)	Equity	1000			1000
47731CC00000	SATYANARAYAN MAHESH	Equity	1000			1000
47741CC00000	VENKATISHWARLAK	Equity	1000			1000
47751CC00000	KUMAR SHINDY S	Equity	1000			1000
47761CC00000	VIJAYA KUNJAR P	Equity	1000			1000
47771CC00000	HONAY JOBI	Equity	1000			1000
47781CC00000	DEVI PMAVITY	Equity	1000			1000
47791CC00000	SHATHA	Equity	1000			1000
47801CC00000	MIRHALLI BHAS	Equity	1000			1000
47811CC00000	VENKATISH KULKARNI	Equity	1000			1000
47821CC00000	SANDEEPUNA PASUPULETI	Equity	1000			1000
47831CC00000	DHARMAVITHANANATH	Equity	1000			1000
47841CC00000	RAJESH K VISWA	Equity	1000			1000
47851CC00000	S PALLAVI DSHI	Equity	1000			1000
47861CC00000	AZMATSHARIF	Equity	1000			1000
47871CC00000	JATHA K RUPAKA	Equity	1000			1000
47881CC00000	MAHA RAJY	Equity	1000			1000
47891CC00000	PADMANABHAN SURESH	Equity	1000			1000
47901CC00000	LAKSHMI KANA	Equity	1000			1000
47911CC00000	JANMIBAL C (SUDANSHU C)	Equity	1000			1000
47921CC00000	DEVANITHI EDIVELLE	Equity	1000			1000
47931CC00000	VIDALASA BRAMANIAN	Equity	1000			1000
47941CC00000	S KAMARSHI	Equity	1000			1000
47951CC00000	ARUL R	Equity	1000			1000
47961CC00000	SRINIVASULU B	Equity	1000			1000



TIL SECURITIES LIMITED
 214, RAGHAVA RATNA TOWERS, CHHTRAG ALI LINE, ABIDS, HYDRABAD, 500 006, IN; LG7120 F67989PLA/010188
 Fax No. : 01000-286, 1-91-40-23203155/6901111/69011112; Tel No. :
 Email: info@tilsecurities.com / <http://www.tilsecurities.com>

List of Total Shareholders as on: 31-03-2020

List Of Shareholders (Promoters) of ALL 4 Segments As On 31-03-2020 From NSDL, CDSL, PHYSICAL

Sl. No.	Name	Shareholder Type	Shareholding Pattern	Quantity	Type	Share No.	APIN	Balance
							Share	
3021	GANPAI CHAITA	Individual	Equity	100	Equity			1000
3022	ASHOK V SHAM	Individual	Equity	100	Equity			1000
3023	SOMAJ NAROTAM BHAI VA	Individual	Equity	100	Equity			1000
3024	SANJIV SHAMALAKSHI PARI	Individual	Equity	100	Equity			1000
3025	PRANAV G SUDH	Individual	Equity	100	Equity			1000
3026	M BHARATI K CHANDRAN	Individual	Equity	100	Equity			1000
3027	JASWANTHUN BHOGAL A M	Individual	Equity	100	Equity			1000
3028	VIRENDRA KUMAR OUPA	Individual	Equity	100	Equity			1000
3029	KAJ KUMAR BOLINA	Individual	Equity	100	Equity			1000
3030	SURYASHY BHARTI	Individual	Equity	100	Equity			1000
3031	CHINTAN TUNHAR PATIL	Individual	Equity	100	Equity			1000
3032	VANDANA SUREA	Individual	Equity	100	Equity			1000
3033	PRADYUMN HARIPRASA	Individual	Equity	100	Equity			1000
3034	P K ANAGADHARAN	Individual	Equity	100	Equity			1000
3035	LAVITA NEHA CHANDAN	Individual	Equity	100	Equity			1000
3036	VAHINI CHAITRANJALI	Individual	Equity	100	Equity			1000
3037	VANDANA SINDHA	Individual	Equity	100	Equity			1000
3038	AKSHI MADHUSHAH	Individual	Equity	100	Equity			1000
3039	SONAL ANSHOKKUMAR JOSHI	Individual	Equity	100	Equity			1000
3040	URVA BHITA	Individual	Equity	100	Equity			1000
3041	SANYUKTA MIAH	Individual	Equity	100	Equity			1000
3042	DINAKH VAMAWALA	Individual	Equity	100	Equity			1000
3043	DEVINDER S ANSI	Individual	Equity	100	Equity			1000
3044	PINAKH MIAH	Individual	Equity	100	Equity			1000
3045	JAY ANSHUJA KUNJIBHAI	Individual	Equity	100	Equity			1000
3046	SHRUPANNA SHANKARREK	Individual	Equity	100	Equity			1000
3047	ADITHYAN KUMAR BHAI	Individual	Equity	100	Equity			1000
3048	ANURAGAN PATEL	Individual	Equity	100	Equity			1000
3049	PADMAVATHI K	Individual	Equity	100	Equity			1000
3050	AKLA BHU PENORA SHAM	Individual	Equity	100	Equity			1000
3051	SHRUTI ANURAGKUMAR	Individual	Equity	100	Equity			1000
3052	CHITRA KANAKA VOY	Individual	Equity	100	Equity			1000
3053	SHRIPANNA BHARTIYA	Individual	Equity	100	Equity			1000
3054	DEVI SHRI	Individual	Equity	100	Equity			1000
3055	ANUSHYVA SURESH	Individual	Equity	100	Equity			1000
3056	PANJAL KUMAR BISWAS	Individual	Equity	100	Equity			1000
3057	ANAMI DUTTA	Individual	Equity	100	Equity			1000
3058	RAJESH KUMAR KANDOL	Individual	Equity	100	Equity			1000
3059	KANHE KUMAR BISHWAL	Individual	Equity	100	Equity			1000
3060	DEEPTA SARAS ANAN	Individual	Equity	100	Equity			1000
3061	ISHU SAGIYA	Individual	Equity	100	Equity			1000
3062	DEBAPRAJ MAREK	Individual	Equity	100	Equity			1000
3063	ANANTH KUMAR SRINIVA	Individual	Equity	100	Equity			1000
3064	SRI LALITHA K	Individual	Equity	100	Equity			1000
3065	GAJ KUMAR CHANDAK	Individual	Equity	100	Equity			1000
3066	SRINIVAS	Individual	Equity	100	Equity			1000



WALL SECURITIES LIMITED
 214, RAGHAVA RATNA TOWERS, CHHTRAG ALI LINE, ABIDS, HYDERABAD, 500 016, IN; L67120 F671989 PLU/010188
 Pan No. : P0002786, T991-40-23203155/6901111/69911112 - Pan No. :
 Email: info@wallsecurities.com | Tel: 001-800-77-9999 | <http://www.wallsecurities.com>

List of Shareholders/Debtors as on: 31-03-2020

List Of Share/Debtors Brokers / of ALL 4 categories AVDQ 31-03-2020 From NSDL, CDSL, PHYSICAL

1. NSDL
 2. CDSL
 3. PHYSICAL

AVDQ	Share/Debtors	Name	Category	Quantity	Type	Broker	AVDQ	Quantity
							Share	
AVDQ00000000		SHARU TALASOMASI	NSDL	100	Equity			100
AVDQ00000012		BAJENDRA KUMAR AN	CDSL	100	Equity			100
AVDQ00000013		PUSHPHOTAM LIL SHARMA	NSDL	100	Equity			100
AVDQ00000022		ASHISH GUPTA	NSDL	100	Equity			100
AVDQ00000034		MADHUS KUMAR GUPTA	NSDL	100	Equity			100
AVDQ00000036		DEEPAK NIGRAHI	NSDL	100	Equity			100
AVDQ00000039		RAWAN GUPTA	NSDL	100	Equity			100
AVDQ00000042		VIDYALAKSHMI DEVI	NSDL	100	Equity			100
AVDQ00000043		DESIKH CHANDI MARMMA	NSDL	100	Equity			100
AVDQ00000047		KAMUJI KUMAR	NSDL	100	Equity			100
AVDQ00000051		CHITRA VARMA	NSDL	100	Equity			100
AVDQ00000054		MADAN SINGH	NSDL	100	Equity			100
AVDQ00000057		PAVAN KUMAR SAHAI	NSDL	100	Equity			100
AVDQ00000066		SUBHIR MAHESHWARI	NSDL	100	Equity			100
AVDQ00000067		UPHAKANT AGRAWAL	NSDL	100	Equity			100
AVDQ00000068		DAYA SHARMA	NSDL	100	Equity			100
AVDQ00000069		ANITA AGRAWAL	NSDL	100	Equity			100
AVDQ00000070		CHANDRANIL AMRIT GUPTA	NSDL	100	Equity			100
AVDQ00000071		SHIJI MEYI	NSDL	100	Equity			100
AVDQ00000075		ANUPRA AGRAWAL	NSDL	100	Equity			100
AVDQ00000076		LOKESH VERMA	NSDL	100	Equity			100
AVDQ00000077		ANITA SARAWATI	NSDL	100	Equity			100
AVDQ00000078		ADWAKASH SWAMI	NSDL	100	Equity			100
AVDQ00000079		LEKH KATHIYAN	NSDL	100	Equity			100
AVDQ00000080		RAJENDRA KUMAR	NSDL	100	Equity			100
AVDQ00000081		PALCHANDRA KAU	NSDL	100	Equity			100
AVDQ00000082		SAPNA SHEKHA	NSDL	100	Equity			100
AVDQ00000083		PRENATI KALA	NSDL	100	Equity			100
AVDQ00000084		JAYDAR DEVI AGRAWAL	NSDL	100	Equity			100
AVDQ00000085		ANITA KUMAR PAPER	NSDL	100	Equity			100
AVDQ00000086		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000087		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000088		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000089		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000090		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000091		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000092		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000093		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000094		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000095		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000096		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000097		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000098		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000099		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000100		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000101		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000102		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000103		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000104		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000105		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000106		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000107		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000108		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000109		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000110		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000111		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000112		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000113		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000114		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000115		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000116		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000117		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000118		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000119		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000120		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000121		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000122		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000123		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000124		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000125		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000126		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000127		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000128		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000129		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000130		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000131		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000132		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000133		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000134		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000135		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000136		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000137		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000138		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000139		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000140		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000141		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000142		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000143		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000144		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000145		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000146		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000147		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000148		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000149		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000150		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000151		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000152		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000153		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000154		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000155		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000156		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000157		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000158		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000159		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000160		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000161		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000162		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000163		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000164		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000165		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000166		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000167		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000168		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000169		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000170		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000171		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000172		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000173		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000174		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000175		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000176		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000177		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000178		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000179		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000180		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000181		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000182		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000183		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000184		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000185		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000186		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000187		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000188		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000189		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000190		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000191		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000192		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000193		ANITA KUMAR	NSDL	100	Equity			100
AVDQ00000194		ANITA KUMAR	NSDL	100	Equity			100



TIL SECURITIES LIMITED
 214, RAGHAVA RATNA TOWERS, CHHTRAG ALI LINE, ABIDS, HYDRABAD, 500 006, IN; L67120 F67989 PL6 010188
 Pan No. : P0002786, ITCIN-40-2320355/6901111/6901112; Pan No. :
 Email: info@tilsecurities.com | Tel: <http://www.tilsecurities.com>

List of Total Shareholders as on: 31-03-2020

List Of Shareholders (Promoters) of A.L.E. 4 Integrates AVHQ 31-03-2020 From NSDL, CDSL, PHYSICAL

Sl. No.	Name	Share	Quantity	Type	Share %	Amount
5095	SRINIVASA KRISHNAIAH	1000000	1000000	Equity	100	1000
5096	PRAVINKUMAR KATINDAL	1000000	1000000	Equity	100	1000
5097	SANJEEV KOTDIRAJ	1000000	1000000	Equity	100	1000
5098	GAURAV JOSHIPURIA	1000000	1000000	Equity	100	1000
5099	SURESH SIVARAMA	1000000	1000000	Equity	100	1000
5100	SUDHANVA S SAIKH	1000000	1000000	Equity	100	1000
5101	RIJATH KISHAN	1000000	1000000	Equity	100	1000
5102	LOKESH KRISHNAIAH (L. KOTIRAMU L)	1000000	1000000	Equity	100	1000
5103	ROKIBEN HIRABHAI PATE	1000000	1000000	Equity	100	1000
5104	SURESHBABU PAVANOLA (PAVINSHANMUKA CHITTA)	1000000	1000000	Equity	100	1000
5105	SHARIF SALIMOHAMMAD	1000000	1000000	Equity	100	1000
5106	RAMSUDHAN SAIPOOJA	1000000	1000000	Equity	100	1000
5107	MADHUSRI DASARI	1000000	1000000	Equity	100	1000
5108	VEDENMATH	1000000	1000000	Equity	100	1000
5109	GRANDE LAJESH D PALHEA	1000000	1000000	Equity	100	1000
5110	SANDEEP S JAVANI	1000000	1000000	Equity	100	1000
5111	SALIM YOUSUF BAKAR	1000000	1000000	Equity	100	1000
5112	MADHULAL SHARMA	1000000	1000000	Equity	100	1000
5113	SHARAD KADYAMBA	1000000	1000000	Equity	100	1000
5114	DEEPA SANKHARJI	1000000	1000000	Equity	100	1000
5115	PARTHA SURESH	1000000	1000000	Equity	100	1000
5116	PRAVINKUMAR HIRANSA	1000000	1000000	Equity	100	1000
5117	JADUPURUSH	1000000	1000000	Equity	100	1000
5118	DEEPA SURESH	1000000	1000000	Equity	100	1000
5119	MAHINA HEMANTH	1000000	1000000	Equity	100	1000
5120	HETUNORA KUMAR MANE	1000000	1000000	Equity	100	1000
5121	HIRANSHI NINAKUM	1000000	1000000	Equity	100	1000
5122	ANVITHA KAVANI	1000000	1000000	Equity	100	1000
5123	HIRUPATHI NINGALA	1000000	1000000	Equity	100	1000
5124	RUPANANDI VOHRA	1000000	1000000	Equity	100	1000
5125	RIHARAT MOHA	1000000	1000000	Equity	100	1000
5126	RAJANISHI VADHER	1000000	1000000	Equity	100	1000
5127	PANDEY SAKHARI	1000000	1000000	Equity	100	1000
5128	SHRUTI VASAVYANI VEDA	1000000	1000000	Equity	100	1000
5129	DEEPA SURESH	1000000	1000000	Equity	100	1000
5130	SNHIA MOHINIKA NAVAN	1000000	1000000	Equity	100	1000
5131	KATHIRAN HAJI TANI	1000000	1000000	Equity	100	1000
5132	ROHITH KUMAR ABINAVI	1000000	1000000	Equity	100	1000
5133	PARSHVINTHAKR MOHITA	1000000	1000000	Equity	100	1000
5134	AMINA YOUSUF NAKHILAN	1000000	1000000	Equity	100	1000
5135	PRANVA KANWAR MOHTI	1000000	1000000	Equity	100	1000
5136	AMER KAMARU	1000000	1000000	Equity	100	1000
5137	KANCIAN JERRARA	1000000	1000000	Equity	100	1000
5138	INDU MATI CHAVDA	1000000	1000000	Equity	100	1000
5139	HARSHAKUMAR PADRA	1000000	1000000	Equity	100	1000
5140	YOUNUSALI	1000000	1000000	Equity	100	1000



TIL SECURITIES LIMITED
 214, RAGHAVA RATNA TOWERS, CHHTRAG ALI LANE, ABIDS, HYDERABAD, 500 004, IN; L67120 F671989 PLX 010188
 Pan No. : P0002786, I.T.N. 4326255/6901111/6901112, Pin No. :
 Email: info@tilsecurities.com | Tel: 001-40111111 | <http://www.tilsecurities.com>

List of Shareholders/Debtors as on: 31-03-2020

List of Shareholders/Debtors of ALL 4 Segments AVDQ 31-03-2020 From NSDL, CDSL, PHYSICAL

ISIN	ISIN	ISIN	Name	Quantity	Type	ISIN	Quantity	ISIN
94410002200	94410002200	94410002200	DEEPIKA SANGAL AGARWAL	SAULALAKRISHN MOHESHWAR	471000	Equity	94410002200	100
94410002200	94410002200	94410002200	CHIRAN K S MISHRA	CHIRAN K S MISHRA	300000	Equity	94410002200	100
94410002200	94410002200	94410002200	CHITRA MAHESHWAR	CHITRA MAHESHWAR	300000	Equity	94410002200	100
94410002200	94410002200	94410002200	CHANDRICA CHONGI	CHANDRICA CHONGI	300000	Equity	94410002200	100
94410002200	94410002200	94410002200	SUSAN K S ANAND RAO	SUSAN K S ANAND RAO	300000	Equity	94410002200	100
94410002200	94410002200	94410002200	ADITYA S ANAND MOHANTY	ADITYA S ANAND MOHANTY	300000	Equity	94410002200	100
94410002200	94410002200	94410002200	MOHAMMAD H RAIN BAK	KADRI BHAI	300000	Equity	94410002200	100
94410002200	94410002200	94410002200	DAAR S SHAMMA	DAAR S SHAMMA	300000	Equity	94410002200	100
94410002200	94410002200	94410002200	RAHUL DAVE	RAHUL DAVE	300000	Equity	94410002200	100
94410002200	94410002200	94410002200	DR RAJ KUMAR HOBBANI	DR RAJ KUMAR HOBBANI	300000	Equity	94410002200	100
94410002200	94410002200	94410002200	VIJAY KUMAR MISHRA	VIJAY KUMAR MISHRA	300000	Equity	94410002200	100
94410002200	94410002200	94410002200	V R SHRIRAMANI	V R SHRIRAMANI	300000	Equity	94410002200	100
94410002200	94410002200	94410002200	RHANISH MEHTA	RHANISH MEHTA	300000	Equity	94410002200	100
94410002200	94410002200	94410002200	VADIVU K M	VADIVU K M	300000	Equity	94410002200	100
94410002200	94410002200	94410002200	ANIL K JAYALAL	ANIL K JAYALAL	300000	Equity	94410002200	100
94410002200	94410002200	94410002200	KRISHNA MOG	KRISHNA MOG	300000	Equity	94410002200	100
94410002200	94410002200	94410002200	KESHU SURESH CHANDRAN	MULRAJ JAGANNATHAN	300000	Equity	94410002200	100
94410002200	94410002200	94410002200	ABIN ANAND	ABIN ANAND	300000	Equity	94410002200	100
94410002200	94410002200	94410002200	DMISHA SHARMA	DMISHA SHARMA	300000	Equity	94410002200	100
94410002200	94410002200	94410002200	SHRIRAM GOVIND PADMINI	SHRIRAM GOVIND PADMINI	300000	Equity	94410002200	100
94410002200	94410002200	94410002200	NARISHA S SINGARAJA	NARISHA S SINGARAJA	300000	Equity	94410002200	100
94410002200	94410002200	94410002200	RAJESH KUMAR	PNARE LAL	300000	Equity	94410002200	100
94410002200	94410002200	94410002200	SAURJ BHADRA	SAURJ BHADRA	300000	Equity	94410002200	100
94410002200	94410002200	94410002200	SUNIL S AGGARWAL	D N AGGARWAL	300000	Equity	94410002200	100
94410002200	94410002200	94410002200	VIRJAN S RAO	VIRJAN S RAO	300000	Equity	94410002200	100
94410002200	94410002200	94410002200	MP MAHESH KIRITIA	MP MAHESH KIRITIA	300000	Equity	94410002200	100
94410002200	94410002200	94410002200	RAJESH KUMAR	RAJESH KUMAR	300000	Equity	94410002200	100
94410002200	94410002200	94410002200	ARUNAS MANDLA	ARUNAS MANDLA	300000	Equity	94410002200	100
94410002200	94410002200	94410002200	SRIVASTAVA MANTRI	SRIVASTAVA MANTRI	300000	Equity	94410002200	100
94410002200	94410002200	94410002200	PRABHA LONDHE	PRABHA LONDHE	300000	Equity	94410002200	100
94410002200	94410002200	94410002200	KRISHNA CHANDRA MAHES	KRISHNA CHANDRA MAHES	300000	Equity	94410002200	100
94410002200	94410002200	94410002200	LOKESH JAIN	LOKESH JAIN	300000	Equity	94410002200	100
94410002200	94410002200	94410002200	VANSHI S SHARMA	VANSHI S SHARMA	300000	Equity	94410002200	100
94410002200	94410002200	94410002200	JAYESH SURESH KUMAR	JAYESH SURESH KUMAR	300000	Equity	94410002200	100
94410002200	94410002200	94410002200	DR RAGHAVA MOHANTY	DR RAGHAVA MOHANTY	300000	Equity	94410002200	100
94410002200	94410002200	94410002200	DEEPAK SHANKAR	DEEPAK SHANKAR	300000	Equity	94410002200	100
94410002200	94410002200	94410002200	RIJINDRA SUDHAR	RIJINDRA SUDHAR	300000	Equity	94410002200	100
94410002200	94410002200	94410002200	KAMAL KUMAR JAIN	KAMAL KUMAR JAIN	300000	Equity	94410002200	100
94410002200	94410002200	94410002200	KATKANSINGH CHAVAN	KATKANSINGH CHAVAN	300000	Equity	94410002200	100
94410002200	94410002200	94410002200	INDRA DEVI	INDRA DEVI	300000	Equity	94410002200	100
94410002200	94410002200	94410002200	KANCHAN	KANCHAN	300000	Equity	94410002200	100
94410002200	94410002200	94410002200	SADIA JAIN	SADIA JAIN	300000	Equity	94410002200	100
94410002200	94410002200	94410002200	GOPAL CHAND GUPTA	GOPAL CHAND GUPTA	300000	Equity	94410002200	100
94410002200	94410002200	94410002200	MIEHA GUPTA	MIEHA GUPTA	300000	Equity	94410002200	100
94410002200	94410002200	94410002200	REEMA GUPTA	REEMA GUPTA	300000	Equity	94410002200	100
94410002200	94410002200	94410002200	DEEPIKA MAHESHWARI	DEEPIKA MAHESHWARI	300000	Equity	94410002200	100



WALL SECURITIES LIMITED
 214, RAGHAVA RATNA TOWERS, CHHTRAG ALI LINE, ABIDS, HYDERABAD, 500 004, IN; L67120 F671989 PLX/010188
 Fax No. : 011-2611186, 1191-40-2320, 2355/6901111/6901112; Tel No. :
 Email: info@wallsec.com / wallsec@wallsec.com / <http://www.wallsec.com>

List of Total Shareholders as on: 31-03-2020

List of Shareholders (Promoter & A.L.E.) Category A/Dtg 31-03-2020 From NSDL, CDSL, PHYSICAL

C:\NSDL\COMPSAT\A.L.E.-31-03-2020.XLS

ISIN	Shareholder Name	Category	Quantity	Type	Share %	Balance
54031CC022584	RIDE GURJAN	DEBENTURE HOLDER	1000000	Debt	100	1000
54031CC022586	RAJESH KND	DEBENTURE HOLDER	1000000	Debt	100	1000
54031CC022590	PUSHPA KUMARI	DEBENTURE HOLDER	1000000	Debt	100	1000
54031CC022590	GANESHVAR	DEBENTURE HOLDER	1000000	Debt	100	1000
54031CC022603	SRI SHARAD DEVI ALLARU	DEBENTURE HOLDER	1000000	Debt	100	1000
54031CC022609	NATTA LAL MOHI	DEBENTURE HOLDER	1000000	Debt	100	1000
54031CC022618	RAM PRKASH	DEBENTURE HOLDER	1000000	Debt	100	1000
54031CC022619	SHWANTI KUMAR SINGH	DEBENTURE HOLDER	1000000	Debt	100	1000
54031CC022621	VISHVAJIT	DEBENTURE HOLDER	1000000	Debt	100	1000
54031CC022623	NISHITH KASHI	DEBENTURE HOLDER	1000000	Debt	100	1000
54031CC022625	SHUKA DEVMANI	DEBENTURE HOLDER	1000000	Debt	100	1000
54031CC022632	SWATI KAN	DEBENTURE HOLDER	1000000	Debt	100	1000
54031CC022632	H R GOEL	DEBENTURE HOLDER	1000000	Debt	100	1000
54031CC022633	KASHI KISHOR TAMPATI	DEBENTURE HOLDER	1000000	Debt	100	1000
54031CC022634	DISHU KUMAR SHUKLA	DEBENTURE HOLDER	1000000	Debt	100	1000
54031CC022641	KRISHNA SURESH SHUKLA	DEBENTURE HOLDER	1000000	Debt	100	1000
54031CC022642	RAJESH KUMAR DWARU	DEBENTURE HOLDER	1000000	Debt	100	1000
54031CC022650	RAJESH KISHOR	DEBENTURE HOLDER	1000000	Debt	100	1000
54031CC022651	KRISHNA HAS GUPTA	DEBENTURE HOLDER	1000000	Debt	100	1000
54031CC022662	SANJAY BHARTIA	DEBENTURE HOLDER	1000000	Debt	100	1000
54031CC022669	VISHALIN SINGH	DEBENTURE HOLDER	1000000	Debt	100	1000
54031CC022670	ANITA GORDHANBHAI	DEBENTURE HOLDER	1000000	Debt	100	1000
54031CC022671	KAMLESH KUNAR PANDYA	DEBENTURE HOLDER	1000000	Debt	100	1000
54031CC022679	BHARTI LAL KUMAR	DEBENTURE HOLDER	1000000	Debt	100	1000
54031CC022679	VAISHALI MANI	DEBENTURE HOLDER	1000000	Debt	100	1000
54031CC022680	RANDEE SINGH ANI	DEBENTURE HOLDER	1000000	Debt	100	1000
54031CC022693	DINESH K SHAH	DEBENTURE HOLDER	1000000	Debt	100	1000
54031CC022711	TEJHPAKSHI ANIL	DEBENTURE HOLDER	1000000	Debt	100	1000
54031CC02716	HARSHADIMAR BASKIAE	DEBENTURE HOLDER	1000000	Debt	100	1000
54031CC02717	ODDAY KUMAR SHUKLA	DEBENTURE HOLDER	1000000	Debt	100	1000
54031CC02726	NITHIN K SHAH	DEBENTURE HOLDER	1000000	Debt	100	1000
54031CC02734	VINOD KUMAR KASHI	DEBENTURE HOLDER	1000000	Debt	100	1000
54031CC02751	SHRUTI KANISHK KANISHK	DEBENTURE HOLDER	1000000	Debt	100	1000
54031CC02753	SHRUTI KANISHK	DEBENTURE HOLDER	1000000	Debt	100	1000
54031CC02757	SHRUTI KANISHK	DEBENTURE HOLDER	1000000	Debt	100	1000
54031CC02781	ANIL KANISHK	DEBENTURE HOLDER	1000000	Debt	100	1000
54031CC02781	ANIL KANISHK	DEBENTURE HOLDER	1000000	Debt	100	1000
54031CC02781	ANIL KANISHK	DEBENTURE HOLDER	1000000	Debt	100	1000
54031CC02792	U HANDRIKAR S GANDEE	DEBENTURE HOLDER	1000000	Debt	100	1000
54031CC02792	NAVITA K SHARMA	DEBENTURE HOLDER	1000000	Debt	100	1000
54031CC02807	KANISHK PAREKH	DEBENTURE HOLDER	1000000	Debt	100	1000
54031CC02811	JIPNA KANISHK	DEBENTURE HOLDER	1000000	Debt	100	1000
54031CC02823	ANIL KANISHK	DEBENTURE HOLDER	1000000	Debt	100	1000
54031CC02869	MANISHALIMBABHAI BIRU	DEBENTURE HOLDER	1000000	Debt	100	1000
54031CC02870	KANISHK LAL ADHAR BH	DEBENTURE HOLDER	1000000	Debt	100	1000
54031CC02879	DAYALBHAI KANTHODIA	DEBENTURE HOLDER	1000000	Debt	100	1000
54031CC02891	HARSHAD SHAH	DEBENTURE HOLDER	1000000	Debt	100	1000



TIL SECURITIES LIMITED
 214, RAGHAVA RATNA TOWERS, CHHTRAG ALI LINE, ABIDS, HYDERABAD, 500 016, IN; L67120 F671989 PLU/010188
 Pan No. : Ph002-286, 1391-40-2320, 3155/6901111/69911112; Fax No. :
 Email: info@tilsecurities.com | Tilt: <http://www.tilsecurities.com>

List of Shareholders/Debtors as on: 31-05-2020

List Of Share/Debtors/ Depos / of ALL 4 categories AVDQ 31-05-2020 From NSDL, CDSL, PHYSICAL

AVDQ	AVDQ	Name	Category	Quantity	Type	AVDQ	AVDQ	Quantity
						Share	Share	
0217	CC031387	H. KAVAYENI AL KANNARA	0217	CC031387	100000	Equity		1000
0218	CC031389	YOKESH DAVE	0218	CC031389	100000	Equity		1000
0219	CC031391	LALIT VAGBI RATHOD	0219	CC031391	100000	Equity		1000
0220	CC031393	NARASHIMAI S RAMANATH	0220	CC031393	100000	Equity		1000
0221	CC031394	IRISHI S SITA	0221	CC031394	100000	Equity		1000
0222	CC031409	PRADYUMAN K V SIA	0222	CC031409	100000	Equity	AWP200	1000
0223	CC031412	PRAMANT POUARA	0223	CC031412	100000	Equity		1000
0224	CC031413	SHILPA HARYA	0224	CC031413	100000	Equity		1000
0225	CC031415	ARONIL T BEDI	0225	CC031415	100000	Equity		1000
0226	CC031416	VINODI DAGA	0226	CC031416	100000	Equity	ABH01001	1000
0227	CC031418	GERMAL KISHI	0227	CC031418	100000	Equity		1000
0228	CC031419	SARASWATI	0228	CC031419	100000	Equity		1000
0229	CC031421	RAHINDER KAUR SINGH	0229	CC031421	100000	Equity		1000
0230	CC031423	RAVINDER KUMAR AXIJK	0230	CC031423	100000	Equity		1000
0231	CC031424	DAULI SINGH	0231	CC031424	100000	Equity		1000
0232	CC031425	VABINDU PAH	0232	CC031425	100000	Equity		1000
0233	CC031426	HAPYINDU SINGH DOLATI	0233	CC031426	100000	Equity		1000
0234	CC031427	HIMANT KUMAR JAIN	0234	CC031427	100000	Equity		1000
0235	CC031428	MANGLA JAIN	0235	CC031428	100000	Equity		1000
0236	CC031429	NALINI CHATURVEDI	0236	CC031429	100000	Equity		1000
0237	CC031430	ANISHA BALA BANDE	0237	CC031430	100000	Equity		1000
0238	CC031431	ADNDRI AL JAIN	0238	CC031431	100000	Equity		1000
0239	CC031432	DEEPA SURESHKANTH	0239	CC031432	100000	Equity		1000
0240	CC031433	SARITA JAIN	0240	CC031433	100000	Equity		1000
0241	CC031434	SHIKHA DOLJI	0241	CC031434	100000	Equity		1000
0242	CC031435	NANJAN DONGLE	0242	CC031435	100000	Equity		1000
0243	CC031436	SHIRPA SHARMA	0243	CC031436	100000	Equity		1000
0244	CC031437	HARSHVI MAHESHKANTH	0244	CC031437	100000	Equity	AC7PM485	1000
0245	CC031438	MUNVAL DEVI HANUMATI BA	0245	CC031438	100000	Equity		1000
0246	CC031439	KIRTI KUMAR ANAND	0246	CC031439	100000	Equity		1000
0247	CC031440	IBRAHIM ALI ANANT PARMAR	0247	CC031440	100000	Equity		1000
0248	CC031441	KAMISHI HANDEE CHANDR	0248	CC031441	100000	Equity		1000
0249	CC031442	ANUSHA SINGH	0249	CC031442	100000	Equity		1000
0250	CC031443	PAULI ARVINDHAI CHET	0250	CC031443	100000	Equity	ACDPP985	1000
0251	CC031444	DEEPA SHARMA	0251	CC031444	100000	Equity		1000
0252	CC031445	LANTUL BARDOLYAN PAT	0252	CC031445	100000	Equity	ACDPP999	1000
0253	CC031446	SHRANVIK, HARSHADIBELI	0253	CC031446	100000	Equity		1000
0254	CC031447	PREM PANKAJ SHARMA	0254	CC031447	100000	Equity		1000
0255	CC031448	NANJAN KUMAR GUPTA	0255	CC031448	100000	Equity		1000
0256	CC031449	JANG RAM DWIVEDI	0256	CC031449	100000	Equity		1000
0257	CC031450	JYOTI KHANDEWAL	0257	CC031450	100000	Equity		1000
0258	CC031451	ANITA QIDWAI	0258	CC031451	100000	Equity		1000
0259	CC031452	ZAHAR AHMAD HANWAL	0259	CC031452	100000	Equity		1000
0260	CC031453	SAI KUMAR	0260	CC031453	100000	Equity		1000



TIL SECURITIES LIMITED
 214, RAGHAVA RATNA TOWERS, CHHTRAG ALI LANE, ABIDS, HYDERABAD, 500 016, IN; LG7120 F671989PLA/010188
 Pan No. : Ph002-786, 1391-40-2320, 3155/6901111/69911112 - Pan No. :
 Email: info@tilsecurities.com / Tel: <http://www.tilsecurities.com>

List of Shareholders/Debtors as on: 31-03-2020

List Of Shareholders/Debtors of ALL 4 categories As On 31-03-2020 From NSDL, CDSL, PHYSICAL

ISIN	Face	Name	Quantity	Type	Category	Value	Amount
721000102845		DR. P. S. L. ANAND K. G. SETHI	100000	Equity		1000	1000
721000102846		PRAGNATI MANOJ KUMAR	100000	Equity		1000	1000
721000102847		RAJESH KANTH	100000	Equity		1000	1000
721000102848		RAMESH MOHAN C V	100000	Equity		1000	1000
721000102849		RANJAN K S	100000	Equity		1000	1000
721000102850		RITA CHANDRAN	100000	Equity		1000	1000
721000102851		ROHIN S W. HIRI	100000	Equity		1000	1000
721000102852		SRIYANALAKSHMI V	100000	Equity		1000	1000
721000102853		SUDHA K	100000	Equity		1000	1000
721000102854		STRENDRA KUMAR BHOIR	100000	Equity		1000	1000
721000102855		SWEETIN SINGHVI	100000	Equity		1000	1000
721000102856		V. GOVINDARAJAN	100000	Equity		1000	1000
721000102857		VAHA BANUJITA	100000	Equity	MEMO721	1000	1000
721000102858		VIHARI PATEL	100000	Equity		1000	1000
721000102859		VINAY SATHYAN	100000	Equity		1000	1000
721000102860		VAJUNTE SINGH	100000	Equity		1000	1000
721000102861		VAJUNTE SINGH	100000	Equity		1000	1000
721000102862		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102863		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102864		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102865		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102866		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102867		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102868		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102869		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102870		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102871		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102872		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102873		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102874		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102875		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102876		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102877		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102878		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102879		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102880		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102881		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102882		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102883		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102884		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102885		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102886		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102887		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102888		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102889		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102890		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102891		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102892		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102893		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102894		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102895		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102896		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102897		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102898		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102899		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102900		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102901		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102902		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102903		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102904		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102905		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102906		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102907		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102908		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102909		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102910		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102911		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102912		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102913		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102914		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102915		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102916		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102917		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102918		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102919		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102920		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102921		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102922		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102923		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102924		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102925		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102926		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102927		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102928		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102929		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102930		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102931		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102932		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102933		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102934		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102935		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102936		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102937		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102938		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102939		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102940		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102941		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102942		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102943		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102944		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102945		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102946		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102947		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102948		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102949		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102950		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102951		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102952		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102953		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102954		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102955		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102956		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102957		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102958		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102959		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102960		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102961		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102962		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102963		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102964		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102965		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102966		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102967		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102968		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102969		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102970		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102971		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102972		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
721000102973		V. RAMANJAN	100000	Equity	MEMO721	1000	1000
7210							



TIL SECURITIES LIMITED
 214, RAGHAVA RATNA TOWERS, CHHTRAG ALI LINE, ABIDS, HYDERABAD, 500 016, IN; LG7120 FGT 989PLA/010188
 Fax No. : 91002-286, 2-91-40-2320355/6901111/69911112; Tel No. :
 Email: info@tilsecurities.com / <http://www.tilsecurities.com>

List of Shareholders/Debtors as on: 31-03-2020

List Of Shareholders/Debtors of ALL 4 categories AVDtq 31-03-2020 From NSDL, CDSL, PHYSICAL

AVDtq	Name	Quantity	Type	Category	AVDtq	Quantity
7407110000000	KANTAMAHESHWARI	100	Equity			1000
7408110000000	KOMPAJITHIRAVANMUR	100	Equity			1000
7409110000000	JAYATI CHIRUJAN	100	Equity			1000
7410110000000	RAMSUDRAMA MALE PA	100	Equity	ANPP512		1000
7411110000000	MAHALAKSHMI PALE	100	Equity	AG299591		1000
7412110000000	KANTHARAJAN	100	Equity	APPC250		1000
7413110000000	SHAMMUNATHANNAI	100	Equity	KACM290		1000
7414110000000	MAKASAPATI S P	100	Equity			1000
7415110000000	SHYAM KAMALAKRISHNA	100	Equity			1000
7416110000000	SWATHI REDDY	100	Equity			1000
7417110000000	KRISHNA KANAK	100	Equity			1000
7418110000000	DR. S. S. S. S. S.	100	Equity	AG190245		1000
7419110000000	DR. S. S. S. S. S.	100	Equity			1000
7420110000000	DR. S. S. S. S. S.	100	Equity			1000
7421110000000	DR. S. S. S. S. S.	100	Equity			1000
7422110000000	DR. S. S. S. S. S.	100	Equity			1000
7423110000000	DR. S. S. S. S. S.	100	Equity			1000
7424110000000	DR. S. S. S. S. S.	100	Equity	AGAP260		1000
7425110000000	DR. S. S. S. S. S.	100	Equity			1000
7426110000000	DR. S. S. S. S. S.	100	Equity			1000
7427110000000	DR. S. S. S. S. S.	100	Equity			1000
7428110000000	DR. S. S. S. S. S.	100	Equity			1000
7429110000000	DR. S. S. S. S. S.	100	Equity			1000
7430110000000	DR. S. S. S. S. S.	100	Equity			1000
7431110000000	DR. S. S. S. S. S.	100	Equity			1000
7432110000000	DR. S. S. S. S. S.	100	Equity			1000
7433110000000	DR. S. S. S. S. S.	100	Equity			1000
7434110000000	DR. S. S. S. S. S.	100	Equity			1000
7435110000000	DR. S. S. S. S. S.	100	Equity			1000
7436110000000	DR. S. S. S. S. S.	100	Equity			1000
7437110000000	DR. S. S. S. S. S.	100	Equity			1000
7438110000000	DR. S. S. S. S. S.	100	Equity			1000
7439110000000	DR. S. S. S. S. S.	100	Equity			1000
7440110000000	DR. S. S. S. S. S.	100	Equity			1000
7441110000000	DR. S. S. S. S. S.	100	Equity			1000
7442110000000	DR. S. S. S. S. S.	100	Equity			1000
7443110000000	DR. S. S. S. S. S.	100	Equity			1000
7444110000000	DR. S. S. S. S. S.	100	Equity			1000
7445110000000	DR. S. S. S. S. S.	100	Equity			1000
7446110000000	DR. S. S. S. S. S.	100	Equity			1000
7447110000000	DR. S. S. S. S. S.	100	Equity			1000
7448110000000	DR. S. S. S. S. S.	100	Equity			1000
7449110000000	DR. S. S. S. S. S.	100	Equity			1000
7450110000000	DR. S. S. S. S. S.	100	Equity			1000
7451110000000	DR. S. S. S. S. S.	100	Equity			1000
7452110000000	DR. S. S. S. S. S.	100	Equity			1000
7453110000000	DR. S. S. S. S. S.	100	Equity			1000
7454110000000	DR. S. S. S. S. S.	100	Equity			1000
7455110000000	DR. S. S. S. S. S.	100	Equity			1000
7456110000000	DR. S. S. S. S. S.	100	Equity			1000
7457110000000	DR. S. S. S. S. S.	100	Equity			1000
7458110000000	DR. S. S. S. S. S.	100	Equity			1000
7459110000000	DR. S. S. S. S. S.	100	Equity			1000
7460110000000	DR. S. S. S. S. S.	100	Equity			1000
7461110000000	DR. S. S. S. S. S.	100	Equity			1000
7462110000000	DR. S. S. S. S. S.	100	Equity			1000
7463110000000	DR. S. S. S. S. S.	100	Equity			1000
7464110000000	DR. S. S. S. S. S.	100	Equity			1000
7465110000000	DR. S. S. S. S. S.	100	Equity			1000
7466110000000	DR. S. S. S. S. S.	100	Equity			1000
7467110000000	DR. S. S. S. S. S.	100	Equity			1000
7468110000000	DR. S. S. S. S. S.	100	Equity			1000
7469110000000	DR. S. S. S. S. S.	100	Equity			1000
7470110000000	DR. S. S. S. S. S.	100	Equity			1000
7471110000000	DR. S. S. S. S. S.	100	Equity			1000
7472110000000	DR. S. S. S. S. S.	100	Equity			1000
7473110000000	DR. S. S. S. S. S.	100	Equity			1000
7474110000000	DR. S. S. S. S. S.	100	Equity			1000
7475110000000	DR. S. S. S. S. S.	100	Equity			1000
7476110000000	DR. S. S. S. S. S.	100	Equity			1000
7477110000000	DR. S. S. S. S. S.	100	Equity			1000
7478110000000	DR. S. S. S. S. S.	100	Equity			1000
7479110000000	DR. S. S. S. S. S.	100	Equity			1000
7480110000000	DR. S. S. S. S. S.	100	Equity			1000
7481110000000	DR. S. S. S. S. S.	100	Equity			1000
7482110000000	DR. S. S. S. S. S.	100	Equity			1000
7483110000000	DR. S. S. S. S. S.	100	Equity			1000
7484110000000	DR. S. S. S. S. S.	100	Equity			1000
7485110000000	DR. S. S. S. S. S.	100	Equity			1000
7486110000000	DR. S. S. S. S. S.	100	Equity			1000
7487110000000	DR. S. S. S. S. S.	100	Equity			1000
7488110000000	DR. S. S. S. S. S.	100	Equity			1000
7489110000000	DR. S. S. S. S. S.	100	Equity			1000
7490110000000	DR. S. S. S. S. S.	100	Equity			1000
7491110000000	DR. S. S. S. S. S.	100	Equity			1000
7492110000000	DR. S. S. S. S. S.	100	Equity			1000
7493110000000	DR. S. S. S. S. S.	100	Equity			1000
7494110000000	DR. S. S. S. S. S.	100	Equity			1000
7495110000000	DR. S. S. S. S. S.	100	Equity			1000
7496110000000	DR. S. S. S. S. S.	100	Equity			1000
7497110000000	DR. S. S. S. S. S.	100	Equity			1000
7498110000000	DR. S. S. S. S. S.	100	Equity			1000
7499110000000	DR. S. S. S. S. S.	100	Equity			1000
7500110000000	DR. S. S. S. S. S.	100	Equity			1000



TIL SECURITIES LIMITED
214, RAGHAVA RATNA TOWERS, CHHTRAG ALI LINE, ABIDS, HYDERABAD, 500 016, IN. L67120 F67989PLA/010188
For No. : Phone No. : 91-40-23203155/6901111/6901112 / Fax No. :
Email: info@tilsecurities.com / Url: <http://www.tilsecurities.com>

List of Total Shareholders as on: 31-03-2020

List of Shareholders (Group) of A.L.E. Category AVHq 31-03-2020 From NSDL, CDSL, PHYSICAL

Demat	Name	Quantity	Type	Group	AVHq	Amount
Account No.					Share	
749910000000	K. MALA CHANDU	1000000	Equity		1000	1000
750010000000	KANUPRIYA KISHOR BHATTAR	1000000	Equity		1000	1000
750110000000	LEELAVATHY R	1000000	Equity		1000	1000
750210000000	JAYHARISH	1000000	Equity		1000	1000
750310000000	SUBRAMANIAM SURESH K D	1000000	Equity		1000	1000
750410000000	SUDHAKAR NAYAK SHYAM	1000000	Equity		1000	1000
750510000000	BARULAL CHOKHANI	1000000	Equity		1000	1000
750610000000	RAJESH K B D HANDE	1000000	Equity		1000	1000
750710000000	DEVI P ABHOKKUMAR M	1000000	Equity		1000	1000
750810000000	RAJENDRA J PATEL	1000000	Equity		1000	1000
750910000000	SATYANARAYAN	1000000	Equity		1000	1000
751010000000	SHIBHAY SHIVAM YARRU	1000000	Equity		1000	1000
751110000000	TESSY THOMAS	1000000	Equity		1000	1000
751210000000	BANMUKLAL SOTHE AL SAs	1000000	Equity		1000	1000
751310000000	ROSHAN DIVYASHAM	1000000	Equity		1000	1000
751410000000	SHRUTI	1000000	Equity		1000	1000
751510000000	RITENDR PASRHA	1000000	Equity		1000	1000
751610000000	NAARITA BHARDWAJ	1000000	Equity		1000	1000
751710000000	SURYA PRakash	1000000	Equity		1000	1000
751810000000	SHHA INDU HOODAN	1000000	Equity		1000	1000
751910000000	VEENA DEVI GHARDWAJ	1000000	Equity		1000	1000
752010000000	ABHOKKUMAR BANIKLAL MERASIKLAL MUDI	1000000	Equity		1000	1000
752110000000	CHANDRA K SAs SARAWA	1000000	Equity		1000	1000
752210000000	DAYANI RITENDRA GANDE	1000000	Equity		1000	1000
752310000000	DEVI R JOHN HUSTON	1000000	Equity		1000	1000
752410000000	GUNANATHAN PANADIA	1000000	Equity		1000	1000
752510000000	SHRUTI P SAs	1000000	Equity		1000	1000
752610000000	SHRUTI P SAs	1000000	Equity		1000	1000
752710000000	SHRUTI P SAs	1000000	Equity		1000	1000
752810000000	SHRUTI P SAs	1000000	Equity		1000	1000
752910000000	SHRUTI P SAs	1000000	Equity		1000	1000
753010000000	SHRUTI P SAs	1000000	Equity		1000	1000
753110000000	SHRUTI P SAs	1000000	Equity		1000	1000
753210000000	SHRUTI P SAs	1000000	Equity		1000	1000
753310000000	SHRUTI P SAs	1000000	Equity		1000	1000
753410000000	SHRUTI P SAs	1000000	Equity		1000	1000
753510000000	SHRUTI P SAs	1000000	Equity		1000	1000
753610000000	SHRUTI P SAs	1000000	Equity		1000	1000
753710000000	SHRUTI P SAs	1000000	Equity		1000	1000
753810000000	SHRUTI P SAs	1000000	Equity		1000	1000
753910000000	SHRUTI P SAs	1000000	Equity		1000	1000
754010000000	SHRUTI P SAs	1000000	Equity		1000	1000
754110000000	SHRUTI P SAs	1000000	Equity		1000	1000
754210000000	SHRUTI P SAs	1000000	Equity		1000	1000
754310000000	SHRUTI P SAs	1000000	Equity		1000	1000
754410000000	SHRUTI P SAs	1000000	Equity		1000	1000



WALL SECURITIES LIMITED
 214, RAGHAVA RATNA TOWERS, CHHTRAG ALI LINE, ABIDS, HYDERABAD, 500 006, IN; L67120 F671989 PLX 010188
 Fax No. : 011-26100186, 1191-40-2320, 2325/6901111/6901112; Tel No. :
 Email: info@wallsecurities.com | <http://www.wallsecurities.com>

List of Shareholders/Debtors as on: 31-03-2020

List Of Shareholders/Debtors of ALL 4 Segments AVDtq 31-03-2020 From NSDL, CDSL, PHYSICAL

DPID	Holder Name	Segment	Quantity	Type	Face Value	AVDtq	Amount
7901CC001511	NAVIC BHOWAN	NSDL	100000	Equity	10000000	100	1000
7901CC001512	CHACK RAMAN CHOWDA	NSDL	100000	Equity	10000000	100	1000
7901CC001513	SHRIRAM KUMAR AGARWAL	NSDL	100000	Equity	10000000	100	1000
7901CC001514	DRAVASI ARVIND MAR S	NSDL	100000	Equity	10000000	100	1000
7901CC001515	DEEPIKA SARDAR	NSDL	100000	Equity	10000000	100	1000
7901CC001516	RUPESH SANKHAYI	NSDL	100000	Equity	10000000	100	1000
7901CC001517	VIZHIAN K B	NSDL	100000	Equity	10000000	100	1000
7901CC001518	YASHEEN	NSDL	100000	Equity	10000000	100	1000
7901CC001519	MURAMAMIAN V	NSDL	100000	Equity	10000000	100	1000
7901CC001520	JAYITA S Kulkarni	NSDL	100000	Equity	10000000	100	1000
7901CC001521	KADAM SANDRA RAMESH	NSDL	100000	Equity	10000000	100	1000
7901CC001522	DINA KANDIA	NSDL	100000	Equity	10000000	100	1000
7901CC001523	SHANIRA RAJNIKANT	NSDL	100000	Equity	10000000	100	1000
7901CC001524	UMMA S A P	NSDL	100000	Equity	10000000	100	1000
7901CC001525	VANDANA RAM BHANDRA	NSDL	100000	Equity	10000000	100	1000
7901CC001526	HALABHARAN BHANU	NSDL	100000	Equity	10000000	100	1000
7901CC001527	CHANDRANATHAN IYER	NSDL	100000	Equity	10000000	100	1000
7901CC001528	NIKHIL GADA	NSDL	100000	Equity	10000000	100	1000
7901CC001529	SHILPA LOKSANI	NSDL	100000	Equity	10000000	100	1000
7901CC001530	ACHAL AGARWAL	NSDL	100000	Equity	10000000	100	1000
7901CC001531	KUMAR PRASAD K C	NSDL	100000	Equity	10000000	100	1000
7901CC001532	CHANDRA SHEKHAR SINGH	NSDL	100000	Equity	10000000	100	1000
7901CC001533	CHANDRAKANTH MADHAN	NSDL	100000	Equity	10000000	100	1000
7901CC001534	MUKUNDHAI UMIDDHAI P	NSDL	100000	Equity	10000000	100	1000
7901CC001535	DEEPIKA JOSHI	NSDL	100000	Equity	10000000	100	1000
7901CC001536	RAVINDRAN N SURESH K	NSDL	100000	Equity	10000000	100	1000
7901CC001537	SANDHU TIBRANJAN K	NSDL	100000	Equity	10000000	100	1000
7901CC001538	SHAMSHAN V VARUN	NSDL	100000	Equity	10000000	100	1000
7901CC001539	AMARINDU V	NSDL	100000	Equity	10000000	100	1000
7901CC001540	BHAUWAN LAKSHMAN KH	NSDL	100000	Equity	10000000	100	1000
7901CC001541	KRISHNA MURTHY D B	NSDL	100000	Equity	10000000	100	1000
7901CC001542	MOHANRAJ B PONGA	NSDL	100000	Equity	10000000	100	1000
7901CC001543		NSDL	100000	Equity	10000000	100	1000
7901CC001544		NSDL	100000	Equity	10000000	100	1000
7901CC001545		NSDL	100000	Equity	10000000	100	1000
7901CC001546		NSDL	100000	Equity	10000000	100	1000
7901CC001547		NSDL	100000	Equity	10000000	100	1000
7901CC001548		NSDL	100000	Equity	10000000	100	1000
7901CC001549		NSDL	100000	Equity	10000000	100	1000
7901CC001550		NSDL	100000	Equity	10000000	100	1000
7901CC001551		NSDL	100000	Equity	10000000	100	1000
7901CC001552		NSDL	100000	Equity	10000000	100	1000
7901CC001553		NSDL	100000	Equity	10000000	100	1000
7901CC001554		NSDL	100000	Equity	10000000	100	1000
7901CC001555		NSDL	100000	Equity	10000000	100	1000
7901CC001556		NSDL	100000	Equity	10000000	100	1000
7901CC001557		NSDL	100000	Equity	10000000	100	1000
7901CC001558		NSDL	100000	Equity	10000000	100	1000
7901CC001559		NSDL	100000	Equity	10000000	100	1000
7901CC001560		NSDL	100000	Equity	10000000	100	1000
7901CC001561		NSDL	100000	Equity	10000000	100	1000
7901CC001562		NSDL	100000	Equity	10000000	100	1000
7901CC001563		NSDL	100000	Equity	10000000	100	1000
7901CC001564		NSDL	100000	Equity	10000000	100	1000
7901CC001565		NSDL	100000	Equity	10000000	100	1000
7901CC001566		NSDL	100000	Equity	10000000	100	1000
7901CC001567		NSDL	100000	Equity	10000000	100	1000
7901CC001568		NSDL	100000	Equity	10000000	100	1000
7901CC001569		NSDL	100000	Equity	10000000	100	1000
7901CC001570		NSDL	100000	Equity	10000000	100	1000
7901CC001571		NSDL	100000	Equity	10000000	100	1000
7901CC001572		NSDL	100000	Equity	10000000	100	1000
7901CC001573		NSDL	100000	Equity	10000000	100	1000
7901CC001574		NSDL	100000	Equity	10000000	100	1000
7901CC001575		NSDL	100000	Equity	10000000	100	1000
7901CC001576		NSDL	100000	Equity	10000000	100	1000
7901CC001577		NSDL	100000	Equity	10000000	100	1000
7901CC001578		NSDL	100000	Equity	10000000	100	1000
7901CC001579		NSDL	100000	Equity	10000000	100	1000
7901CC001580		NSDL	100000	Equity	10000000	100	1000
7901CC001581		NSDL	100000	Equity	10000000	100	1000
7901CC001582		NSDL	100000	Equity	10000000	100	1000
7901CC001583		NSDL	100000	Equity	10000000	100	1000
7901CC001584		NSDL	100000	Equity	10000000	100	1000
7901CC001585		NSDL	100000	Equity	10000000	100	1000
7901CC001586		NSDL	100000	Equity	10000000	100	1000
7901CC001587		NSDL	100000	Equity	10000000	100	1000
7901CC001588		NSDL	100000	Equity	10000000	100	1000
7901CC001589		NSDL	100000	Equity	10000000	100	1000
7901CC001590		NSDL	100000	Equity	10000000	100	1000
7901CC001591		NSDL	100000	Equity	10000000	100	1000
7901CC001592		NSDL	100000	Equity	10000000	100	1000
7901CC001593		NSDL	100000	Equity	10000000	100	1000
7901CC001594		NSDL	100000	Equity	10000000	100	1000
7901CC001595		NSDL	100000	Equity	10000000	100	1000
7901CC001596		NSDL	100000	Equity	10000000	100	1000
7901CC001597		NSDL	100000	Equity	10000000	100	1000
7901CC001598		NSDL	100000	Equity	10000000	100	1000
7901CC001599		NSDL	100000	Equity	10000000	100	1000
7901CC001600		NSDL	100000	Equity	10000000	100	1000
7901CC001601		NSDL	100000	Equity	10000000	100	1000
7901CC001602		NSDL	100000	Equity	10000000	100	1000
7901CC001603		NSDL	100000	Equity	10000000	100	1000
7901CC001604		NSDL	100000	Equity	10000000	100	1000
7901CC001605		NSDL	100000	Equity	10000000	100	1000
7901CC001606		NSDL	100000	Equity	10000000	100	1000
7901CC001607		NSDL	100000	Equity	10000000	100	1000
7901CC001608		NSDL	100000	Equity	10000000	100	1000
7901CC001609		NSDL	100000	Equity	10000000	100	1000
7901CC001610		NSDL	100000	Equity	10000000	100	1000
7901CC001611		NSDL	100000	Equity	10000000	100	1000
7901CC001612		NSDL	100000	Equity	10000000	100	1000
7901CC001613		NSDL	100000	Equity	10000000	100	1000
7901CC001614		NSDL	100000	Equity	10000000	100	1000
7901CC001615		NSDL	100000	Equity	10000000	100	1000
7901CC001616		NSDL	100000	Equity	10000000	100	1000
7901CC001617		NSDL	100000	Equity	10000000	100	1000
7901CC001618		NSDL	100000	Equity	10000000	100	1000
7901CC001619		NSDL	100000	Equity	10000000	100	1000
7901CC001620		NSDL	100000	Equity	10000000	100	1000
7901CC001621		NSDL	100000	Equity	10000000	100	1000
7901CC001622		NSDL	100000	Equity	10000000	100	1000
7901CC001623		NSDL	100000	Equity	10000000	100	1000
7901CC001624		NSDL	100000	Equity	10000000	100	1000
7901CC001625		NSDL	100000	Equity	10000000	100	1000
7901CC001626		NSDL	100000	Equity	10000000	100	1000
7901CC001627		NSDL	100000	Equity	10000000	100	1000
7901CC001628		NSDL	100000	Equity	10000000	100	1000
7901CC001629		NSDL	100000	Equity	10000000	100	1000
7901CC001630		NSDL	100000	Equity	10000000	100	1000
7901CC001631		NSDL	100000	Equity	10000000	100	1000
7901CC001632		NSDL	100000	Equity	10000000	100	1000
7901CC001633		NSDL	100000	Equity	10000000	100	1000
7901CC001634		NSDL	100000	Equity	10000000	100	1000
7901CC001635		NSDL	100000	Equity	10000000	100	1000
7901CC001636		NSDL	100000	Equity	10000000	100	1000
7901CC001637		NSDL	100000	Equity	10000000	100	1000
7901CC001638		NSDL	100000	Equity	10000000	100	1000
7901CC001639		NSDL	100				



TIL SECURITIES LIMITED
 214, RAGHAVA RATNA TOWERS, CHHTRAG ALI LINE, ABIDS, HYDERABAD, 500 004, IN. LG7120 F67989PLA/010188
 Fax No. : 0800-286, 2991-40-2320, 2325/69901111/69911112 ; Tel No. :
 Email: info@tilsecurities.com / <http://www.tilsecurities.com>

List of Shareholders as on : 31-03-2020

List of Shareholders Types : All, Corporate, A/D, 31-03-2020 From : NSDL, CDSL, PHYSICAL

Company Name : TIL SECURITIES LIMITED

Sl. No.	Shareholder Name	Shareholder Type	Shareholding %	Shares	Amount
76011000047	PREKASH KALLAMURI	Equity	100%	100	1000
76011000050	DAREKURU C	Equity	100%	100	1000
76011000060	URASAPATI KUNALAI RAJEL	Equity	100%	100	1000
76011000070	JALEEL HUSSAIN	Equity	100%	100	1000
76011000075	KRISHNA RAMA	Equity	100%	100	1000
76011000077	J. ANAND C. SIVANI	Equity	100%	100	1000
76011000078	MOHAN KAWANI	Equity	100%	100	1000
76011000079	PAKSHI PARI	Equity	100%	100	1000
76011000080	SHOBHADI VI MAHESHWAR (SHREEDHAR MAHESHWARI)	Equity	100%	100	1000
76011000081	RUKIA BI HANDEK	Equity	100%	100	1000
76011000082	SABIRA HUSSAIN	Equity	100%	100	1000
76011000084	ASHOK A DASNA (ASHOK DASNA)	Equity	100%	100	1000
76011000085	KOPPA MURTA RAJARAMES KOPPA SUBBARAO	Equity	100%	100	1000
76011000086	MITHAN KHAN M	Equity	100%	100	1000
76011000088	JAYIHWANANANATH	Equity	100%	100	1000
76011000089	URVI BRAVINDRANARASIN	Equity	100%	100	1000
76011000090	VEENALA S V NAGARAJ RAOPY	Equity	100%	100	1000
76011000091	SHANK B SHETTY RAMANAR SHETTY	Equity	100%	100	1000
76011000092	VENKAT KUMAR PALLA	Equity	100%	100	1000
76011000093	VIMAL A (VIMAN)	Equity	100%	100	1000
76011000094	SARATHI GOPALAN (SARATHI)	Equity	100%	100	1000
76011000095	SRINIVAS RAO S (SRINIVAS)	Equity	100%	100	1000
76011000096	CHANNARAJA RAJU (CHANNARAJA R)	Equity	100%	100	1000
76011000097	DEVIKALAKSHMI S (DEVIKALAKSHMI S)	Equity	100%	100	1000
76011000098	DEVIKALAKSHMI S (DEVIKALAKSHMI S)	Equity	100%	100	1000
76011000099	DEVIKALAKSHMI S (DEVIKALAKSHMI S)	Equity	100%	100	1000
76011000100	DEVIKALAKSHMI S (DEVIKALAKSHMI S)	Equity	100%	100	1000
76011000101	DEVIKALAKSHMI S (DEVIKALAKSHMI S)	Equity	100%	100	1000
76011000102	DEVIKALAKSHMI S (DEVIKALAKSHMI S)	Equity	100%	100	1000
76011000103	DEVIKALAKSHMI S (DEVIKALAKSHMI S)	Equity	100%	100	1000
76011000104	DEVIKALAKSHMI S (DEVIKALAKSHMI S)	Equity	100%	100	1000
76011000105	DEVIKALAKSHMI S (DEVIKALAKSHMI S)	Equity	100%	100	1000
76011000106	DEVIKALAKSHMI S (DEVIKALAKSHMI S)	Equity	100%	100	1000
76011000107	DEVIKALAKSHMI S (DEVIKALAKSHMI S)	Equity	100%	100	1000
76011000108	DEVIKALAKSHMI S (DEVIKALAKSHMI S)	Equity	100%	100	1000
76011000109	DEVIKALAKSHMI S (DEVIKALAKSHMI S)	Equity	100%	100	1000
76011000110	DEVIKALAKSHMI S (DEVIKALAKSHMI S)	Equity	100%	100	1000
76011000111	DEVIKALAKSHMI S (DEVIKALAKSHMI S)	Equity	100%	100	1000
76011000112	DEVIKALAKSHMI S (DEVIKALAKSHMI S)	Equity	100%	100	1000
76011000113	DEVIKALAKSHMI S (DEVIKALAKSHMI S)	Equity	100%	100	1000
76011000114	DEVIKALAKSHMI S (DEVIKALAKSHMI S)	Equity	100%	100	1000
76011000115	DEVIKALAKSHMI S (DEVIKALAKSHMI S)	Equity	100%	100	1000
76011000116	DEVIKALAKSHMI S (DEVIKALAKSHMI S)	Equity	100%	100	1000
76011000117	DEVIKALAKSHMI S (DEVIKALAKSHMI S)	Equity	100%	100	1000
76011000118	DEVIKALAKSHMI S (DEVIKALAKSHMI S)	Equity	100%	100	1000
76011000119	DEVIKALAKSHMI S (DEVIKALAKSHMI S)	Equity	100%	100	1000
76011000120	DEVIKALAKSHMI S (DEVIKALAKSHMI S)	Equity	100%	100	1000
76011000121	DEVIKALAKSHMI S (DEVIKALAKSHMI S)	Equity	100%	100	1000
76011000122	DEVIKALAKSHMI S (DEVIKALAKSHMI S)	Equity	100%	100	1000
76011000123	DEVIKALAKSHMI S (DEVIKALAKSHMI S)	Equity	100%	100	1000
76011000124	DEVIKALAKSHMI S (DEVIKALAKSHMI S)	Equity	100%	100	1000
76011000125	DEVIKALAKSHMI S (DEVIKALAKSHMI S)	Equity	100%	100	1000
76011000126	DEVIKALAKSHMI S (DEVIKALAKSHMI S)	Equity	100%	100	1000
76011000127	DEVIKALAKSHMI S (DEVIKALAKSHMI S)	Equity	100%	100	1000
76011000128	DEVIKALAKSHMI S (DEVIKALAKSHMI S)	Equity	100%	100	1000
76011000129	DEVIKALAKSHMI S (DEVIKALAKSHMI S)	Equity	100%	100	1000
76011000130	DEVIKALAKSHMI S (DEVIKALAKSHMI S)	Equity	100%	100	1000
76011000131	DEVIKALAKSHMI S (DEVIKALAKSHMI S)	Equity	100%	100	1000
76011000132	DEVIKALAKSHMI S (DEVIKALAKSHMI S)	Equity	100%	100	1000
76011000133	DEVIKALAKSHMI S (DEVIKALAKSHMI S)	Equity	100%	100	1000
76011000134	DEVIKALAKSHMI S (DEVIKALAKSHMI S)	Equity	100%	100	1000
76011000135	DEVIKALAKSHMI S (DEVIKALAKSHMI S)	Equity	100%	100	1000
76011000136	DEVIKALAKSHMI S (DEVIKALAKSHMI S)	Equity	100%	100	1000
76011000137	DEVIKALAKSHMI S (DEVIKALAKSHMI S)	Equity	100%	100	1000
76011000138	DEVIKALAKSHMI S (DEVIKALAKSHMI S)	Equity	100%	100	1000
76011000139	DEVIKALAKSHMI S (DEVIKALAKSHMI S)	Equity	100%	100	1000
76011000140	DEVIKALAKSHMI S (DEVIKALAKSHMI S)	Equity	100%	100	1000
76011000141	DEVIKALAKSHMI S (DEVIKALAKSHMI S)	Equity	100%	100	1000
76011000142	DEVIKALAKSHMI S (DEVIKALAKSHMI S)	Equity	100%	100	1000
76011000143	DEVIKALAKSHMI S (DEVIKALAKSHMI S)	Equity	100%	100	1000
76011000144	DEVIKALAKSHMI S (DEVIKALAKSHMI S)	Equity	100%	100	1000
76011000145	DEVIKALAKSHMI S (DEVIKALAKSHMI S)	Equity	100%	100	1000
76011000146	DEVIKALAKSHMI S (DEVIKALAKSHMI S)	Equity	100%	100	1000
76011000147	DEVIKALAKSHMI S (DEVIKALAKSHMI S)	Equity	100%	100	1000
76011000148	DEVIKALAKSHMI S (DEVIKALAKSHMI S)	Equity	100%	100	1000
76011000149	DEVIKALAKSHMI S (DEVIKALAKSHMI S)	Equity	100%	100	1000
76011000150	DEVIKALAKSHMI S (DEVIKALAKSHMI S)	Equity	100%	100	1000
76011000151	DEVIKALAKSHMI S (DEVIKALAKSHMI S)	Equity	100%	100	1000
76011000152	DEVIKALAKSHMI S (DEVIKALAKSHMI S)	Equity	100%	100	1000
76011000153	DEVIKALAKSHMI S (DEVIKALAKSHMI S)	Equity	100%	100	1000
76011000154	DEVIKALAKSHMI S (DEVIKALAKSHMI S)	Equity	100%	100	1000
76011000155	DEVIKALAKSHMI S (DEVIKALAKSHMI S)	Equity	100%	100	1000
76011000156	DEVIKALAKSHMI S (DEVIKALAKSHMI S)	Equity	100%	100	1000
76011000157	DEVIKALAKSHMI S (DEVIKALAKSHMI S)	Equity	100%	100	1000
76011000158	DEVIKALAKSHMI S (DEVIKALAKSHMI S)	Equity	100%	100	1000
76011000159	DEVIKALAKSHMI S (DEVIKALAKSHMI S)	Equity	100%	100	1000
76011000160	DEVIKALAKSHMI S (DEVIKALAKSHMI S)	Equity	100%	100	1000
76011000161	DEVIKALAKSHMI S (DEVIKALAKSHMI S)	Equity	100%	100	1000
76011000162	DEVIKALAKSHMI S (DEVIKALAKSHMI S)	Equity	100%	100	1000
76011000163	DEVIKALAKSHMI S (DEVIKALAKSHMI S)	Equity	100%	100	1000
76011000164	DEVIKALAKSHMI S (DEVIKALAKSHMI S)	Equity	100%	100	1000
76011000165	DEVIKALAKSHMI S (DEVIKALAKSHMI S)	Equity	100%	100	1000
76011000166	DEVIKALAKSHMI S (DEVIKALAKSHMI S)	Equity	100%	100	1000
76011000167	DEVIKALAKSHMI S (DEVIKALAKSHMI S)	Equity	100%	100	1000
76011000168	DEVIKALAKSHMI S (DEVIKALAKSHMI S)	Equity	100%	100	1000
76011000169	DEVIKALAKSHMI S (DEVIKALAKSHMI S)	Equity	100%	100	1000
76011000170	DEVIKALAKSHMI S (DEVIKALAKSHMI S)	Equity	100%	100	1000
76011000171	DEVIKALAKSHMI S (DEVIKALAKSHMI S)	Equity	100%	100	1000
76011000172	DEVIKALAKSHMI S (DEVIKALAKSHMI S)	Equity	100%	100	1000
76011000173	DEVIKALAKSHMI S (DEVIKALAKSHMI S)	Equity	100%	100	1000
76011000174	DEVIKALAKSHMI S (DEVIKALAKSHMI S)	Equity	100%	100	1000
76011000175	DEVIKALAKSHMI S (DEVIKALAKSHMI S)	Equity	100%	100	1000
76011000176	DEVIKALAKSHMI S (DEVIKALAKSHMI S)	Equity	100%	100	1000
76011000177	DEVIKALAKSHMI S (DEVIKALAKSHMI S)	Equity	100%	100	1000
76011000178	DEVIKALAKSHMI S (DEVIKALAKSHMI S)	Equity	100%	100	1000
76011000179	DEVIKALAKSHMI S (DEVIKALAKSHMI S)	Equity	100%	100	1000
76011000180	DEVIKALAKSHMI S (DEVIKALAKSHMI S)	Equity	100%	100	1000
76011000181	DEVIKALAKSHMI S (DEVIKALAKSHMI S)	Equity	100%	100	1000
76011000182	DEVIKALAKSHMI S (DEVIKALAKSHMI S)	Equity	100%	100	1000
76011000183	DEVIKALAKSHMI S (DEVIKALAKSHMI S)	Equity	100%	100	1000
76011000184	DEVIKALAKSHMI S (DEVIKALAKSHMI S)	Equity	100%	100	1000
76011000185	DEVIKALAKSHMI S (DEVIKALAKSHMI S)	Equity	100%	100	1000
76011000186	DEVIKALAKSHMI S (DEVIKALAKSHMI S)	Equity	100%	100	1000
76011000187	DEVIKALAKSHMI S (DEVIKALAKSHMI S)	Equity	100%	100	1000
76011000188	DEVIKALAKSHMI S (DEVIKALAKSHMI S)	Equity	100%	100	1000
76011000189	DEVIKALAKSHMI S (DEVIKALAKSHMI S)	Equity	100%	100	1000
76011000190	DEVIKALAKSHMI S (DEVIKALAKSHMI S)	Equity	100%	100	1000
76011000191	DEVIKALAKSHMI S (DEVIKALAKSHMI S)	Equity	100%	100	1000
76011000192	DEVIKALAKSHMI S (DEVIKALAKSHMI S)	Equity	100%	100	1000
76011000193	DEVIKALAKSHMI S (DEVIKALAKSHMI S)	Equity	100%	100	1000
76011000194	DEVIKALAKSHMI S (DEVIKALAKSHMI S)	Equity	100%	100	1000
76011000195	DEVIKALAKSHMI S (DEVIKALAKSHMI S)	Equity	100%	100	1000
76011000196	DEVIKALAKSHMI S (DEVIKALAKSHMI S)	Equity	100%	100	1000
76011000197	DEVIKALAKSHMI S (DEVIKALAKSHMI S)	Equity	100%	100	1000
76011000198	DEVIKALAKSHMI S (DEVIKALAKSHMI S)	Equity	100%	100	1000
76011000199	DEVIKALAKSHMI S (DEVIKALAKSHMI S)	Equity	100%	100	1000
76011000200	DEVIKALAKSHMI S (DEVIKALAKSHMI S)	Equity	100%	100	1000



WELLS SECURITIES LIMITED
 214, RAGHAVA RATNA TOWERS, CHHTRAG ALI LINE, ABIDS, HYDERABAD, 500 002, IN; L67120 F67989 PL6 010188
 Fax No. : Phone No. : 91-40-2320355/6991111/6991112; Tlx No. :
 Email: info@wellsfargo.com / Tlx: <http://www.wellsfargo.com>

List of Shareholders(as on: 31-03-2020)

List of Shareholders (Group) of ALL 4 Segments AVHq 31-03-2020 From NSDL, CDSL, PHYSICAL

AVHq	Segment	Name	Share	Type	AVHq	Segment	Share
72911000000	NSDL	SATYANAND	100000	Equity			1000
73011000000	NSDL	VENKATARAM	100000	Equity			1000
73111000000	NSDL	SUDHAKAR	100000	Equity			1000
73211000000	NSDL	VELLURI SIVAN	100000	Equity	MLP97701		1000
73311000000	NSDL	SARASWATI	100000	Equity	DFP94270		1000
73411000000	NSDL	...	100000	Equity			1000
73511000000	NSDL	...	100000	Equity			1000
73611000000	NSDL	...	100000	Equity			1000
73711000000	NSDL	...	100000	Equity			1000
73811000000	NSDL	...	100000	Equity			1000
73911000000	NSDL	...	100000	Equity			1000
74011000000	NSDL	...	100000	Equity			1000
74111000000	NSDL	...	100000	Equity			1000
74211000000	NSDL	...	100000	Equity			1000
74311000000	NSDL	...	100000	Equity			1000
74411000000	NSDL	...	100000	Equity			1000
74511000000	NSDL	...	100000	Equity			1000
74611000000	NSDL	...	100000	Equity			1000
74711000000	NSDL	...	100000	Equity			1000
74811000000	NSDL	...	100000	Equity			1000
74911000000	NSDL	...	100000	Equity			1000
75011000000	NSDL	...	100000	Equity			1000
75111000000	NSDL	...	100000	Equity			1000
75211000000	NSDL	...	100000	Equity			1000
75311000000	NSDL	...	100000	Equity			1000
75411000000	NSDL	...	100000	Equity			1000
75511000000	NSDL	...	100000	Equity			1000
75611000000	NSDL	...	100000	Equity			1000
75711000000	NSDL	...	100000	Equity			1000
75811000000	NSDL	...	100000	Equity			1000
75911000000	NSDL	...	100000	Equity			1000
76011000000	NSDL	...	100000	Equity			1000
76111000000	NSDL	...	100000	Equity			1000
76211000000	NSDL	...	100000	Equity			1000
76311000000	NSDL	...	100000	Equity			1000
76411000000	NSDL	...	100000	Equity			1000
76511000000	NSDL	...	100000	Equity			1000
76611000000	NSDL	...	100000	Equity			1000
76711000000	NSDL	...	100000	Equity			1000
76811000000	NSDL	...	100000	Equity			1000
76911000000	NSDL	...	100000	Equity			1000
77011000000	NSDL	...	100000	Equity			1000
77111000000	NSDL	...	100000	Equity			1000
77211000000	NSDL	...	100000	Equity			1000
77311000000	NSDL	...	100000	Equity			1000
77411000000	NSDL	...	100000	Equity			1000
77511000000	NSDL	...	100000	Equity			1000
77611000000	NSDL	...	100000	Equity			1000
77711000000	NSDL	...	100000	Equity			1000
77811000000	NSDL	...	100000	Equity			1000
77911000000	NSDL	...	100000	Equity			1000
78011000000	NSDL	...	100000	Equity			1000
78111000000	NSDL	...	100000	Equity			1000
78211000000	NSDL	...	100000	Equity			1000
78311000000	NSDL	...	100000	Equity			1000
78411000000	NSDL	...	100000	Equity			1000
78511000000	NSDL	...	100000	Equity			1000
78611000000	NSDL	...	100000	Equity			1000
78711000000	NSDL	...	100000	Equity			1000
78811000000	NSDL	...	100000	Equity			1000
78911000000	NSDL	...	100000	Equity			1000
79011000000	NSDL	...	100000	Equity			1000
79111000000	NSDL	...	100000	Equity			1000
79211000000	NSDL	...	100000	Equity			1000
79311000000	NSDL	...	100000	Equity			1000
79411000000	NSDL	...	100000	Equity			1000
79511000000	NSDL	...	100000	Equity			1000
79611000000	NSDL	...	100000	Equity			1000
79711000000	NSDL	...	100000	Equity			1000
79811000000	NSDL	...	100000	Equity			1000
79911000000	NSDL	...	100000	Equity			1000
80011000000	NSDL	...	100000	Equity			1000



TIL SECURITIES LIMITED
214, RAGHAVA RATNA TOWERS, CHHTRAG ALI LINE, ABIDS, HYDERABAD, 500 006, IN; LG7120 F67989PLA/010188
Pat No. : Ph002-26, 1391-40-2320, 2155/6901111/6901112; Pat No. :
Email: info@tilsecurities.com | Tel: <http://www.tilsecurities.com>

List of Shareholders as on: 31-03-2020

List Of Shareholders (Group) of ALL 4 Segments AVDQ 31-03-2020 From NSDL, CDSL, PHYSICAL

ISIN	Holder Name	Name	Category	Company Name	Quantity	Type	Units	Value	Amount
959110000001	HELOU PANDHARAJA KACE	KARUPPUSWAMY	Equity	THE PUNJAB STATE BANK	100	Equity		100	1000
959110000002	SAMANT S G	KRISHNAN	Equity	THE PUNJAB STATE BANK	100	Equity		100	1000
959110000003	V V SUDHAKAR	V V SUDHAKAR	Equity	THE PUNJAB STATE BANK	100	Equity		100	1000
959110000004	SHAIK SAJIDHARAM CHU	SHAIK SAJIDHARAM CHU	Equity	THE PUNJAB STATE BANK	100	Equity		100	1000
959110000005	SHARATH G	SHARATH G	Equity	THE PUNJAB STATE BANK	100	Equity		100	1000
959110000006	S SURESH K SURESH	S SURESH K SURESH	Equity	THE PUNJAB STATE BANK	100	Equity		100	1000
959110000007	SHRI AM	SHRI AM	Equity	THE PUNJAB STATE BANK	100	Equity		100	1000
959110000008	VENKATADWARA RAJESH	VENKATADWARA RAJESH	Equity	THE PUNJAB STATE BANK	100	Equity		100	1000
959110000009	VIJAY LAKSHMI	VIJAY LAKSHMI	Equity	THE PUNJAB STATE BANK	100	Equity		100	1000
959110000010	THE ASSOCIATED	THE ASSOCIATED	Equity	THE PUNJAB STATE BANK	100	Equity		100	1000
959110000011	THE ASSOCIATED	THE ASSOCIATED	Equity	THE PUNJAB STATE BANK	100	Equity		100	1000
959110000012	THE ASSOCIATED	THE ASSOCIATED	Equity	THE PUNJAB STATE BANK	100	Equity		100	1000
959110000013	THE ASSOCIATED	THE ASSOCIATED	Equity	THE PUNJAB STATE BANK	100	Equity		100	1000
959110000014	THE ASSOCIATED	THE ASSOCIATED	Equity	THE PUNJAB STATE BANK	100	Equity		100	1000
959110000015	THE ASSOCIATED	THE ASSOCIATED	Equity	THE PUNJAB STATE BANK	100	Equity		100	1000
959110000016	THE ASSOCIATED	THE ASSOCIATED	Equity	THE PUNJAB STATE BANK	100	Equity		100	1000
959110000017	THE ASSOCIATED	THE ASSOCIATED	Equity	THE PUNJAB STATE BANK	100	Equity		100	1000
959110000018	THE ASSOCIATED	THE ASSOCIATED	Equity	THE PUNJAB STATE BANK	100	Equity		100	1000
959110000019	THE ASSOCIATED	THE ASSOCIATED	Equity	THE PUNJAB STATE BANK	100	Equity		100	1000
959110000020	THE ASSOCIATED	THE ASSOCIATED	Equity	THE PUNJAB STATE BANK	100	Equity		100	1000
959110000021	THE ASSOCIATED	THE ASSOCIATED	Equity	THE PUNJAB STATE BANK	100	Equity		100	1000
959110000022	THE ASSOCIATED	THE ASSOCIATED	Equity	THE PUNJAB STATE BANK	100	Equity		100	1000
959110000023	THE ASSOCIATED	THE ASSOCIATED	Equity	THE PUNJAB STATE BANK	100	Equity		100	1000
959110000024	THE ASSOCIATED	THE ASSOCIATED	Equity	THE PUNJAB STATE BANK	100	Equity		100	1000
959110000025	THE ASSOCIATED	THE ASSOCIATED	Equity	THE PUNJAB STATE BANK	100	Equity		100	1000
959110000026	THE ASSOCIATED	THE ASSOCIATED	Equity	THE PUNJAB STATE BANK	100	Equity		100	1000
959110000027	THE ASSOCIATED	THE ASSOCIATED	Equity	THE PUNJAB STATE BANK	100	Equity		100	1000
959110000028	THE ASSOCIATED	THE ASSOCIATED	Equity	THE PUNJAB STATE BANK	100	Equity		100	1000
959110000029	THE ASSOCIATED	THE ASSOCIATED	Equity	THE PUNJAB STATE BANK	100	Equity		100	1000
959110000030	THE ASSOCIATED	THE ASSOCIATED	Equity	THE PUNJAB STATE BANK	100	Equity		100	1000
959110000031	THE ASSOCIATED	THE ASSOCIATED	Equity	THE PUNJAB STATE BANK	100	Equity		100	1000
959110000032	THE ASSOCIATED	THE ASSOCIATED	Equity	THE PUNJAB STATE BANK	100	Equity		100	1000
959110000033	THE ASSOCIATED	THE ASSOCIATED	Equity	THE PUNJAB STATE BANK	100	Equity		100	1000
959110000034	THE ASSOCIATED	THE ASSOCIATED	Equity	THE PUNJAB STATE BANK	100	Equity		100	1000
959110000035	THE ASSOCIATED	THE ASSOCIATED	Equity	THE PUNJAB STATE BANK	100	Equity		100	1000
959110000036	THE ASSOCIATED	THE ASSOCIATED	Equity	THE PUNJAB STATE BANK	100	Equity		100	1000
959110000037	THE ASSOCIATED	THE ASSOCIATED	Equity	THE PUNJAB STATE BANK	100	Equity		100	1000
959110000038	THE ASSOCIATED	THE ASSOCIATED	Equity	THE PUNJAB STATE BANK	100	Equity		100	1000
959110000039	THE ASSOCIATED	THE ASSOCIATED	Equity	THE PUNJAB STATE BANK	100	Equity		100	1000
959110000040	THE ASSOCIATED	THE ASSOCIATED	Equity	THE PUNJAB STATE BANK	100	Equity		100	1000
959110000041	THE ASSOCIATED	THE ASSOCIATED	Equity	THE PUNJAB STATE BANK	100	Equity		100	1000
959110000042	THE ASSOCIATED	THE ASSOCIATED	Equity	THE PUNJAB STATE BANK	100	Equity		100	1000
959110000043	THE ASSOCIATED	THE ASSOCIATED	Equity	THE PUNJAB STATE BANK	100	Equity		100	1000
959110000044	THE ASSOCIATED	THE ASSOCIATED	Equity	THE PUNJAB STATE BANK	100	Equity		100	1000
959110000045	THE ASSOCIATED	THE ASSOCIATED	Equity	THE PUNJAB STATE BANK	100	Equity		100	1000
959110000046	THE ASSOCIATED	THE ASSOCIATED	Equity	THE PUNJAB STATE BANK	100	Equity		100	1000
959110000047	THE ASSOCIATED	THE ASSOCIATED	Equity	THE PUNJAB STATE BANK	100	Equity		100	1000
959110000048	THE ASSOCIATED	THE ASSOCIATED	Equity	THE PUNJAB STATE BANK	100	Equity		100	1000
959110000049	THE ASSOCIATED	THE ASSOCIATED	Equity	THE PUNJAB STATE BANK	100	Equity		100	1000
959110000050	THE ASSOCIATED	THE ASSOCIATED	Equity	THE PUNJAB STATE BANK	100	Equity		100	1000



TIL SECURITIES LIMITED
 214, RAGHAVA RATNA TOWERS, CHHTRAG ALI LANE, ABIDS, HYDERABAD, 500 006, IN. LG7120 F67989PLA/010188
 Fax No. : 01000-286, 1-91-40-2320355/6901111/6901112 ; Tel No. :
 Email: info@tilsecurities.com / <http://www.tilsecurities.com>

List of Shareholders/Debit as on: 31-03-2020

List of Shareholders/Debit of ALL 4 Segments AVHQ 31-03-2020 From NSDL, CDSL, PHYSICAL

1. NSDL
 2. CDSL
 3. PHYSICAL

AVHQ	AVHQ	Name	Segment	Quantity	Type	AVHQ	Quantity
1	2	3	4	5	6	7	8
AS111000000000	010000000000	DRIP SHARE	NSDL	400000	Equity	50	500
AS121000000000	010000000000	AKHIL AKHIL CHANGAN	NSDL	400000	Equity	50	500
AS131000000000	010000000000	SUBHAKUNIA P PRASAD	NSDL	500000	Equity	50	500
AS141000000000	010000000000	NARASIMHA PATEL	NSDL	500000	Equity	50	500
AS151000000000	010000000000	D. KUNILA K. RAO	NSDL	500000	Equity	50	500
AS161000000000	010000000000	D. VYAS K. RAO	NSDL	500000	Equity	50	500
AS171000000000	010000000000	JANAKA HEGDE	NSDL	500000	Equity	50	500
AS181000000000	010000000000	SAVANA S. HANU	NSDL	500000	Equity	50	500
AS191000000000	010000000000	ARUN BANSAL	NSDL	500000	Equity	50	500
AS201000000000	010000000000	S. S. JAGANNATH	NSDL	500000	Equity	50	500
AS211000000000	010000000000	SANDEEP K. BHADRA	NSDL	500000	Equity	50	500
AS221000000000	010000000000	ADARSH S. SINGH	NSDL	500000	Equity	50	500
AS231000000000	010000000000	SANDEEP K. LANTULI	NSDL	500000	Equity	50	500
AS241000000000	010000000000	ASHWINI S. SINGH	NSDL	500000	Equity	50	500
AS251000000000	010000000000	V. R. S. S. SINGH	NSDL	500000	Equity	50	500
AS261000000000	010000000000	K. S. SINGH	NSDL	500000	Equity	50	500
AS271000000000	010000000000	K. S. SINGH	NSDL	500000	Equity	50	500
AS281000000000	010000000000	K. S. SINGH	NSDL	500000	Equity	50	500
AS291000000000	010000000000	K. S. SINGH	NSDL	500000	Equity	50	500
AS301000000000	010000000000	K. S. SINGH	NSDL	500000	Equity	50	500
AS311000000000	010000000000	K. S. SINGH	NSDL	500000	Equity	50	500
AS321000000000	010000000000	K. S. SINGH	NSDL	500000	Equity	50	500
AS331000000000	010000000000	K. S. SINGH	NSDL	500000	Equity	50	500
AS341000000000	010000000000	K. S. SINGH	NSDL	500000	Equity	50	500
AS351000000000	010000000000	K. S. SINGH	NSDL	500000	Equity	50	500
AS361000000000	010000000000	K. S. SINGH	NSDL	500000	Equity	50	500
AS371000000000	010000000000	K. S. SINGH	NSDL	500000	Equity	50	500
AS381000000000	010000000000	K. S. SINGH	NSDL	500000	Equity	50	500
AS391000000000	010000000000	K. S. SINGH	NSDL	500000	Equity	50	500
AS401000000000	010000000000	K. S. SINGH	NSDL	500000	Equity	50	500
AS411000000000	010000000000	K. S. SINGH	NSDL	500000	Equity	50	500
AS421000000000	010000000000	K. S. SINGH	NSDL	500000	Equity	50	500
AS431000000000	010000000000	K. S. SINGH	NSDL	500000	Equity	50	500
AS441000000000	010000000000	K. S. SINGH	NSDL	500000	Equity	50	500
AS451000000000	010000000000	K. S. SINGH	NSDL	500000	Equity	50	500
AS461000000000	010000000000	K. S. SINGH	NSDL	500000	Equity	50	500
AS471000000000	010000000000	K. S. SINGH	NSDL	500000	Equity	50	500
AS481000000000	010000000000	K. S. SINGH	NSDL	500000	Equity	50	500
AS491000000000	010000000000	K. S. SINGH	NSDL	500000	Equity	50	500
AS501000000000	010000000000	K. S. SINGH	NSDL	500000	Equity	50	500
AS511000000000	010000000000	K. S. SINGH	NSDL	500000	Equity	50	500
AS521000000000	010000000000	K. S. SINGH	NSDL	500000	Equity	50	500
AS531000000000	010000000000	K. S. SINGH	NSDL	500000	Equity	50	500
AS541000000000	010000000000	K. S. SINGH	NSDL	500000	Equity	50	500
AS551000000000	010000000000	K. S. SINGH	NSDL	500000	Equity	50	500
AS561000000000	010000000000	K. S. SINGH	NSDL	500000	Equity	50	500
AS571000000000	010000000000	K. S. SINGH	NSDL	500000	Equity	50	500
AS581000000000	010000000000	K. S. SINGH	NSDL	500000	Equity	50	500
AS591000000000	010000000000	K. S. SINGH	NSDL	500000	Equity	50	500
AS601000000000	010000000000	K. S. SINGH	NSDL	500000	Equity	50	500
AS611000000000	010000000000	K. S. SINGH	NSDL	500000	Equity	50	500
AS621000000000	010000000000	K. S. SINGH	NSDL	500000	Equity	50	500
AS631000000000	010000000000	K. S. SINGH	NSDL	500000	Equity	50	500
AS641000000000	010000000000	K. S. SINGH	NSDL	500000	Equity	50	500
AS651000000000	010000000000	K. S. SINGH	NSDL	500000	Equity	50	500
AS661000000000	010000000000	K. S. SINGH	NSDL	500000	Equity	50	500
AS671000000000	010000000000	K. S. SINGH	NSDL	500000	Equity	50	500
AS681000000000	010000000000	K. S. SINGH	NSDL	500000	Equity	50	500
AS691000000000	010000000000	K. S. SINGH	NSDL	500000	Equity	50	500
AS701000000000	010000000000	K. S. SINGH	NSDL	500000	Equity	50	500
AS711000000000	010000000000	K. S. SINGH	NSDL	500000	Equity	50	500
AS721000000000	010000000000	K. S. SINGH	NSDL	500000	Equity	50	500
AS731000000000	010000000000	K. S. SINGH	NSDL	500000	Equity	50	500
AS741000000000	010000000000	K. S. SINGH	NSDL	500000	Equity	50	500
AS751000000000	010000000000	K. S. SINGH	NSDL	500000	Equity	50	500
AS761000000000	010000000000	K. S. SINGH	NSDL	500000	Equity	50	500
AS771000000000	010000000000	K. S. SINGH	NSDL	500000	Equity	50	500
AS781000000000	010000000000	K. S. SINGH	NSDL	500000	Equity	50	500
AS791000000000	010000000000	K. S. SINGH	NSDL	500000	Equity	50	500
AS801000000000	010000000000	K. S. SINGH	NSDL	500000	Equity	50	500
AS811000000000	010000000000	K. S. SINGH	NSDL	500000	Equity	50	500
AS821000000000	010000000000	K. S. SINGH	NSDL	500000	Equity	50	500
AS831000000000	010000000000	K. S. SINGH	NSDL	500000	Equity	50	500
AS841000000000	010000000000	K. S. SINGH	NSDL	500000	Equity	50	500
AS851000000000	010000000000	K. S. SINGH	NSDL	500000	Equity	50	500
AS861000000000	010000000000	K. S. SINGH	NSDL	500000	Equity	50	500
AS871000000000	010000000000	K. S. SINGH	NSDL	500000	Equity	50	500
AS881000000000	010000000000	K. S. SINGH	NSDL	500000	Equity	50	500
AS891000000000	010000000000	K. S. SINGH	NSDL	500000	Equity	50	500
AS901000000000	010000000000	K. S. SINGH	NSDL	500000	Equity	50	500
AS911000000000	010000000000	K. S. SINGH	NSDL	500000	Equity	50	500
AS921000000000	010000000000	K. S. SINGH	NSDL	500000	Equity	50	500
AS931000000000	010000000000	K. S. SINGH	NSDL	500000	Equity	50	500
AS941000000000	010000000000	K. S. SINGH	NSDL	500000	Equity	50	500
AS951000000000	010000000000	K. S. SINGH	NSDL	500000	Equity	50	500
AS961000000000	010000000000	K. S. SINGH	NSDL	500000	Equity	50	500
AS971000000000	010000000000	K. S. SINGH	NSDL	500000	Equity	50	500
AS981000000000	010000000000	K. S. SINGH	NSDL	500000	Equity	50	500
AS991000000000	010000000000	K. S. SINGH	NSDL	500000	Equity	50	500
AS100100000000	010000000000	K. S. SINGH	NSDL	500000	Equity	50	500



TIL SECURITIES LIMITED
 214, RAGHAVA RATNA TOWERS, CHHTRAG ALI LINE, ABIDS, HYDERABAD, 500 004, IN; L67120 F67 989 PL 6 10188
 Fax No. : Ph00-286, 1391-40-2320, 2355/6901111/6901112; Ph No. :
 Email: info@tilsecurities.com | TIL | <http://www.tilsecurities.com>

List of Shareholders/Debtors as on: 31-03-2020

List of Share/Debtors Types of All: 4 Category AV Dq 31-03-2020 From: NSDL, CDSL, PHYSICAL

Company Registration No: 1662403, CIN: I16002, PAN: TILS0000A

Sl. No.	Demat ID	Name	Category	Quantity	Type	Face Value	AV Dq	Amount
3409	12013000556011	PAPESH SAIKUMAR	NSDL	1000	Equity	1000000	44	440
3410	12013000556012	SAGAREMADHUNATH	NSDL	1000	Equity	1000000	44	440
3411	12013000556013	SRINIVAS RAO	NSDL	1000	Equity	1000000	44	440
3412	12013000556014	RAJESH SITARAM KAVAR	NSDL	1000	Equity	1000000	44	440
3413	12013000556015	AKHIL PAI	NSDL	1000	Equity	1000000	44	440
3414	12013000556016	ANAND K. PATEL	NSDL	1000	Equity	1000000	47	470
3415	12013000556017	KRISHNA K. PATIL	NSDL	1000	Equity	1000000	47	470
3416	12013000556018	KRISHNA K. PATIL	NSDL	1000	Equity	1000000	47	470
3417	12013000556019	KRISHNA K. PATIL	NSDL	1000	Equity	1000000	47	470
3418	12013000556020	KRISHNA K. PATIL	NSDL	1000	Equity	1000000	47	470
3419	12013000556021	KRISHNA K. PATIL	NSDL	1000	Equity	1000000	47	470
3420	12013000556022	KRISHNA K. PATIL	NSDL	1000	Equity	1000000	47	470
3421	12013000556023	KRISHNA K. PATIL	NSDL	1000	Equity	1000000	47	470
3422	12013000556024	KRISHNA K. PATIL	NSDL	1000	Equity	1000000	47	470
3423	12013000556025	KRISHNA K. PATIL	NSDL	1000	Equity	1000000	47	470
3424	12013000556026	KRISHNA K. PATIL	NSDL	1000	Equity	1000000	47	470
3425	12013000556027	KRISHNA K. PATIL	NSDL	1000	Equity	1000000	47	470
3426	12013000556028	KRISHNA K. PATIL	NSDL	1000	Equity	1000000	47	470
3427	12013000556029	KRISHNA K. PATIL	NSDL	1000	Equity	1000000	47	470
3428	12013000556030	KRISHNA K. PATIL	NSDL	1000	Equity	1000000	47	470
3429	12013000556031	KRISHNA K. PATIL	NSDL	1000	Equity	1000000	47	470
3430	12013000556032	KRISHNA K. PATIL	NSDL	1000	Equity	1000000	47	470
3431	12013000556033	KRISHNA K. PATIL	NSDL	1000	Equity	1000000	47	470
3432	12013000556034	KRISHNA K. PATIL	NSDL	1000	Equity	1000000	47	470
3433	12013000556035	KRISHNA K. PATIL	NSDL	1000	Equity	1000000	47	470
3434	12013000556036	KRISHNA K. PATIL	NSDL	1000	Equity	1000000	47	470
3435	12013000556037	KRISHNA K. PATIL	NSDL	1000	Equity	1000000	47	470
3436	12013000556038	KRISHNA K. PATIL	NSDL	1000	Equity	1000000	47	470
3437	12013000556039	KRISHNA K. PATIL	NSDL	1000	Equity	1000000	47	470
3438	12013000556040	KRISHNA K. PATIL	NSDL	1000	Equity	1000000	47	470
3439	12013000556041	KRISHNA K. PATIL	NSDL	1000	Equity	1000000	47	470
3440	12013000556042	KRISHNA K. PATIL	NSDL	1000	Equity	1000000	47	470
3441	12013000556043	KRISHNA K. PATIL	NSDL	1000	Equity	1000000	47	470
3442	12013000556044	KRISHNA K. PATIL	NSDL	1000	Equity	1000000	47	470
3443	12013000556045	KRISHNA K. PATIL	NSDL	1000	Equity	1000000	47	470
3444	12013000556046	KRISHNA K. PATIL	NSDL	1000	Equity	1000000	47	470
3445	12013000556047	KRISHNA K. PATIL	NSDL	1000	Equity	1000000	47	470
3446	12013000556048	KRISHNA K. PATIL	NSDL	1000	Equity	1000000	47	470
3447	12013000556049	KRISHNA K. PATIL	NSDL	1000	Equity	1000000	47	470
3448	12013000556050	KRISHNA K. PATIL	NSDL	1000	Equity	1000000	47	470
3449	12013000556051	KRISHNA K. PATIL	NSDL	1000	Equity	1000000	47	470
3450	12013000556052	KRISHNA K. PATIL	NSDL	1000	Equity	1000000	47	470
3451	12013000556053	KRISHNA K. PATIL	NSDL	1000	Equity	1000000	47	470
3452	12013000556054	KRISHNA K. PATIL	NSDL	1000	Equity	1000000	47	470
3453	12013000556055	KRISHNA K. PATIL	NSDL	1000	Equity	1000000	47	470
3454	12013000556056	KRISHNA K. PATIL	NSDL	1000	Equity	1000000	47	470
3455	12013000556057	KRISHNA K. PATIL	NSDL	1000	Equity	1000000	47	470
3456	12013000556058	KRISHNA K. PATIL	NSDL	1000	Equity	1000000	47	470
3457	12013000556059	KRISHNA K. PATIL	NSDL	1000	Equity	1000000	47	470
3458	12013000556060	KRISHNA K. PATIL	NSDL	1000	Equity	1000000	47	470
3459	12013000556061	KRISHNA K. PATIL	NSDL	1000	Equity	1000000	47	470
3460	12013000556062	KRISHNA K. PATIL	NSDL	1000	Equity	1000000	47	470
3461	12013000556063	KRISHNA K. PATIL	NSDL	1000	Equity	1000000	47	470
3462	12013000556064	KRISHNA K. PATIL	NSDL	1000	Equity	1000000	47	470
3463	12013000556065	KRISHNA K. PATIL	NSDL	1000	Equity	1000000	47	470
3464	12013000556066	KRISHNA K. PATIL	NSDL	1000	Equity	1000000	47	470
3465	12013000556067	KRISHNA K. PATIL	NSDL	1000	Equity	1000000	47	470
3466	12013000556068	KRISHNA K. PATIL	NSDL	1000	Equity	1000000	47	470
3467	12013000556069	KRISHNA K. PATIL	NSDL	1000	Equity	1000000	47	470
3468	12013000556070	KRISHNA K. PATIL	NSDL	1000	Equity	1000000	47	470
3469	12013000556071	KRISHNA K. PATIL	NSDL	1000	Equity	1000000	47	470
3470	12013000556072	KRISHNA K. PATIL	NSDL	1000	Equity	1000000	47	470
3471	12013000556073	KRISHNA K. PATIL	NSDL	1000	Equity	1000000	47	470
3472	12013000556074	KRISHNA K. PATIL	NSDL	1000	Equity	1000000	47	470
3473	12013000556075	KRISHNA K. PATIL	NSDL	1000	Equity	1000000	47	470
3474	12013000556076	KRISHNA K. PATIL	NSDL	1000	Equity	1000000	47	470
3475	12013000556077	KRISHNA K. PATIL	NSDL	1000	Equity	1000000	47	470
3476	12013000556078	KRISHNA K. PATIL	NSDL	1000	Equity	1000000	47	470
3477	12013000556079	KRISHNA K. PATIL	NSDL	1000	Equity	1000000	47	470
3478	12013000556080	KRISHNA K. PATIL	NSDL	1000	Equity	1000000	47	470
3479	12013000556081	KRISHNA K. PATIL	NSDL	1000	Equity	1000000	47	470
3480	12013000556082	KRISHNA K. PATIL	NSDL	1000	Equity	1000000	47	470
3481	12013000556083	KRISHNA K. PATIL	NSDL	1000	Equity	1000000	47	470
3482	12013000556084	KRISHNA K. PATIL	NSDL	1000	Equity	1000000	47	470
3483	12013000556085	KRISHNA K. PATIL	NSDL	1000	Equity	1000000	47	470
3484	12013000556086	KRISHNA K. PATIL	NSDL	1000	Equity	1000000	47	470
3485	12013000556087	KRISHNA K. PATIL	NSDL	1000	Equity	1000000	47	470
3486	12013000556088	KRISHNA K. PATIL	NSDL	1000	Equity	1000000	47	470
3487	12013000556089	KRISHNA K. PATIL	NSDL	1000	Equity	1000000	47	470
3488	12013000556090	KRISHNA K. PATIL	NSDL	1000	Equity	1000000	47	470
3489	12013000556091	KRISHNA K. PATIL	NSDL	1000	Equity	1000000	47	470
3490	12013000556092	KRISHNA K. PATIL	NSDL	1000	Equity	1000000	47	470
3491	12013000556093	KRISHNA K. PATIL	NSDL	1000	Equity	1000000	47	470
3492	12013000556094	KRISHNA K. PATIL	NSDL	1000	Equity	1000000	47	470
3493	12013000556095	KRISHNA K. PATIL	NSDL	1000	Equity	1000000	47	470
3494	12013000556096	KRISHNA K. PATIL	NSDL	1000	Equity	1000000	47	470
3495	12013000556097	KRISHNA K. PATIL	NSDL	1000	Equity	1000000	47	470
3496	12013000556098	KRISHNA K. PATIL	NSDL	1000	Equity	1000000	47	470
3497	12013000556099	KRISHNA K. PATIL	NSDL	1000	Equity	1000000	47	470
3498	12013000556100	KRISHNA K. PATIL	NSDL	1000	Equity	1000000	47	470
3499	12013000556101	KRISHNA K. PATIL	NSDL	1000	Equity	1000000	47	470
3500	12013000556102	KRISHNA K. PATIL	NSDL	1000	Equity	1000000	47	470



WALL SECURITIES LIMITED
 214, RAGHAVA RATNA TOWERS, CHHTRAG ALI LINE, ABIDS, HYDERABAD, 500 016, IN. L67120 F67989PLA/010188
 Fax No. : 011-000-786, 1391-40-2320, 3155/6901111/69911112 ; Ph. No. :
 Email: info@wallsec.com / <http://www.wallsec.com>

List of Shareholders/Debtors as on: 31-05-2020

List Of Share/Debtors (Debit) of ALL 4 Integrals AV Eq 31-05-2020 From NSDL, CDSL, PHYSICAL

ISIN	Holder Name	Quantity	Type	Face Value	AV Eq	Amount
97910101000017747	KESAMELIDY JESWANTH	JAYACHANDRA REDDY KES	Equity	100000	10	100
97910101000025668	ANILABEN GOSWAMI	DAVIDINDRANIHANUSHIM	Equity	100000	10	100
97910101000030662	RAMESHCHANDRA BABU (2014)	CHANDRASEKHAR BABU	Equity	100000	10	100
97910101000034450	WINTO GANESHI SIVANI	WINTO GANESHI SIVANI	Equity	100000	10	100
97910101000034452	KAVITHA DEEPTI RESHMA	JAYACHANDRA DEEPTI RES	Equity	100000	10	100
97910101000034453	DEVIKA ANSINA	DEVIKA ANSINA	Equity	100000	10	100
97910101000034454	K JAYACHANDRA REDDY	K J REDDY	Equity	100000	10	100
97910101000034455	MOHAN SURESH	MOHAN SURESH	Equity	100000	10	100
97910101000034456	KAMANI P SRINI	MAHESHAN SINGH	Equity	100000	10	100
97910101000034457	DEEPAK DEBINTON BAI	ROBERTON J RAMMOZHA	Equity	100000	10	100
97910101000034458	PRANOD KINAR ANARVA	R ANKURANIAN ANARVA	Equity	100000	10	100
97910101000034459	VINAY KUMAR	VINAY KUMAR	Equity	100000	10	100
97910101000034460	PRADIPAN RAO D	PRADIPAN RAO D	Equity	100000	10	100
97910101000034461	PREKASHA SRI DEVI	J SANGAMMA MAAYATI	Equity	100000	10	100
97910101000034462	PREKASHA SRI DEVI	PREKASHA SRI DEVI	Equity	100000	10	100
97910101000034463	DEEPAK DEBINTON BAI	DEEPAK DEBINTON BAI	Equity	100000	10	100
97910101000034464	ANILABEN GOSWAMI	ANILABEN GOSWAMI	Equity	100000	10	100
97910101000034465	ANILABEN GOSWAMI	ANILABEN GOSWAMI	Equity	100000	10	100
97910101000034466	ANILABEN GOSWAMI	ANILABEN GOSWAMI	Equity	100000	10	100
97910101000034467	ANILABEN GOSWAMI	ANILABEN GOSWAMI	Equity	100000	10	100
97910101000034468	ANILABEN GOSWAMI	ANILABEN GOSWAMI	Equity	100000	10	100
97910101000034469	ANILABEN GOSWAMI	ANILABEN GOSWAMI	Equity	100000	10	100
97910101000034470	ANILABEN GOSWAMI	ANILABEN GOSWAMI	Equity	100000	10	100
97910101000034471	ANILABEN GOSWAMI	ANILABEN GOSWAMI	Equity	100000	10	100
97910101000034472	ANILABEN GOSWAMI	ANILABEN GOSWAMI	Equity	100000	10	100
97910101000034473	ANILABEN GOSWAMI	ANILABEN GOSWAMI	Equity	100000	10	100
97910101000034474	ANILABEN GOSWAMI	ANILABEN GOSWAMI	Equity	100000	10	100
97910101000034475	ANILABEN GOSWAMI	ANILABEN GOSWAMI	Equity	100000	10	100
97910101000034476	ANILABEN GOSWAMI	ANILABEN GOSWAMI	Equity	100000	10	100
97910101000034477	ANILABEN GOSWAMI	ANILABEN GOSWAMI	Equity	100000	10	100
97910101000034478	ANILABEN GOSWAMI	ANILABEN GOSWAMI	Equity	100000	10	100
97910101000034479	ANILABEN GOSWAMI	ANILABEN GOSWAMI	Equity	100000	10	100
97910101000034480	ANILABEN GOSWAMI	ANILABEN GOSWAMI	Equity	100000	10	100
97910101000034481	ANILABEN GOSWAMI	ANILABEN GOSWAMI	Equity	100000	10	100
97910101000034482	ANILABEN GOSWAMI	ANILABEN GOSWAMI	Equity	100000	10	100
97910101000034483	ANILABEN GOSWAMI	ANILABEN GOSWAMI	Equity	100000	10	100
97910101000034484	ANILABEN GOSWAMI	ANILABEN GOSWAMI	Equity	100000	10	100
97910101000034485	ANILABEN GOSWAMI	ANILABEN GOSWAMI	Equity	100000	10	100
97910101000034486	ANILABEN GOSWAMI	ANILABEN GOSWAMI	Equity	100000	10	100
97910101000034487	ANILABEN GOSWAMI	ANILABEN GOSWAMI	Equity	100000	10	100
97910101000034488	ANILABEN GOSWAMI	ANILABEN GOSWAMI	Equity	100000	10	100
97910101000034489	ANILABEN GOSWAMI	ANILABEN GOSWAMI	Equity	100000	10	100
97910101000034490	ANILABEN GOSWAMI	ANILABEN GOSWAMI	Equity	100000	10	100
97910101000034491	ANILABEN GOSWAMI	ANILABEN GOSWAMI	Equity	100000	10	100
97910101000034492	ANILABEN GOSWAMI	ANILABEN GOSWAMI	Equity	100000	10	100
97910101000034493	ANILABEN GOSWAMI	ANILABEN GOSWAMI	Equity	100000	10	100
97910101000034494	ANILABEN GOSWAMI	ANILABEN GOSWAMI	Equity	100000	10	100
97910101000034495	ANILABEN GOSWAMI	ANILABEN GOSWAMI	Equity	100000	10	100
97910101000034496	ANILABEN GOSWAMI	ANILABEN GOSWAMI	Equity	100000	10	100
97910101000034497	ANILABEN GOSWAMI	ANILABEN GOSWAMI	Equity	100000	10	100
97910101000034498	ANILABEN GOSWAMI	ANILABEN GOSWAMI	Equity	100000	10	100
97910101000034499	ANILABEN GOSWAMI	ANILABEN GOSWAMI	Equity	100000	10	100
97910101000034500	ANILABEN GOSWAMI	ANILABEN GOSWAMI	Equity	100000	10	100



WALL SECURITIES LIMITED
 214, RAGHAVA RATNA TOWERS, CHHTRAG ALI LINE, ABIDS, HYDERABAD, 500 016, IN; L67120 F67989 PL6 010188
 Fax No. : 91002-286, 2991-40-2320, 2155/6901111/6901112; Tel No. :
 Email: info@wallsec.com / <http://www.wallsec.com>

List of Shareholders/Debtors as on: 31-03-2020

List of Shareholders/Debtors of ALL EQUITY/AVDQ 31-03-2020 From NSDL, CDSL, PHYSICAL

123456789101112131415161718192021222324252627282930313233343536373839404142434445464748495051525354555657585960616263646566676869707172737475767778798081828384858687888990919293949596979899100

Sl. No.	Demat/Physical	Name	ISIN	Quantity	Type	Face Value	AVDQ	Balance
0294	(2016000005305)	KRISHNA RAO PEARL LEE	PANDEY RANGA RAJ LUNICE	500000	Equity	500000		500
0295	(2016000005305)	DAMODAR PRASAD NALAN	UDAY CHAND MALINI	500000	Equity	500000		500
0296	(2016000005305)	DEEPIKA SALADI	VENKATESWARLAPATI SAI	500000	Equity	500000		500
0297	(2016000005305)	FATEMA DEGLI	ADDUL SADIQ	500000	Equity	500000		500
0298	(2016000005305)	SLORE KUMAR	SRINIVAS	500000	Equity	500000		500
0299	(2016000005305)	CHITTOY CHIN BHARATHA	COORU JAMES BHARATHA	500000	Equity	500000		500
0300	(2016000005305)	VENKATISHWARLATHAL	KYALI SURENDA	500000	Equity	500000		500
0301	(2016000005305)	MOJLA SAKSHI	SHARAD KUMAR	500000	Equity	500000		500
0302	(2016000005305)	RIJIN K R	SHARAD KUMAR	500000	Equity	500000		500
0303	(2016000005305)	SRIIVAS RAO PUDURU	P. KARASIMHA RAO	500000	Equity	500000		500
0304	(2016000005305)	PRAKASH GUPTA MONTU	L. M. MONTU RAJU	500000	Equity	500000		500
0305	(2016000005305)	GOVINDH ANAPUAL	THE BHARATHA RAO	500000	Equity	500000		500
0306	(2016000005305)	DAY SHREYAS	DAY SHREYAS	500000	Equity	500000		500
0307	(2016000005305)	S. S. JYOTHI	S. S. JYOTHI	500000	Equity	500000		500
0308	(2016000005305)	THEE VAA KUMAR	THEE VAA KUMAR	500000	Equity	500000		500
0309	(2016000005305)	THEE VAA KUMAR	THEE VAA KUMAR	500000	Equity	500000		500
0310	(2016000005305)	THEE VAA KUMAR	THEE VAA KUMAR	500000	Equity	500000		500
0311	(2016000005305)	THEE VAA KUMAR	THEE VAA KUMAR	500000	Equity	500000		500
0312	(2016000005305)	THEE VAA KUMAR	THEE VAA KUMAR	500000	Equity	500000		500
0313	(2016000005305)	THEE VAA KUMAR	THEE VAA KUMAR	500000	Equity	500000		500
0314	(2016000005305)	THEE VAA KUMAR	THEE VAA KUMAR	500000	Equity	500000		500
0315	(2016000005305)	THEE VAA KUMAR	THEE VAA KUMAR	500000	Equity	500000		500
0316	(2016000005305)	THEE VAA KUMAR	THEE VAA KUMAR	500000	Equity	500000		500
0317	(2016000005305)	THEE VAA KUMAR	THEE VAA KUMAR	500000	Equity	500000		500
0318	(2016000005305)	THEE VAA KUMAR	THEE VAA KUMAR	500000	Equity	500000		500
0319	(2016000005305)	THEE VAA KUMAR	THEE VAA KUMAR	500000	Equity	500000		500
0320	(2016000005305)	THEE VAA KUMAR	THEE VAA KUMAR	500000	Equity	500000		500
0321	(2016000005305)	THEE VAA KUMAR	THEE VAA KUMAR	500000	Equity	500000		500
0322	(2016000005305)	THEE VAA KUMAR	THEE VAA KUMAR	500000	Equity	500000		500
0323	(2016000005305)	THEE VAA KUMAR	THEE VAA KUMAR	500000	Equity	500000		500
0324	(2016000005305)	THEE VAA KUMAR	THEE VAA KUMAR	500000	Equity	500000		500
0325	(2016000005305)	THEE VAA KUMAR	THEE VAA KUMAR	500000	Equity	500000		500
0326	(2016000005305)	THEE VAA KUMAR	THEE VAA KUMAR	500000	Equity	500000		500
0327	(2016000005305)	THEE VAA KUMAR	THEE VAA KUMAR	500000	Equity	500000		500
0328	(2016000005305)	THEE VAA KUMAR	THEE VAA KUMAR	500000	Equity	500000		500
0329	(2016000005305)	THEE VAA KUMAR	THEE VAA KUMAR	500000	Equity	500000		500
0330	(2016000005305)	THEE VAA KUMAR	THEE VAA KUMAR	500000	Equity	500000		500
0331	(2016000005305)	THEE VAA KUMAR	THEE VAA KUMAR	500000	Equity	500000		500
0332	(2016000005305)	THEE VAA KUMAR	THEE VAA KUMAR	500000	Equity	500000		500
0333	(2016000005305)	THEE VAA KUMAR	THEE VAA KUMAR	500000	Equity	500000		500
0334	(2016000005305)	THEE VAA KUMAR	THEE VAA KUMAR	500000	Equity	500000		500
0335	(2016000005305)	THEE VAA KUMAR	THEE VAA KUMAR	500000	Equity	500000		500
0336	(2016000005305)	THEE VAA KUMAR	THEE VAA KUMAR	500000	Equity	500000		500
0337	(2016000005305)	THEE VAA KUMAR	THEE VAA KUMAR	500000	Equity	500000		500
0338	(2016000005305)	THEE VAA KUMAR	THEE VAA KUMAR	500000	Equity	500000		500
0339	(2016000005305)	THEE VAA KUMAR	THEE VAA KUMAR	500000	Equity	500000		500
0340	(2016000005305)	THEE VAA KUMAR	THEE VAA KUMAR	500000	Equity	500000		500
0341	(2016000005305)	THEE VAA KUMAR	THEE VAA KUMAR	500000	Equity	500000		500
0342	(2016000005305)	THEE VAA KUMAR	THEE VAA KUMAR	500000	Equity	500000		500
0343	(2016000005305)	THEE VAA KUMAR	THEE VAA KUMAR	500000	Equity	500000		500
0344	(2016000005305)	THEE VAA KUMAR	THEE VAA KUMAR	500000	Equity	500000		500
0345	(2016000005305)	THEE VAA KUMAR	THEE VAA KUMAR	500000	Equity	500000		500
0346	(2016000005305)	THEE VAA KUMAR	THEE VAA KUMAR	500000	Equity	500000		500
0347	(2016000005305)	THEE VAA KUMAR	THEE VAA KUMAR	500000	Equity	500000		500
0348	(2016000005305)	THEE VAA KUMAR	THEE VAA KUMAR	500000	Equity	500000		500
0349	(2016000005305)	THEE VAA KUMAR	THEE VAA KUMAR	500000	Equity	500000		500
0350	(2016000005305)	THEE VAA KUMAR	THEE VAA KUMAR	500000	Equity	500000		500



WALL SECURITIES LIMITED
 214, RAGHAVA RATNA TOWERS, CHHTRAG ALI LANE, ABIDS, HYDERABAD, 500 016, IN; L67120 F67989 PL6 010188
 Fax No. : 0800-286, 1991-40-2320, 2155/6901111/69911112 ; Tel No. :
 Email: info@wallsec.com / wallsec@wallsec.com / <http://www.wallsec.com>

List of Shareholders as on: 31-05-2020

List of Shareholders (Group) of A.L.E. Category AVHQ 31-05-2020 From: NSDL, CDSL, PHYSICAL

Company Registration No: 166236600001 & 166236600002

Sl. No.	Demat / Physical	Name	Shareholder Type	Quantity	Type	ISIN	AVHQ	Amount
9614	PHYSICAL	JAGJYANTI PABLAJAI	INDIVIDUAL	500000	Equity	INE000001016	1	10
9615	PHYSICAL	CHABRY XAVIER	INDIVIDUAL	500000	Equity	INE000001016	1	10
9616	PHYSICAL	P. SIVAKUMAR	INDIVIDUAL	500000	Equity	INE000001016	1	10
9617	PHYSICAL	ANIL KUMAR SARDHA	INDIVIDUAL	500000	Equity	INE000001016	1	10
9618	PHYSICAL	MAHESHWAR SURESH KUMAR	INDIVIDUAL	500000	Equity	INE000001016	1	10
9619	PHYSICAL	MOHIT K. S. KUMAR	INDIVIDUAL	500000	Equity	INE000001016	1	10
9620	PHYSICAL	MOHITAYAN K. LAKSHMI	INDIVIDUAL	500000	Equity	INE000001016	1	10
9621	PHYSICAL	P. JAYAKANTH	INDIVIDUAL	500000	Equity	INE000001016	1	10
9622	PHYSICAL	ANAM YASIR	INDIVIDUAL	500000	Equity	INE000001016	1	10
9623	PHYSICAL	PRITHVIRAJ K. SURESH	INDIVIDUAL	500000	Equity	INE000001016	1	10
9624	PHYSICAL	SHRUTI	INDIVIDUAL	500000	Equity	INE000001016	1	10
9625	PHYSICAL	MOHIT K. S. KUMAR	INDIVIDUAL	500000	Equity	INE000001016	1	10
9626	PHYSICAL	MOHITAYAN K. LAKSHMI	INDIVIDUAL	500000	Equity	INE000001016	1	10
9627	PHYSICAL	P. JAYAKANTH	INDIVIDUAL	500000	Equity	INE000001016	1	10
9628	PHYSICAL	ANAM YASIR	INDIVIDUAL	500000	Equity	INE000001016	1	10
9629	PHYSICAL	PRITHVIRAJ K. SURESH	INDIVIDUAL	500000	Equity	INE000001016	1	10
9630	PHYSICAL	SHRUTI	INDIVIDUAL	500000	Equity	INE000001016	1	10
9631	PHYSICAL	MOHIT K. S. KUMAR	INDIVIDUAL	500000	Equity	INE000001016	1	10
9632	PHYSICAL	MOHITAYAN K. LAKSHMI	INDIVIDUAL	500000	Equity	INE000001016	1	10
9633	PHYSICAL	P. JAYAKANTH	INDIVIDUAL	500000	Equity	INE000001016	1	10
9634	PHYSICAL	ANAM YASIR	INDIVIDUAL	500000	Equity	INE000001016	1	10
9635	PHYSICAL	PRITHVIRAJ K. SURESH	INDIVIDUAL	500000	Equity	INE000001016	1	10
9636	PHYSICAL	SHRUTI	INDIVIDUAL	500000	Equity	INE000001016	1	10
9637	PHYSICAL	MOHIT K. S. KUMAR	INDIVIDUAL	500000	Equity	INE000001016	1	10
9638	PHYSICAL	MOHITAYAN K. LAKSHMI	INDIVIDUAL	500000	Equity	INE000001016	1	10
9639	PHYSICAL	P. JAYAKANTH	INDIVIDUAL	500000	Equity	INE000001016	1	10
9640	PHYSICAL	ANAM YASIR	INDIVIDUAL	500000	Equity	INE000001016	1	10
9641	PHYSICAL	PRITHVIRAJ K. SURESH	INDIVIDUAL	500000	Equity	INE000001016	1	10
9642	PHYSICAL	SHRUTI	INDIVIDUAL	500000	Equity	INE000001016	1	10
9643	PHYSICAL	MOHIT K. S. KUMAR	INDIVIDUAL	500000	Equity	INE000001016	1	10
9644	PHYSICAL	MOHITAYAN K. LAKSHMI	INDIVIDUAL	500000	Equity	INE000001016	1	10
9645	PHYSICAL	P. JAYAKANTH	INDIVIDUAL	500000	Equity	INE000001016	1	10
9646	PHYSICAL	ANAM YASIR	INDIVIDUAL	500000	Equity	INE000001016	1	10
9647	PHYSICAL	PRITHVIRAJ K. SURESH	INDIVIDUAL	500000	Equity	INE000001016	1	10
9648	PHYSICAL	SHRUTI	INDIVIDUAL	500000	Equity	INE000001016	1	10
9649	PHYSICAL	MOHIT K. S. KUMAR	INDIVIDUAL	500000	Equity	INE000001016	1	10
9650	PHYSICAL	MOHITAYAN K. LAKSHMI	INDIVIDUAL	500000	Equity	INE000001016	1	10
9651	PHYSICAL	P. JAYAKANTH	INDIVIDUAL	500000	Equity	INE000001016	1	10
9652	PHYSICAL	ANAM YASIR	INDIVIDUAL	500000	Equity	INE000001016	1	10
9653	PHYSICAL	PRITHVIRAJ K. SURESH	INDIVIDUAL	500000	Equity	INE000001016	1	10
9654	PHYSICAL	SHRUTI	INDIVIDUAL	500000	Equity	INE000001016	1	10
9655	PHYSICAL	MOHIT K. S. KUMAR	INDIVIDUAL	500000	Equity	INE000001016	1	10
9656	PHYSICAL	MOHITAYAN K. LAKSHMI	INDIVIDUAL	500000	Equity	INE000001016	1	10
9657	PHYSICAL	P. JAYAKANTH	INDIVIDUAL	500000	Equity	INE000001016	1	10
9658	PHYSICAL	ANAM YASIR	INDIVIDUAL	500000	Equity	INE000001016	1	10
9659	PHYSICAL	PRITHVIRAJ K. SURESH	INDIVIDUAL	500000	Equity	INE000001016	1	10
9660	PHYSICAL	SHRUTI	INDIVIDUAL	500000	Equity	INE000001016	1	10
9661	PHYSICAL	MOHIT K. S. KUMAR	INDIVIDUAL	500000	Equity	INE000001016	1	10
9662	PHYSICAL	MOHITAYAN K. LAKSHMI	INDIVIDUAL	500000	Equity	INE000001016	1	10
9663	PHYSICAL	P. JAYAKANTH	INDIVIDUAL	500000	Equity	INE000001016	1	10
9664	PHYSICAL	ANAM YASIR	INDIVIDUAL	500000	Equity	INE000001016	1	10
9665	PHYSICAL	PRITHVIRAJ K. SURESH	INDIVIDUAL	500000	Equity	INE000001016	1	10
9666	PHYSICAL	SHRUTI	INDIVIDUAL	500000	Equity	INE000001016	1	10
9667	PHYSICAL	MOHIT K. S. KUMAR	INDIVIDUAL	500000	Equity	INE000001016	1	10
9668	PHYSICAL	MOHITAYAN K. LAKSHMI	INDIVIDUAL	500000	Equity	INE000001016	1	10
9669	PHYSICAL	P. JAYAKANTH	INDIVIDUAL	500000	Equity	INE000001016	1	10
9670	PHYSICAL	ANAM YASIR	INDIVIDUAL	500000	Equity	INE000001016	1	10
9671	PHYSICAL	PRITHVIRAJ K. SURESH	INDIVIDUAL	500000	Equity	INE000001016	1	10
9672	PHYSICAL	SHRUTI	INDIVIDUAL	500000	Equity	INE000001016	1	10
9673	PHYSICAL	MOHIT K. S. KUMAR	INDIVIDUAL	500000	Equity	INE000001016	1	10
9674	PHYSICAL	MOHITAYAN K. LAKSHMI	INDIVIDUAL	500000	Equity	INE000001016	1	10
9675	PHYSICAL	P. JAYAKANTH	INDIVIDUAL	500000	Equity	INE000001016	1	10
9676	PHYSICAL	ANAM YASIR	INDIVIDUAL	500000	Equity	INE000001016	1	10
9677	PHYSICAL	PRITHVIRAJ K. SURESH	INDIVIDUAL	500000	Equity	INE000001016	1	10
9678	PHYSICAL	SHRUTI	INDIVIDUAL	500000	Equity	INE000001016	1	10
9679	PHYSICAL	MOHIT K. S. KUMAR	INDIVIDUAL	500000	Equity	INE000001016	1	10
9680	PHYSICAL	MOHITAYAN K. LAKSHMI	INDIVIDUAL	500000	Equity	INE000001016	1	10
9681	PHYSICAL	P. JAYAKANTH	INDIVIDUAL	500000	Equity	INE000001016	1	10
9682	PHYSICAL	ANAM YASIR	INDIVIDUAL	500000	Equity	INE000001016	1	10
9683	PHYSICAL	PRITHVIRAJ K. SURESH	INDIVIDUAL	500000	Equity	INE000001016	1	10
9684	PHYSICAL	SHRUTI	INDIVIDUAL	500000	Equity	INE000001016	1	10
9685	PHYSICAL	MOHIT K. S. KUMAR	INDIVIDUAL	500000	Equity	INE000001016	1	10
9686	PHYSICAL	MOHITAYAN K. LAKSHMI	INDIVIDUAL	500000	Equity	INE000001016	1	10
9687	PHYSICAL	P. JAYAKANTH	INDIVIDUAL	500000	Equity	INE000001016	1	10
9688	PHYSICAL	ANAM YASIR	INDIVIDUAL	500000	Equity	INE000001016	1	10
9689	PHYSICAL	PRITHVIRAJ K. SURESH	INDIVIDUAL	500000	Equity	INE000001016	1	10
9690	PHYSICAL	SHRUTI	INDIVIDUAL	500000	Equity	INE000001016	1	10
9691	PHYSICAL	MOHIT K. S. KUMAR	INDIVIDUAL	500000	Equity	INE000001016	1	10
9692	PHYSICAL	MOHITAYAN K. LAKSHMI	INDIVIDUAL	500000	Equity	INE000001016	1	10
9693	PHYSICAL	P. JAYAKANTH	INDIVIDUAL	500000	Equity	INE000001016	1	10
9694	PHYSICAL	ANAM YASIR	INDIVIDUAL	500000	Equity	INE000001016	1	10
9695	PHYSICAL	PRITHVIRAJ K. SURESH	INDIVIDUAL	500000	Equity	INE000001016	1	10
9696	PHYSICAL	SHRUTI	INDIVIDUAL	500000	Equity	INE000001016	1	10
9697	PHYSICAL	MOHIT K. S. KUMAR	INDIVIDUAL	500000	Equity	INE000001016	1	10
9698	PHYSICAL	MOHITAYAN K. LAKSHMI	INDIVIDUAL	500000	Equity	INE000001016	1	10
9699	PHYSICAL	P. JAYAKANTH	INDIVIDUAL	500000	Equity	INE000001016	1	10
9700	PHYSICAL	ANAM YASIR	INDIVIDUAL	500000	Equity	INE000001016	1	10



TIL SECURITIES LIMITED
 214, RAGHAVA RATNA TOWERS, CHHTRAG ALI LINE, ABIDS, HYDERABAD, 500 006, IN; L67120 F67 989 PL6 010188
 Fax No. : 0800-286, 2991-40-2320, 2325/6901111/6901112; Tel No. :
 Email: info@tilsecurities.com / <http://www.tilsecurities.com>

List of Shareholders(as on: 31-03-2020)

List of Shareholders (Group) of A.L.E. 4 category AVHQ 31-03-2020 From NSDL, CDSL, PHYSICAL

ISIN	Holder Name	Share No.	Quantity	Type	Face Value	AVHQ	Category
999910000000000000	OMPEAKASH BANKA	000000000000000000	100000	Equity	100000		10
999910000000000000	VISHAL KRISHNARAO RAO	000000000000000000	100000	Equity	100000	AVQ20014	10
999910000000000000	WEL ETRORA	000000000000000000	100000	Equity	100000		10
999910000000000000	NAAMDEE KUMAR JAD	000000000000000000	100000	Equity	100000		10
999910000000000000	SAYARAJ REDDY SETHI	000000000000000000	100000	Equity	100000		10
999910000000000000	SATISH DALISA SAHAI	000000000000000000	100000	Equity	100000	AVQ10177	10
999910000000000000	DRIDINDRA PATIL	000000000000000000	100000	Equity	100000		10
999910000000000000	ANSHU DEVI	000000000000000000	100000	Equity	100000		10
999910000000000000	ADITHYAN	000000000000000000	100000	Equity	100000		10
999910000000000000	CHARY K S	000000000000000000	100000	Equity	100000		10
999910000000000000	SHRADDHA JAYANTILAL	000000000000000000	100000	Equity	100000	AVQ10134	10
999910000000000000	MOHISHARATHI	000000000000000000	100000	Equity	100000		10
999910000000000000	RAJESH KUMAR	000000000000000000	100000	Equity	100000	AVQ10135	10
999910000000000000	DR. RAMANUJAM	000000000000000000	100000	Equity	100000	AVQ10136	10
999910000000000000	DR. RAMANUJAM	000000000000000000	100000	Equity	100000	AVQ10137	10
999910000000000000	DR. RAMANUJAM	000000000000000000	100000	Equity	100000	AVQ10138	10
999910000000000000	DR. RAMANUJAM	000000000000000000	100000	Equity	100000	AVQ10139	10
999910000000000000	DR. RAMANUJAM	000000000000000000	100000	Equity	100000	AVQ10140	10
999910000000000000	DR. RAMANUJAM	000000000000000000	100000	Equity	100000	AVQ10141	10
999910000000000000	DR. RAMANUJAM	000000000000000000	100000	Equity	100000	AVQ10142	10
999910000000000000	DR. RAMANUJAM	000000000000000000	100000	Equity	100000	AVQ10143	10
999910000000000000	DR. RAMANUJAM	000000000000000000	100000	Equity	100000	AVQ10144	10
999910000000000000	DR. RAMANUJAM	000000000000000000	100000	Equity	100000	AVQ10145	10
999910000000000000	DR. RAMANUJAM	000000000000000000	100000	Equity	100000	AVQ10146	10
999910000000000000	DR. RAMANUJAM	000000000000000000	100000	Equity	100000	AVQ10147	10
999910000000000000	DR. RAMANUJAM	000000000000000000	100000	Equity	100000	AVQ10148	10
999910000000000000	DR. RAMANUJAM	000000000000000000	100000	Equity	100000	AVQ10149	10
999910000000000000	DR. RAMANUJAM	000000000000000000	100000	Equity	100000	AVQ10150	10
999910000000000000	DR. RAMANUJAM	000000000000000000	100000	Equity	100000	AVQ10151	10
999910000000000000	DR. RAMANUJAM	000000000000000000	100000	Equity	100000	AVQ10152	10
999910000000000000	DR. RAMANUJAM	000000000000000000	100000	Equity	100000	AVQ10153	10
999910000000000000	DR. RAMANUJAM	000000000000000000	100000	Equity	100000	AVQ10154	10
999910000000000000	DR. RAMANUJAM	000000000000000000	100000	Equity	100000	AVQ10155	10
999910000000000000	DR. RAMANUJAM	000000000000000000	100000	Equity	100000	AVQ10156	10
999910000000000000	DR. RAMANUJAM	000000000000000000	100000	Equity	100000	AVQ10157	10
999910000000000000	DR. RAMANUJAM	000000000000000000	100000	Equity	100000	AVQ10158	10
999910000000000000	DR. RAMANUJAM	000000000000000000	100000	Equity	100000	AVQ10159	10
999910000000000000	DR. RAMANUJAM	000000000000000000	100000	Equity	100000	AVQ10160	10
999910000000000000	DR. RAMANUJAM	000000000000000000	100000	Equity	100000	AVQ10161	10
999910000000000000	DR. RAMANUJAM	000000000000000000	100000	Equity	100000	AVQ10162	10
999910000000000000	DR. RAMANUJAM	000000000000000000	100000	Equity	100000	AVQ10163	10
999910000000000000	DR. RAMANUJAM	000000000000000000	100000	Equity	100000	AVQ10164	10
999910000000000000	DR. RAMANUJAM	000000000000000000	100000	Equity	100000	AVQ10165	10
999910000000000000	DR. RAMANUJAM	000000000000000000	100000	Equity	100000	AVQ10166	10
999910000000000000	DR. RAMANUJAM	000000000000000000	100000	Equity	100000	AVQ10167	10
999910000000000000	DR. RAMANUJAM	000000000000000000	100000	Equity	100000	AVQ10168	10
999910000000000000	DR. RAMANUJAM	000000000000000000	100000	Equity	100000	AVQ10169	10
999910000000000000	DR. RAMANUJAM	000000000000000000	100000	Equity	100000	AVQ10170	10
999910000000000000	DR. RAMANUJAM	000000000000000000	100000	Equity	100000	AVQ10171	10
999910000000000000	DR. RAMANUJAM	000000000000000000	100000	Equity	100000	AVQ10172	10
999910000000000000	DR. RAMANUJAM	000000000000000000	100000	Equity	100000	AVQ10173	10
999910000000000000	DR. RAMANUJAM	000000000000000000	100000	Equity	100000	AVQ10174	10
999910000000000000	DR. RAMANUJAM	000000000000000000	100000	Equity	100000	AVQ10175	10
999910000000000000	DR. RAMANUJAM	000000000000000000	100000	Equity	100000	AVQ10176	10
999910000000000000	DR. RAMANUJAM	000000000000000000	100000	Equity	100000	AVQ10177	10
999910000000000000	DR. RAMANUJAM	000000000000000000	100000	Equity	100000	AVQ10178	10
999910000000000000	DR. RAMANUJAM	000000000000000000	100000	Equity	100000	AVQ10179	10
999910000000000000	DR. RAMANUJAM	000000000000000000	100000	Equity	100000	AVQ10180	10
999910000000000000	DR. RAMANUJAM	000000000000000000	100000	Equity	100000	AVQ10181	10
999910000000000000	DR. RAMANUJAM	000000000000000000	100000	Equity	100000	AVQ10182	10
999910000000000000	DR. RAMANUJAM	000000000000000000	100000	Equity	100000	AVQ10183	10
999910000000000000	DR. RAMANUJAM	000000000000000000	100000	Equity	100000	AVQ10184	10
999910000000000000	DR. RAMANUJAM	000000000000000000	100000	Equity	100000	AVQ10185	10
999910000000000000	DR. RAMANUJAM	000000000000000000	100000	Equity	100000	AVQ10186	10
999910000000000000	DR. RAMANUJAM	000000000000000000	100000	Equity	100000	AVQ10187	10
999910000000000000	DR. RAMANUJAM	000000000000000000	100000	Equity	100000	AVQ10188	10
999910000000000000	DR. RAMANUJAM	000000000000000000	100000	Equity	100000	AVQ10189	10
999910000000000000	DR. RAMANUJAM	000000000000000000	100000	Equity	100000	AVQ10190	10
999910000000000000	DR. RAMANUJAM	000000000000000000	100000	Equity	100000	AVQ10191	10
999910000000000000	DR. RAMANUJAM	000000000000000000	100000	Equity	100000	AVQ10192	10
999910000000000000	DR. RAMANUJAM	000000000000000000	100000	Equity	100000	AVQ10193	10
999910000000000000	DR. RAMANUJAM	000000000000000000	100000	Equity	100000	AVQ10194	10
999910000000000000	DR. RAMANUJAM	000000000000000000	100000	Equity	100000	AVQ10195	10
999910000000000000	DR. RAMANUJAM	000000000000000000	100000	Equity	100000	AVQ10196	10
999910000000000000	DR. RAMANUJAM	000000000000000000	100000	Equity	100000	AVQ10197	10
999910000000000000	DR. RAMANUJAM	000000000000000000	100000	Equity	100000	AVQ10198	10
999910000000000000	DR. RAMANUJAM	000000000000000000	100000	Equity	100000	AVQ10199	10
999910000000000000	DR. RAMANUJAM	000000000000000000	100000	Equity	100000	AVQ10200	10



CIL SECURITIES LIMITED
214, RAGHAVA RATNA TOWERS, CHIRAG ALI LINE, ABIDS, HYDERABAD, 500 001, CIN: L67120TG1989PLC010188
Pan No. ; Phone No. : +91-40-23203155/69011111/69011112 ; Fax No. :
Email: rta@cilsecurities.com ; Url: http://www.cilsecurities.com

Company : LOTUS CHOCOLATE COMPANY LTD

Transfers from 01-04-2019 To 31-03-2020

SNO	TRANSFER NO	TRANSFER DATE	TYPE	NO OF SHARES	SELLER FOLIO	SELLER NAME	BUYER FOLIO	BUYER NAME
1	730	10-05-2019	Equity	200	LCC037910	KRISHNA RAJ D	LCC047507	DUNDI KRISHNARAJ MEENAKSHI
2	731	10-05-2019	Equity	100	LCC013838	PATEL MAYUR	LCC047508	DHARMENDRA BHAGWANBHAI PATEL
3	732	10-06-2019	Equity	200	LCC016032	NAVINBHAI MAFATLAL SHAH	LCC047509	SHYAM NAVINCHANDRA SHAH
4	733	31-07-2019	Equity	200	LCC032630	KUCHHAL R	LCC047510	RAKESH KUMAR GUPTA
5	734	30-10-2019	Equity	200	LCC034791	KAMALA BAI MOHANLAL	LCC047511	RAJENDRA KUMAR
6	735	30-10-2019	Equity	200	LCC034809	MOHANLAL PUKHRAJ	LCC047511	RAJENDRA KUMAR
7	736	11-03-2020	Equity	100	LCC010196	HARISH SANGHVI	LCC047512	LATTA SANGHVI

LOTUS CHOCOLATE COMPANY LIMITED

LIST OF PREFERENCE SHARE HOLDERS

S.No.	NAME OF THE SHAREHOLDER	NO. OF SHARES
1.	Shri. Prakash Pai	3698300
2.	Shri. Ananth Pai	3698300
	TOTAL	7396600